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Descartes(1596—1650)

1.1

Van der Waerden



S S , Sn &, S S, S\ S,
( ) Sx S
Sn & ={ala S a S},
S S ={ala S a S},
S\S={ala S a| S},
Sx S={(a,b)]la S b $}.

1.2

(1) a S (a,a) R;



(2) (a,b) R,(b,c) R (a,c) R;
(3) (a,b) R (b,a) R.
R S ,a S, a={blb S,(a,b) R} a
R R a R
1 (1) A={ H B={ : : :
A B R:a A,b B,(a,b R b a,
R = {( ). ( ). )}
R R R R
(2) :
R ( ). (
R, ( )| R
(3) R.
R R
R
1.1 S , R S a,b S an bz
a=>b
c anb. (a,¢) R,(c,b) R. (a,b) R.
b, (b,d) R. (a,d) R, d a. b a.
b . a=b 0O
1.1 S S
S R S R S
( ) S R
SR.
2 Z , k a, b Z,
R caRb (a,b) R a-b Kk a b
Kk a= b(mod k) . R k
R (1) (3). k=2
0,1, Z R={0,1} . k=n Z R=1{0,1,
n-1}, Z n R Zn .
1.3
S S, ¢, S a,
S d (0 S S Q: S -



S d =¢p(a), d a [0) , a d [0)
¢ S S ) S S
a 9, a S d =¢(a), [0) S S
, S S ¢ , ¢
3 S ={1,2,3}, $={7,8,9,10}, fi: f1(1) =8, f1(2) =9,
f1(3):10, f1 S S
S ={1,2,3,4}, & ={7,8,9}, fa: f2(1) = f2(2) =7, f2(3) =8,
f2(4):9, fa S S
S ={1,2,3}, $={7,8,9}, fs: (1) =7, f5(2) =9, f3(3) =8,
fa S S
f: S-S, S S R,
R={(a f(a))la S}
, f: S-S S S
2.1
A B . AB.
, a,b,c,d a, B,y
( 1).
B
A/
1
, : a b



V
a,b Vv, \% R, aRb a b
, R
a | a| 1
0. :
2.2
1.
; a A A b B ,
B : a b :
a b , , @)
OA A AB , a=OA,b= AB. OB=c¢
b : a+tb, c=a+b. 2 a,b a+b
a b
a b , a:a,?c=b,
oC OABC, OB, OB a
: 0] a a, at+0=a. 2
a+ b= OA+ AB= OB = c,
b+ a= OC+ CB= OB = c.
a,b,c ( 3), a+ b,
(a+ b)+c. b+ c, a+ (b+ ¢, a+ (b+ ¢
(atb)+c a+(b+c) , a+ b+ c,
: a, b, c,
(1) rat+t b=Db+ a;
(2) (a+tb)+c=a+(b+c) .
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b+c
b C b
b
0 a A
2 3
a a a a
( 4) a b a-b a+ (- b)
a b b a
a- b( 5)
—b
a ~a a—b a a—b
b
4 5
2. ( )
A : a A ra . A >0(A <0)
Aa a ( ) Alal(lA[[al)
A=0 ,ha , Aa=0 .
a (-1) |, (-1)a, a a
(-1)a= - a. AL a, A(pa),
H(Aa), (Ap)a :
A(ua)| = @Aa)|=[@u)al =[(Au)[]|a],
A(pa) =p (Aa)=(\u)a.
(1) A(na) =p (Aa) = () &;
(2) (A +tp)a=ra+puaA(a+ b)=ra+Ab.
3.
1.2 V1 V2 ki

ko, kivi+ kv2,=0 .



ViV : viZz 0, |v.|# 0,
kK, |vz|=Kk[vi] . wva V2 v = ko, , Vet (- kv =
0: Vi1 \L Vo= - ko,  Vo+ R =0. vi=0, V1
+OV2:0 . y kl k2, kl kZ,
kivi + kv, =0 .
ka ko, kivi+ kv2=0 .
Ko
, ki # 0, Vi = -EVz, Vi1 V2 [
1.3 Vi, Vo, V3 ki,
kz, ks,
kivi+ kv, + kvs =0 .
Vi, Vo, K . Vi, Vo, V3 ,
’ V1 V2 . 1-2 f kl kZ,
kivi + kv,=0 . ki, k2,0, kivi + kv +0v 3
=0 .
Vi, Vo, V3 , 6 , @) OAl,
OA:z, OA; Vi, V2, V3, As OA: OA )
OA: OA: B. B.( 6), OB, OB: OA; OA;
OB: = k OA1:k1V1,0Bzzk2 OA: = kv, .
Vs =0A;=0B; + OB, = kiv: + kv .
ki, ko, - 1 kivi+ kv +(-1)vs=0 .
Al
6
ki, ko, ks, kivi + kv, + ksvs =0 .
y k1¢ 01 Vi= -%Z-E\)fgl Vi Vo V3
kq ki
) Vi, V2, V3 [

1.4 e, \Y;



vV = Xe, X
e Vv , 1.2 ,
Ky ks, kiv + ket = 0 . ki =0, kiv + ke =0, koe;= 0 .
e : kx=0 . ka ke : kiz 0. kv
ko ko
+ ke =0 ,v=-Ee1, xz-E, V=X&. V=X, V=V,
O=v -v=xa-yei=(x-ye.
ez 0, X-y=0,x=y, Vv vV = xer O
1 M ABC , AD BC :
:AM:%AD( 7)
AM, AD , AM = x AD D BC
1 71
AD—2 F = 2( B+ AC),
__ __l — —_—
AM = x AD = 2x(AB+ AC) .
A
E
>C
B‘<'\ D /
N //
\\\ //
N /
~\/
F
7
ME = y BE . BE AC :
BE = BA+ AE=-E+%R,

E 1

ME = y(- AB+ 5 C) .



AME , AM+ ME+ EA= 0O,

X 5, Anml e 11— _l__
2AB+AC+y AB+2AC . C=o0 .
X — 1 —
- Y AB+(x+y-1) AC= O .
Xy AB=-5(x+y-1) AC=
2 Y -T2 y =y .
0 AB AC |
X _
2-y_01
%(x+y-1)=o
_2 2
; X—3, AM—3AD
1, AB, AC | Xy
2
3 AD ,
2.3
: : 17
1.
1.4, L
O e,
{O; e}, O & |
L V’ X; V = Xe1r . X
{O; e} . L M, oM. oM
M( x) .
1.5 a e

\Y V = Xet+ Ve, X,y

AM =
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: X L,y .,z

1.4, 1.2 1.5 . ,
1.6 e, €, 6 »V
, V V= Xxe + ye + zes, X,Y, Z
8 : O, OA: = e, OA; = &, OAs =
&,0A=v . OA e,e, & , e, e , 1.5,
Y vVv=xe+y:+0e,
8
OA e,e,& A OA
OA:, OA, m B. It B OA;
OA; C. ,
OA= 0B+ BA=0OC+ CB+ BA.
OC, CB, BA OA:, OA:, OA: . 1.4, X, Y,
z
'OC= xe:, CB= ye&, BA= zey,
V=0A=xe+ Ve + 78 .
\Y .
V=xety+2ze;,v=Xetyet+ Ze,
O=v-v=(x-X)a+t(y-y)e+(z-2Z)es.
€, €, 6 : 1.3 x-X=0,y-y=0,z-72=0, Vv
O
V= xe t ye + ze; vV e, e,e
; , Y e, &, es
€1, €, &
, {O; &, e, es}, O , €&, &, 63
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X y x0y y z
yOz ; Z X zOx . 1.6

V= xe + ye + zes,

(X,Y,2) v {O; &, e, e} : v =(Xx,Y, 2)
V .
{O;e,e,es} : M, oM
M : oM (X,Y, 2) M
' M(X1 y’ Z) .
e, 6,6 :
( 9(a)) ( 9(b)) .
[ e;
O 0
€ € €, €
(a) (b)
9
X + - + + +
y + + + +
+ + + +

{O;e,e, e}
a=xiet+vyne+t ze, b=xea+yne+ e,

atb=(xeae+vne+znag)+(xe+ yve+ )

=(xi+ x)a+(n+y)e+(z+ z2)es.

Aa=A(xet+ynetzea)=Ax)aetAn)e+(Aza)e .

ab
(X, Vi,z2)+ (X2, Yo, 2)=(X+ Xo, i+ Vo, 21+ 2o),
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A(X, Yi,z2) =A% Ay1,A27n) .

2.
b, O, OA=a, OB=b. m AOB
b : a, b a b , a
0O m T[E :
a b,
O ;
LK, {O;1,], K}
, v vV = Xi+ yj+ K, X,Y,
(X, y,2), v {01, ], Kk}
oM (x,Y, 2) M : (X,Y,2) .
(X,Y, 2 X, Y, Z M ,

v = Xi+ yj+ Z,

10 OP= xi, PN =yj, NM = z.

|OM|* = |ON|*+ | NM|*= |OP|*+ | PN|*+ [NM|* = X" + ¥’ + 2,

v | = X +y + 7.

Mi( X1, Y1, z1) Mz( X2, V2, 22) :

OM:= xi 1+ y1j+ zk, OM, = X1+ y2J+ 2 K,

Mi M= OM; - OM1 =(% - X))i1+(y2- 1) j+ (2 - z)Kk,

M1 M.

| MiM: | =] Mi M| =

(Xe- X))+ (Y- Y1)’ +(2- z)°.

: v=xity+ &K 1, j, K
,COS O, Cos [3,cosy Y
cosB——y cosy = <
) - d, y - d1

{O;1,], K
a,B,y \Y
wsa = >
T od
d= x2+y2+z2 Vv

2 2 2
, Ccosa+cosP+cosy =1.

{O;ea,e,e} , e,e, 6

z

M,
M
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M
()
9
y
R////
e N
10
, . {01,k
,], Kk
{O;1,],k} : M( X,VY, 2)
OM = xi+ yj + Z, OM (x,y,2) |, M
(x,y,2). Mo( %o, Yo, 20), M( X, Y, 2),
MoM = OM - OMo = (X - X)1+ (y- y)j+ (z- 2)Kk,
Mo M (X- Xo,Y- Yo,2Z- 2) .
—CC ) :
2.4
1.
o FC)
O M : S OM . : F
W= |F||s|cosH,
8 F s ( 11(a)) .
: ; a b : a, b
| al, | b] 6= ab : a b(  11(b)),
a b=|al||b|lcoso .
a b . ab=0. , F
F S : W=F s.

b a ,  Prjab
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F M
b
y % 0
0 0 a
(a) (b)
11
Prjab= | b|cos 9,
az 0,6= a b . b, c a
12) . 12
Pria(b+ c) = | b+ c|cosa
= | b|cosP + |c|cosy
= |bJcos b,a + |c|cos c, a
= Prjab + PrjacC .
12
| b|cosB = Prjab, a b=|a|Prj.b. a b=|b|Prsa.
1.7 a,b,c, :
(1) aa=|al’;
(2) a b=b a( )
(3) a b=0 a b
(4) (a+ by c=a c+ b c( )i
(5) (Aa) b=A(a b),A ;
(1)—(2)
(3) ab=0, |al#0,|blz0 , cos6=0, ez%,
a b , ;
a b. : a b, 6= |al| =0, |b] =0,

Jis
2’
b=

a | al] | b]cos® =0 .
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(5)

(a+ by c=0=a c+b c,

(a+b) c=a c+b c.

(a+b) c=|c|Pric(a+ b) .

Pric(a+ b) = Prjca+ Prjcb,

(a+ b) c =|c|(Prja+ Prjcb)

= | c|Prjca+ | c|Prjcb

—ac+b c.

A>0 ,Aa a Ab b :
Aa, b = aAb = a b,

(Aa) b= |Aa||b|lcos Aa,b =A|a||b|cos a, b ,
A(a b)=A|al|blcos a,b

(Aa) b=A(a b) .

(\a) b=A(a b)=0.

Aa,b =t- a,b,

(Aa) b =|Aa||b|cos Aa,b = -A|a]||b|cosAra, b
=A|a||b|cos a,b =A(a b),

(Aa) b=A(a b) O
{O;1,), kK,

a=xl+wyj+zak, b=xi+tyj+ zkK
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a b . 1.7,
ab=(xitynj+zk) (xi+ypj+ zK)
=xil (XityjtzK+ynj] (xi+ynjt+zk)+zk (i+ pj+ zK)
=X Xl i+ X el j+ i kt X i+ynyj jtnzj kK
+zxkitzayk j+ zzk K.

I, ],k : I j=} i=p k=k j=t k=k i=0. 1, ],
k 1, Fi=}) j=k k=1,
ab=xixx+yy+zz. (1.1)
a b=|al|blcos a,b, a,b ,  (1.1)
ab
cos a,b = :
|al|b]

X1 Xo + + 21 Z
cos a,b = Ay Y —= : (1.2)

2 2 2 2 2 2
Xp*+ntzg Xo+Y,+ 2

Xt Xe+ 1Yo+ 222=0.

2 OABC ,0OA BC,0OB AC( 13), : AB OC.
| OA=a, OB=f, OC=y,
E:y-B,Ezy-a,E:B-a.
OA BC, a (y-B)=0, ay=afp. OB AC, BB (y-a)=0,
By=oapf.

B-a)y=py-ay=ap-ap=0,
AB OC.

o) L , F P F
OoP 0( 14) . . F o) M,
OPx F, M= OPx F, |M|=]OQ||F|=|OP||F|sin®,
OoP F ., OP,F M ( 15).



E
a
14
O 0
A C AN 7P
N s
N A/
)Y
e
Ve
B //
13 14
a b C, ax b: c
|c|=|al|blsind, B a b ; C a b
(c a, b), a,b,ax b , ax b
a b ( 16) .
cax b=0 a b
b , , ax b=0 a b ,

15 16

1.8 a,b,c ,
(1) bx a= - ax b;
(2) (a+ b)x c=ax c+ bx c( );
(3) (Aa)x b=A(ax b) (A ) .
(1) b a a b
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(2) (3) O
a b ax b {O;1, ], k}
a=x 1+ wyj+ zk,
b= xi+y]j+ 2K
a b : 1.8
ax b=(xi+yj+t zkx (xi+wj+ zkK)

XtiX (xei+y2j+ 2K+ yjx (it yj+2zK +zkx (it yj+ 2K

=X X X 1+ X piX J+Xxi2z2X Kty X ity jx j+ywzjx K
+ 2z %kx i+ zy.kx J+ 2z k< K.
ix j= Kk, jx i= -k, jx k=i,ke< j= - i, ix k= - j, k< i=],
Ix i=jx j=kx k=0,

ax b=(yz-zayp)i+t(zax- X1z)j+t(xXy: - ix)k. (13)
(1.3) :
Vizz- z2y2=0,z2%- Xx12=0,X1y2- Y1 Xx2=0.
3 {0:i,j,k} ,AB=i-2j+2k, AC=3i-4k.
ABC
| ABx AC| 7. (1.3),

%|Ex E|:%|8i+10j+6k|=5 2.

4 | w P
\Yj
, P v | P
, | PoP|w, P l, I
Po, Po P I Y, ly | = w,
, y , PoP,v oy (
17) . O,

vI=1y [l PP|=]y[]OP|siny, OP,

y, OP Y OP
v=yx OP.
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(8
17
3.
a,b c (ax b) c a, b, c ,
[a@bc] .(ax b) c a b ax b, ax b
C
: ax b=d :
a b ,
; a,b,c ( ) : d C
() .,d c o ()
[abc] = (ax b) c=|ax b||c|cosa,
a,b,c () , [abc] ().
a,b,c
a,b A | ax DbJ, h
C d , h=% Prjsc=% |c|cosa,
: : , « , , a
V= Ah=zx |ax b||c|cosa =% [ ac] .
[abc] = (ax b) c . [ abc] a,
b, C . a, b, c ()
()
{O;1,], K

, a=xi+tyj+zakb=xi+yj+zkc=xit+yj+ k.
ax b= (yiz - zayp)i+ (zXx - Xiz)j+(xy - 1 x)k.
[ac] = (V1o - z2Ye) + Vs(Za X - X1 22) + Zz( X1 Y2 - Vi Xe) (1 4)
5 {O;1,j,k} ,a=i-2j+2k,b=3i-4k,c=i
- ]+ 2K, ab c
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0.
ax

[ abx] |, 1.3,
ax b=8i+10j+6k.

I[abc]| = [(8i+10j+6k) (i- j+2K)|=10.

a

6 a,b,c [abc] =0 .
a,b,c .. a b ,ax b=0, [ abc] =0;
b ,ax b a,b , ax b c, [ abc] =
: [ac] =0. ax b=0 , a b : a, b,c
b2 O , ax b C, ax b a b, a, b, c
3.1
1.
’ . V3 R ,
l,k R, a,b,c 0,
(1) a+ b=Db+ a( );

(2) (a+ b)+c=a+ (b+c)=a+ b+ );
(3) O +a=a+0 =a;
(4) a+(-a)=0;
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(5) 1a= a;

(6) k(la) =(kl)a;

(7) k(a+ b) = ka+ kb;
(8) (k+ Iha=ka+ la.

Vs
Vv V Vv
R :
? :
1.2 Vv R (
) ( ), % R
, V R ;
(1) uv V, w Vv
u v : W=u+v;
(2) u Vv a R, w Vv
; a u : w= au
(V Abd | A.1  Abel )
(3) ; u,v V, u+v =v + u;
(4) : uv,w V, (u+v)+w=u+(v+w);
(5) : o Vv, u V, u+0=u,0 ;
(6) : u Vv, v V, u+v=0, u
) - u,
(7) X u V a,b R, a(bu)=(ab)u;
(8) V : uv V a R, a(u+v)
—au+t & ;
(9) ; u Vv a,b R, (a+b)u=
au+ bu;
(10) 1 u V, lu=u.
) 1.2 R Al F, V F
1.2 , F
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F, , V(F)
V
1.2 , \% )
V
1 V1 , V2
, Vs
, Vi, Vs Vs R
a,b V]_, k R, a.,b |l
, a+b ka . V1
1.2(1), (2), Vi 1.2
(3) (10). .V R | Va, Vs
2 P[X]n={a.X +a, X + +a&|a,a. 1, ,a& R},
n

n-1 n n-1
ax'+a, ;X + +a,bx+b.i1x "+ +hb P[x]n,

(anxn+ an_lxn'1+ +ao)+(bnxn+bn_1xn'l+ + bo)

=(a+b) X +(a-1+hb.)xX" T+ +(a+hb) P[]
ax'+a. X + +a V, r R,

r(ax +an-1X + +&)=raX +ra X '+ +ra P[X]a,

1.2(1) (10) . P[ X]» R
3 V={f|f [ a, b] } .V
fog V,(f+g)(x)=f(x)+g(x). f V,r R,

(rf)(x)=rf(x), rf f : V R
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n a, a, ,an : (&, &,
n . n R" .
(b, b, ,by) R", r R, R"
(&, &, ,an)+ (b, b, ,b)=(>(aa+h,a+h,
r(a, &, ,an)=(rai,ra, ,ra.).
1.2(1) (10), R"
n
a1
an
n n R"
R" n
4 \Y
V +w'y=0 (w# 0)
. V={yly +wy=0}. Vi, Y V.1
'y 3 . V Y
(1) (10),V R . V
d dy d y
e ) e () = ey v T
o dy
R(ry1)+m2(ry1) = r dt21+w2y1 =0
yi+y,ryan V. V R
2.
1.2
1.2(1) (10)
1.9 V R ,
(1) e V, u V,e+u=u, e=0,
(2) uyv,w V, u+v =u+w=0, VvV=w= -
(3) u V,0u=0;
(4) k R,kO=0;

(5) k R,u V, k0 uz 0 ,bkuz O.
,0 0 .0

, &),

(a1, &,

, &+ bn) .

n

, &),
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(1) 1.2(5), e=e+0=0".

(2) 1.2(5), (4),
v=v+0=v+(u+tw)=(v+u)+w=0+w=w,

(3) k R, 1.2(9), ku=(k+0)u= ku+0u. ku,

1.2(6) - (ku)

O=1kut(-(ku))=(ku+0u)+ (- (ku))=ku+ (- (ku)+0u)
=ku+ (- (ku))+0u=0 +0u=0u.

(4) 1.2(5),(6),(8), kO=k(0+0)=kO+ kO,
0=kO+ (- (k0))=(kO+k0)+ (- (k0))=kO+(kO+(-(k0)))=kO.
(5) kfO,ux O, ku=0. 1.2(7),(10) (4) ku=0,

O=k 'O0=k "(ku)=(k 'ku=1lu=u.

uz O , kz O uz 0 |, kuz O O
1.10 V R : Kk R,u V,
(- Ku=k(-u)=- (ki) .
1.2(9) 1.9(3), ku+(-ku=(k+(- k))u=0u=
0. 1.9(2) , (- Ku= - (ku); 1.2(8) 1.9
(4), ku+ k(- u)=k(u+(-u))=k0=0. 1.9(2)

K(-u)=-(ku) O

ul’UZ’Lb’ (ul+u2)+l-rl3:ul+(la|2+lvb),

U+ b+ Ws . , U,
U, ,Un U+ U+ + U . , u+(-v) u -
V. 1.9,1.10, 1.2 (8),(9), (10) : a,b

R

(8) a(utv) = aux a;

(9) (ax b)u= aut hu;

(10) (£ 1)u==% u;
(8) a(lu-v)=a(ut(-v))=auta(-v)=a+(-(a))=au- & .
(9) (a- bpu=(a+t(-b)u=au+(-bu=au+(-(bw)=au- .
(10) (-Du=1(-u =-u( 1.10), O

(8) (9)
(8") a(mt wx £ u)=awmt aux £ aun;

(9") (aux a2 £ an)U= aut & Ut anu .
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3.2
1.
3.1 1 Vi, V2 V3 ,
, V1 Vo V3
1.3 V R , S V
S V R , S V
1.3 'R V V
: 0 . vV o,
s={0} Y, | , Y,
5 P[x]o={aX"+a.1X" "+ +a&|an, a.i, ,a R},
n , P[ X]1, P[ X]2, ,
P[ X}n-l R y P[ X]n
, : 1.2
1.1 R V S V
(1) uyv S, utv S
(2) u S, a R, a S.
: S (1) (2). 1.2(5), (6),
u s, 1.9 2), 0 R, Ou= 0
S. 1.10 (2) u s, (-1)u=-u S,
S 1.2(5),(6) O
1.1 : V S V ,
1.2(1) (10), (1), (2)
Vs ( :
) Vs
Vs .
6 V={(Xi, X2, X3) R’| X1+ % + x3 =0} . Vv
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(X, X, X3),( V1, ¥z, ¥V3) V, rRrR.
(X1, X2, X3) + (Y1, ¥2,¥3) = (X + y1, Xe + Y2, Xs + Vy3) .

X1+ Vit X+ Yot X5+ y3=(Xs+ Xot Xz) + (Y1 + Vot Vy3)
=0+ 0=0,

(X, X, X)+(Y1,¥,y3) V.

r( o, X2, X3) = (rxs, rxe, rxs) .

rxas + rxz+ rxs = r(x + x2+ x3) = 0,

r( X, X2, X3) V. 1.1,V R® O
1.11 R \% S S
Sn S 0. Sn S V : S S
1.1 ,V O, O Sn &.
Sn S \Y : 1.1 (1) (2) .u,Vv
SNS&S, uv § uv $. S, S , u+v §
u+v S, u+v Sn &, SN S 1.1 (1) .
Sn S a R, u S,u S S, S
R,au S§,au S, a Sn &, SN S 1.1
(2) O
Vs , S S xOy yOz
S S V3 : SN S
y , Vs
2.
1.12 S S R \Y

T={wm+Ww|w S, w S},

T \Y : S S : S+,

T V . u,v T, Wh,v1 S,WU,v: S,
U=U + ,V=Vi+V,. S S : Uy+vV: S,W +V,
S .

U+v =W +U+Vi+v,=(h+Vvi)+ (W +V2),

u+v T . . a R au=aw+ auw T. 1.1 T
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V3 : S S X y
, Vs , S+t S xOy
’ V3 .
1.11 1.12 n
113 u R \ , [u] =
{au| a R}, [u] V : [u] wu
w,Vv [u], a,b R w= au, v= hu.
w+v=au+ bu=(a+ b)u [u];
r R, rw=r(au)=(ra)u [uU]. 1.1 Jul VvV
O
, u N , [ U] u
h,Ww, ,u R Vv n : 1.12
1.13 Jw]+[w]+  +[un] \% : th, Lk, , Un
: [W, b, , U] . ails + & Uy
+  + @l : a,a, ,an R. [U, U2, , Un]
Lh, U2, , Un \% , \% th, b, , Un
[ W, w2, , un] . Vs Ui, W,
Us . u, &, &,a R
U= a U+ &+ als [W]+[u]+[us].
1.6 a, &, a u . W,
a, &,a,u R
U=arth+ U+ a&Us+ as [w]+[u]+[w]+[w],
u , a1, &, &3, , , .
14 S S R \Y , S=5+ S
: S U=+ k(L S,k )
, S S S : S= 56 S S=§ .
Vs : S S xOy yOz
, Vs=5+ . y a,
a xOy yOz : a Sn S. O=a+(-a)
0=0+00 : S+ S : S S
xQy z , Vs=§56 & .
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S = {(xl,x2,0)|x1,x2 R};
S = {(0,0, 3) I xs R};
Sg={(0,x2,x3)|x2,x3 R} .

R’ RR=S5+S R=S+S ,
(X1, X2, %) ( X1, X2, X3 R)
, R’=S6 &; . R’ (1,1,1) S
(1,2,00 S (0,-1,1)
(1,1,1) = (1,2,0) + (0, - 1,1),
S (1,0,0) S (0,1,1)
(1,1,1) = (1,0,0) + (0,1,1) .
RR=S+$S S S : : , S6 S$=5 + S,
S=S+ S
1.14 S S R V , S= S
+S .S 0]
0] S : : , 0O
: 0=0+0. S u u=u +
Uz, u=vi+v(u,vi S,k,vw ),
-u=-lu=-1(vvtw)=(-)wvt(-1)Vva=-wvi- VW,
O=u+(-U=m+wL-Vi-Vo=(W-vi)+ (- V).
bh-Vi S,L-Vv. &, O 0 +0, h -Vvi=0,Wb - W
=0, th=Vi,Wh=Ww. u , O
14 1.14 n
1.2 S S R V , S= S +
S. S=S6 S Sn & ={0} .
SN S uz 0, O 0=0+0,
O=u+(-u),0 : 1.4 ,S S S
, , Sn &§={0}. O O =u + u, u;
S,k S, -l=lW, -wWb S, b S. U1
Sn S ={0}, =0, Wb=-w=0. ,0 0 +0,
0) 114 ,S5S=56 & |
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8 u Vv R’ ,

U:{(Xl,XZ,X3)|X1+ X2 + X3 = 0, X2+ xs = 0},
V:{(xl,xz,x3)|x3:O}.

(1) U V R’

(2) R®°= UG V.
(1) a= (a, &, a),b=(h, b, k) U, k R, ka=
(kau, k&, kag)

kay + ko + kas = k(a1 + &+ &) = 0, ka, + kas = k(a: + &) = O,
ka U.

a+b=(at+hbh,a+th a+h).

at+thbht+tat+th+t+as+bhbh=0a+bh+ a+ b=0,
a+b U. u R . 'V R
(2) a=(a,a&,a) UnV,

a + a + a = 0,

a + a = 0,
a = 0.
a=a&=a=0, Un V={0} . U+ Vv a=(a, a,
a) R .
a=(a, &, &)= (a,a+ a,0)+ (0, - as, &) .
(a1, 2+ &,0) V,(0, - a,a) U. R'= UG VO
3.3
Vs a a= xe + ye + zes, e, e, 63
Vs . 1.6 ,
, Vs =[e]G [e]G [es] . Vs
e, €, 6 ;
1.5 Vi, V2, ,Vn R V :
a, &, ,an R,

U= aavi+ aov + + anVn,

u Vi, V2, , Vn u Vi, Vo, , Vn
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1.2,1.3

] Vn

,0),

(0,0,0) .

0),

u Vi, V2, , Va
[vi]+ [w]+ +[wvn] . 1.2,1.3
1.6 Vi, \&, ,Vn R
0 a, &, ,an R,
awv+ aw+ + aavn = O,
Vi, V2, ,Vn : Vi, V2,
1.6 : Vi, V2, , Vnp
(1) Vi, Vo, , Vp
aavi+ aaw+ + awm = 0,
a=a= =a=0;(2) , a1, a, ,an R,
aavt aw+ + aavh = O,
a=a= =a=0, Vi, V2, ,Vn
9 R’
(1) (1,0,0),(0,1,0),(0,0,1);
(2) (0,0,1),(0,1,1),(1,1,1);
(3) (2,1,0),(1, -1,2),(0,3, -4) .
(1) ki, k2, ks R,
ki (1,0,0) + k2(0,1,0) + ks(0,0,1) = (0,0
(ki,0,0) + (0, k:,0) + (0,0, ks) = (ki, ko, ks) =
ki= ko= ks =0, (1,0,0),(0,1,0),(0,0,1)
(2) ki, k2, ks R,
ki (0,0,1) + k2(0,1,1) + ks(1,1,1) = (0,0,
(0,0, ki) + (0, ko, k) + (ks, ks, ks)
= (ks, ke + ks, ki + ks + ks) = (0,0,0) .
ks =0
k+ k =0
ki+ k+ k =0
k=k=k=0. (0,0,1),(0,1,1),(1,1,1)
(3)

(- 1)(2,1,0) + 2(1, -1,2)+ (0,3, - 4) = (0,0,0),
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(2,1,0),(1,-1,2),(0,3, - 4)

Vn

, In R

Ov, =0,

|i=0, |iVi=O,

10 u, vi, V2, , Vn R
(1) Vi, V2, , Vn vi=0, wvi,v, |,
(2) Vi, V2, , Vn .U, Vi, Ve, ,Vn
(3) Vi, V2, , Vn , Vi, V2, ,Vn-1
(4) Vi, V2, » Vn , [+, |2,
IV
(5) Vi, Vb, ,Vp : n
PRV PAV’S , InVn
(1)
Ovi+0v.+ +0vVvi.1+1Vvi+0vii1 + +
Vi 1# 0, Vi, Vo, ,VWh
(2) li, 12, I,
libvi+ v+ + lhvi=0 .
Ou+ v+ Lw+ +1,v,=0,
0, I, I, , In , u, vi, Vo, y Vin
(3) , Vi, V2, , Vn-1 ) (2) y Vi, V2,
Vi, V2, ,Vn
(4) i, I, I ,
|2V2, ,|nVn ,|1,|2, ,|n
| ki, Koy Kn,
kivi + ke v + + kv = 0O,

(kli ) hvit (kels ) bw+  + (ki)

kit kel 0,
(5) ki, ke,

Vi, V2, y Vn

 kaln?
lkn Rl

k1 |1V1+ k2|2V2 +

ylova, lave,
|11|21 y Iny
,Vn
(1) lllvll

Vi, V2, , Vn

lova= 0O
) liwvi, l2 vz, , InVn
+ annVn= O .
kili = ka2 = = Kkyln=0. 1, |2, ,
= Kﬁl :O’ ] Il Vl, |2 V21 ) Invn

\'E
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1.15 R V Vi, V2, ,W(Nn=2)

Vi, V2, ,Vn : 1.6,

ki, ko, , ki,
kKivi + ko Vo + + kavn= 0 .

kiz 0,
vi=- kitkew - - ki'koiVien - KitkisiVier - - KTk
Vi
Vi, V2, , Vn Vi

Vi = liwvi + + lj-1vi-1 + lj+1vje1 + + [nwn .

[1wvi + + lj-1Vi-1 - Vi+ lj+1Vvj+1 + + |lavh = 0.
Vi -1 0, Vi, V2, ,Vn O

1.16 u u=0 .
u= 0, lu=0, u=0 . , u
I lu=0, '

Vi, Vo, , Va( N2 2)
R \Y} : i {1,2, ,n}

[vi] + [we]+  +[wva] =[w]+ +[Viia] +[Viee] +  +[ W],
Vi [vi] [w]+[wvl]+ +[w]=[w]l+ +[Vi.i]+[Vic1]+ +[Ww],

Vi:|1V1+ +|i.1Vi-1+|i+1Vi+1+ +|nVn.

V11V21 1Vn
(-D)vitlivi+ +hioavica+ lcavier+ + Lhvn=0,

viZz 0O, [vi] + [v2] +  + [ wn] : [vi] + [w]+ +[vn]

O=kivi+ kv+ + kwn,

kkvi=kv= =kvi,=0 . Vi, Vb, ,Va(N=2) :
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kk=k= =k=0. Vi, V2, ,Vn : . Vi, V2, ,Vp
v (vl t[ve] + 0+ [i]
1.17.
1.17 Vi, V2, ,Wn(N=2) R \%
,viz 0(i=1,2, ,n). Vi,V2, ,Vn
[vi] +[v2]+  +[w] =[Wi]G [v2]C G [wva] .
1.6 \E! a
e, e, , a=xe + ye+ ze X,Y, Z a
1.18 Vi, V2, , VW : Vi, V2, , Va, U ,
u Vi, V2, ,VWn : :
Vi, V2, ,Vn, U : 0 K, ki, ke, , ki,

ku+ kwv+ kw+ + kvi=0 .

k=0,
kivi+ keve + + k=0 .
Vi, V2, ,Vn , ki, ke, |, kn 0. K, ki, ke, , kn
0 : kz O
= -k kv - K'kew - - K KaVa,
u Vi, V2, ,Vn
u
u=avi+av+ +aw,u=bwv+hbhwv+ +bwv.
(aw-b)vi+(a-)w+ +(an-b)vi=u-u=0.
Vi, V2, ,Vh : a-h=a-bkb= =a-b=0, a-=
b, =k, ,a=Dhb. u wvi,Ve, ,W 0
11 N R" n
e = (10,0, ,0,e = (0,2,0, ,0), ,e = (0,0,0, ,1)
, R’ e,e, e
ki, ke, ,k R, keae+ke+ +ke&=0,
k.(1,0,0, ,0 + k(0,1,0, ,0)+ + k.(0,0,0, ,1)=(k, ko, ,
ki) = O ,
ki =k = =k,=0. e,e, ,6& : : a=(a, a, ,
a,) R"

a-=- ae + aae + + anén,



R" e, &, ,en 1.18 a
3.4
) R
\E , €, &, 6,
u €,6,6 , u= xe + ye + ze;,
Vs=[ea]G [&]C [&], Vs 3. :
Vs {O e, e, e}, e, €, 6 Vs
(x,y,2) u , Vs o,
. " . ” ?
: ? , ?
1.19 :
12 U, b, Ws Vi, ,
U, b, Us
U, b, Us Vi, V2 )
U = au Vi + a2 V2,
U = @1Vi+ a2V,
Us = a@1Vi+ a2Va .
a1 = a2 =0, w= 0, W, Wb, Us , ann? 0,
Uz - air @i lh = (@2 - air a1 aiz) vz,
Us - al-ll &1 = (a2 - aill a1 ai2) V2 .
Q2 - &1 @ a2 =0, W - a1 @i +0us= 0, U7 1,

U, U, Us

2 = a2 -

Q2 - a1 &1 At 0,
2 V2,
a2 V2 .
-1 -1
Q1 Q1 2, a2 = @32 - @1 a1 A2 .
P2 v2 - b2 bz-zl 2 v
W - al_ll a1l - b bz_zl(Uz - al_ll a1 Ur)

-1
b - 11 @1 W

-1
W - a1 a1 W

W - bézl b o - (aj:ll 1 - bz-z1 ks aill 1) U .
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Us 1, Ui, b, W
12 :
1.19 Ui, b, , Unm Vi, V2, , Wn
) n<m, U, b, , Unm
bh = aaaVi+ a2V2 + + @nVn,
b= a1Vit &V, + + &nVh,
Un = am Vit amaV2 + + AmnVn .
w1, &2, ,aun, , W 0, U, b, , Un
i1, A2, , din , Vi, V2, y Vn
anz 0.
b = a1Vi+ a2 + T+ & nVh,
b - aill &1 = 0vi + (&2 - 3.1-11 1 d12) Vo + + (&n - 3.1_11321 ain) Vn,
W - a1 Gl = Ovi + (&2 - @ &1 éiz)Va+  + (@n - &1 8 &n) Va,
Un - aii amUs = Ovi + (@mz - aii am az) Vo +

, , @n - @1 Q1duin . 0,
k- ai @ik = 0 W 1, U, Uz , 10(2)
, UL, Uz, , Um 2 - 8.1-11 b1 di2, , Son - al-ll 1 din
2 m r (r< n),
r+1 m Vi, V2, , Vi 0. :
n ., n+1 m Vi, Vo, , Vh 0.
r (r< n), r+1 Vi, 2, ,Vn
0.
u + ku.. + + k.1 =0,
ki, , k-1 U, 1,
b, W, ,U , U, b, ,Un 0
1.19 ,
1.12 : 1.19
1.7 U, U2, , Un R Vv ,
r €g,e, ,6

-1
2 - 11 1 A2,

+ (amn - al-ll ami aln)Vn.

0.



36

(2) u11 u21 ;um el, eZ, ,er
€, e, y & U, Uz, , Um . r
ulleZ’ ,um

1'3 Vi, V2, » Vi Wi, W2, » Wh U, U2, , Um
, =

I<h. w,v, ,wu b, Lk, , Um

) Ui Vi, V2, , VM : y W, Wo,  , Wh Vi,
V2, , Vi . 1.19 W1, W, » Wh ) Wi, W2,
Wh U, Lk, , Unm : h< | . I< h.

l=h O

1.8 V R .V

A:01,002, ,0r;

B:B1,B2, ,PBs.

A B , A
B : A B : A
B
1.7 1.8 ,
1.20 A B : A
B ; A B :
U,Ww, ,U Vi,\W¥, ,Vs A B
A B : A Vi, V2,
Vs : , W, Uz, U Vi, Vo, Vs . r>s,
1.19 U, e, , U : A
A r B S. A B
: r< s s, r=s0
Vs
1.9 e, e, e R \
€,€, ,6n : V , a,e, |,
€n V
Vs ,
, Vs

,VS . 1V3
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V3 . Vs )
Vs : , V3 ,
3.
1.21 V n , V
n V , V n
€, e, ,én \ , U, Lk, , Un \ n
u Vv, €,€, ,En V : u, U, W,
» Un &,e&, ,6& n+1 n ,
1.19 u, U, tk, ,Un 1.18 ,u th, b,
, Un 1.9 U, W, ,U V &,, ,a&
\ , &, &, ,a e,e&, ,e 1.19 , T
<n, e,e, ,en : r= n. a, &, ,a
n= r, r=n. V n
O
1.21
1.10 R \ \
: dm( V) .
V n : V. n ,
0 , N 0
\Y , \Y :
1 .10 : Vi, V2, Vs 1,2,3
V3 : —
, Vs R,
1.22
€, &, ,6& V
Vile,e, ,&]= 7 V=[e,e, ,el]l,a,e, ,& V
Vile,e, ,e]# 2?2 u Vi[e,e, ,e]. O [e,e, ,e],
ur 0 . ue,e, e , u e,e, ,e :
u [e,e, ,e]. u Vilje,e, ,e] : u,e,e, ,&
Vile,e, ,e]l= 2 \
O
1.18 R n
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&,e, ,e ,V u
Uu= ae + ae + + &6, &, &, ,a R.
a, &, , an u e, e, ,en : (a, &, ,
an) . n
n V SV _
(a, @, ,an) . V n
() R
1.11 R Vi, V2, V1 V2
f, a,b V; A R,

(1) f(a+b)= f(a)+ f(b),
(2) f(Aa) =Af(a)

, f Vi V2 ,
Vi1 V,
V R n , 6,6, ,én \ .V
Uu= ae+ v + + anen
(ar,a, ,a)(n ) :
f:V_-R", f(u=(a,a, ,a) R".
: u,v V, k R, f f(u+v)="f(u)+
f(v), f(ku) = kf(u) . , R n vV,
: n () R"
, n : vV R’ :
n ( ) R" ,
, R K{( Al),
R ( : )
K n K" .
13 . N R" ,n
e=(1,0,0, ,0),e=(0,1,0, ,0), ,e.=(0,0,0, ,1)

Rn ’ a:(allazl ,an) Rn e-l-le2! ,en
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11 1.9 ,e,e&, ,en R
a= aer+ e+ + aen,
a=(a,a, ,an) e, e, ,6e (&, &, ,an) .
14 . n R" ,n
w = (1,1,1, ,1),w = (0,1,1, ,1), ,u, = (0,0,0, ,1)
R" , b= (b, b, ,b) R" Ui, Lk, , Un

b=(b, k, ,mh) R",
buw+(bk-b)w+ +(bh-bhi)uw=(bh,bb+b-b, ,b+b-
b+ +byn-b.1)=b.

R" W, b, ,Un , R" e, e, ,en
( 13) U, Uz, , Un . Ui, Uz, y Un )
Vi, Vo, , Vr r<n. U, U, , Un
Vi, V2, » Vr ’ Rn €, e, y €n Vi, V2, , Vr
1.19 el,eZ, ,en y el,ez, ,en
ullljzi ,Un ) Rn . b ]
b U1,u2, ,Un (bllb- bls ,bn' bW'l) .
13,14 R" b
4.1
, a, b
a b=|al|b|cosHb .
{O;1,], Kk}, a b
a b= abh+ abk+ abs,
a,b (&, &, &), (b, b, k). a

|lal]= a a= at at a .
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a_b

COS@—lllbl, O<sB<sTm
; a,b,c k R
(1) a b=b &
(2) (a+c) b=a b+c b;
(3) (ka) b=k(a b);
(4) a a= 0; a=0 a a=0
1.12 Vv R V
(a, b) \% a, b, c
(1) (a,b) = (b, a);
(2) (ka,b) = k(a, b);
(3) (a+ b,c)=(a,c) +(b,c);
(4) (a,a)= 0;(a,a)=0 a=0
(a, b) a b
1 R’ {0;1, ], Kk},
a, b,
(a,b)=a b=|a||bJcosb=ab+ &b+ ah,
a, b (ar, &,a),(b,x, ), ab
ab 1.12(1) (4), ab
, 3 R
{01, ], K.
2 n R" a= (a1, a

a, b,
k R

1a'n)lb=



(b, b, ,b) R, (a,b)=ah +ab+ + ab.. . (a, b)
1.12(1) (4), (a, b) R" R"
: : n R"
1.13 vV a | a| (a, a),
a,b(az 0, bz 0) 0
cose=—(—a‘—b)‘,Osesn.
| al| bl
T
(a, b) =0, 9:5, a, b , a b.
1 . 1.13
1g ABL g
lal|b]

A L Cauchy(1789—1857) H A .Schwarz(1843—1921)

1.23 (Cauchy-Schwarz ) a,b \

(a, b)’< (a, a)(b,b) . (1 4)
Cauchy-Schwarz
(1) X R a,b Vv, 1.12(4)
(a- xb,a- xb)= 0.
1.12(1) (2) (3) , X R,
(b,b) X - 2(a,b)x+ (a,a)= 0. (1 5)
(b,b)z0 x:((%‘%)',
((%" ti))) 2 ((i" tt)))) +(a,a)= 0
(b,b) >0 (1.4)
(b,b)=0 b= 0 (1.4)
(2) (1.5) A< 0
4(a,b)’-4(a,a)(b,b)< 0
(1.4) O
3 R’ {0,i,j,k},a,b R

(a,b) = alh - aoalh - aslx + 3l + as by,
a,b (a1, &, &), (b, b, b) . (a,b) R°
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a=(a,a,a), b=(h,bk, k), c=(c,e,c) R,
ab-ab-abkb+3abh+ abs . 1.12

(1) (a,b)=ah - a2bh - ak+3aah+ abs=bha-ba - ha +
Bhha + ka=(b, a);
(2) (ka,b) = kay by - kas by - kay b, + 3kao by + kas bs
=k(aah - b - abb+3ah+ah)=k(ab),

k R;
3) (atc,b)=(aata)bh-(x+ce)h- (a+ta)+3(aa+t )b+
(a3 + &) bs
—ab-abkh- ak+3aaht abkstab - b - b +
3+ b
=(a, b) +(c,b);
(4)(a,a):a1a1-a2a1-a1a2+3a2a2+a333:(a1-a2)2+2a§+a§2
0,(a,a)=(a- &) +2a+a&=0 (a - @)°=0,2a,=0, & =0,
a=a=a-=0, a=0 .
(a,b) 1.12 , (a, b) R’
R3
3
3 1
1 3 2 n
4 C[ -1,1] [ -1,1] . ,
,C[-1,1] R . f,g C[-1,
1],
1
(f.o) 4 f(x)g(xdx,
(f, Q) . C[-1,1] . fi=1
fo= x, fa= X a,B :
(f,0) 1.12 (1)—(3), (4),
1
(f,f):f F(x)dx =0
x [-21,1],f(x)=0. x [-21,1], f(x) =0
1 1
_ 2 _ — 2 —
(f, f) _j F(xdx = 0. , (f,f) _I F(xdx = 0.
 (-1,1),f(x)# 0. f : O 0<d<mn{x+1,1-
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1
X}, X (% -8,%+d8),f(x)>0. (f,f):_f 1f2(x)dx>
0, . x (-1,1),f(x)=0. f(1) = f(-1)=0.
1.13,
J'l
xd X
T e L
’ X1X 2
I_ldﬁ _lxdx
[ .
X d x
1. X : 5
cosfB = (1(1)()(2 2): 1 1 1 - 3
, X, X 4
I_lﬁ_lxdx
(1, x) =0, a:%, , f,=1 f,= x
4.2
1.
n v e,e, ,6e, \Y a,b

n

a= ae + e+ ae = Z ae;b= e+ e+ + be = Z be,
=1 =1

1.12,
(a,b) = Zl ai(enzl be) = Zl Zl ab(e,g) = 1st$ nabj(e.,a) :
, €, &, , 6, iZj ,(e,q)=0; i =
(e,8)=1. :
(a,b) = aabh + a2l + + abn.
, n
R" .
1.14 €,&, ,& n \Y ,
1 1=1,
(e,g) =9 = 0 % |
0ij Kronecker (L .Kronecker,1823—1891), e, &, ,6n
\
3 R,

1= (1,0,0),j = (0,1,0),k= (0,0,1),



Vi + W+ + av. =0,

0=0,v) = (avi + a&awv + + ave, Vi)

a(v,v)+ a(vw,v)+ + a(v,v) = a(v,v),

1=1,2, ,r. vz 0, (wv,vw)z0, a=0,1=1,2, ,r.
Vi, Vo, L,V ]
n n , 1.4 ,
n. R R
2 3
u, 0 Lu
|ul
; r , r
; n ,
n , 3 R’
5 w=(1,0,0),v.=(2,2,0),vs=(3,3,3) 3 R’
. Vi, V2, Vs
Vi, Vo, V3 1 , R’
(1) iz 0, w el,a1:v1:(1,0,0),e1:|gi|:
(1,0,0) .
(2) v v : (v2, &)@ v e
, a0 , & €& :
O2=Vz - (V2,€1)E@ = Vs Vo, 21 o1 =v2-Mu1=(0,2,0).
loa | |aa| (01,001)
ez‘lail—(O,l,O)
3) v: ea,e (w,e)e (%, e)e, as
€&, & , & e, & ;

Oz = V- (vzs,&)er-(vs,e&)e
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(0@} a; (o} (o}
= Vs s, - 3,
la| |oa| laz| |az]
. (Ww,01) (V3,Gz)a (0 0 3
¥ ((11,(11) ' (02,02) 27
as
= = 1) .
€ 105 | (0O O )
,e1=(1,0,0),e =(0,1,0), s =(0,0,1) 3 R’
)
// _________ ~ !
- e
————F——=7 g |
[ V3 [
| |
| a; I
| |
I (V3,¢2)82=
l.e)e, . 7
(vsp(e:})zeﬁ e X2 /// g
X
1
: , 3 R
n , n
V, Vi, Vo, , Vo o, ? 5
[13 ”: 5
01,022,003 . Vi, Ve, ,Vi-1 a,,d2, ,
ai-1
Vi, Vi, d Vi,Qi-
ai = Vv - 1—1)_(]1 - _(—ZL(Jz - - ( 1) ai-1, (1.6)
(a1,01) (az2,02) (0i-1,0i-1)
i=1,2, ,n, Lok Vi, Ve, Wk ,k=1,2, ,n.
al: b].lvll
O = boawvi + bpove,
Ok = bavi + bev. + + Dok .
bil< i, )< Kk : ai=0, Vi w,V2, ,Vi-1 :
Vi, V2, y Vn , aiZz 0O . a; a,,0az, , i1

1 al,GZ, 1ai-1,ai . n
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1.4 n , n vV
V GJ G|(1S
j< i< n)
Nl (vi,daq) _ (Vi,0i-1) | |
(a"al)_(VHGJ) (al,al)(al’aj) (ai_l’ai_l)(a|-1,a1) .
a1,02, ,0i.1 , ] <1,

(ai,a5) =(vi,q;) - (vi,a;) =0.

1.5 (Schmidt ) n \%

; Vi, V2,
Vh,
(1.6) Schmidt .
6 3 R vi=(1,1,1),v=(0,1,1), vs =
(0,0,1) , R’ . Schmidt
Schmidt (1.6) : oa.1=w=(1,1,1),
azzvz-%m:%(-z,l,l),
O3 = Vs '_(—)_(o\(/i’,zll)al - i—l(gz:g(z)az:%(o, -1,1) .
: O1,02,03
p.=(1,1,1),p2=(-2,1,1),B==(0, - 1,1),
o = L1L1L e = _L’L’L e = 0, _L,L
3 3 3 6 6 6 2 2
2.
1.15 S, S \Y : a S.,b
S (a, b) =0, S S , S &; S & V=56
S, S S
1.24 S n \Y :
S ={ala v, b S, (a,b) = 0}
S , dim(S)+dm(S )=dm(V)=n.
a,B S, K, a+pB S kam S . S
V . Vi, V2, Wk S , V Vi, V2,
s Vi, ke 1,  , Vh . Schmidt &, &, &,
€+1, ,€ . Schmidt , 6,68, ,& Vi, Vo, W

, [e1,ez, ,e<] S. €, e, , B
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S , [e,&, ,&]=S. u S, u
= he + e + + e . vV [&+1, ,el], V= e+ + +
hn - k€n,
(u,v) = (he + he+ + ke, he«sr+ + hiowe) =0.
[&+1, ,e] S
V=la,e&, ,&, &+, ,&]=[ea,e, ,&]+[&+1, ,&a] S+S V.
S+S =V. u SnS, (uu=0, u=0. Sn S ={0},
1.2 V=S S S S , dim(S)+dim(S )=
dm(V)=n0O
3 R, |
S, S : I
; S I : S
M
7 S
a1 X1+ a; Xo + + anXn = 0,
Q1 X1+ an X2 + + a&nXn = 0,
ami X1 + amz X2 + + @mXn = 0.
: O1= (&, &2, ,ain),02=(az, &2, ,&n), ,0m
=(am1, am2, ,am) R"
(1) S n R" S=[a:i,02, ,0m] ;
(2) dm(S)=n-dm([ai,a2, ,0m]) .
X= (%, X2, ,X%), X R", X . X S,
(a.,x) =0,
(az,x) =0, (17)
(am,X) = 0.
(1.7) X [di,a2, ,d0am] , S [ai,0z2, ,am] . :
X [dai,02, ,dm] , X (1.7), X , X S, [aq,
oz, ,0m] S. [01,d2, ,0m] =S. 1.23 ,S R
, dm(S)+dm([ai,az2, ,am])=n. dm([a1,a2, ,0m])
1,02, ,Om R" : ai,d2, ,Om
\% : \ , V
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(1907—1981, , 1949

2000)

Xi .

A

1. A,B,C

(1) A B=B A;

(2) An B=Bn A;

(3) A =A, An = ?

(4) (A B) C=A (B C);

(5) (An B)n C= An (Bn C);
(6) (A B)n C=(An C) (Bn C);
(7) (AnB) C=(A Cn (B O);

2. A B, :An B=A,A B=B.
3. ( ) ?
A(1,-2,3);B(2,3,-4);C(2,-3,-4);D(-2,-3,1) .
4. 3 R, Po( X, Yo, %)
5. M(4, - 3,5) :
6. X ,lesisnXi,Xiﬂ Xi= ?i# j,i,]=1,2,
R: x,y X, XRy I {1,2, ,n}

R X

, N

X

Y

X
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7. S S S-S, B={(a,b)]ab S, f(a)=
f(b)}). :B S

8. u,v,ab,c =& u=a- b+2c,v= - a+3b-
C. a, b,c 2U- 3Vv.

9. , .

10. 3 R° , m=3i+5j+8k n=2i-4j-7k p
=51+ j- 4Kk, a=4m+3n-p X y

1. 3 R® a=(6,7, - 6)

2. 3 R° , a=3i-j-2k,b=i+2j-Kk,

(1) a b ax b;
(2) ( -2a) 3b ax 2b;

(3) a, b

13 . a,b,c R® , a+b+c=0, a b+
bc+tac.

14 . R’ a=(3,5,-2),b=(2,1,4), A

: Aa+pub z .

15. a,b,c R’ (ax b} c=2. [(a+b)x (b+
c)} (ct+a).

16 . R

(1) n(n= 1) :

(2) [0,1] , 3

(3) V [0,1] : f,g V, a
R, :

(f+ g)(x) =0, (af)(x) =0, "x [0,1].

(4) V={f(t)=a+ asint+ boos t+ asin2t+ bbcos2t+ + a,sin nt
+ bycos nt| &, &, b, &, b, ,a,b R}, 3

(5) V={f(t)=a+ asin t+ asin2t+ + a,9n nt| a, a1, &, , an
R}, 3 :

17 . n R" ?

() {(x,*x, ,X)|xx+x2+ + xn=0};

(2) { (X, X, , Xn)| X+ X2+ + Xq=1};

(3){(X11X21 ,Xn)lxlzO,X1X2=O,X1+X2=3X3};
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(4) {(X, %, ,X)|X+2x+ + nxa=0,x+ x:=0}.

18. &,a, ,an V n

(1) a,a, ,an : a,a, ,an-1 ;

(2) au,&, ,an-1 : ai, &, ,an ;

38) a,a, ,a , &,a, ,an 1 ;

(4) a,a&, ,an-1 , ai, &, ,an

19 . : a, &, ,a& a,a+ &, ,a
+ o + + ay ]

20 . &, &, ,o b, B, ,Dbn

21 . ; R , (1,1,0,0),(1,0,1,1)

(2,-1,3,3),(0,1, -1, -1)

22 . fi, f2, ,fn n V n , V

, f,f, ,fi V

23 . dim[ vi, ,Vm]< m, Vi,Vo, , Vm

24 . u, w \ Ua W, Wa U.

(1) \Y a, al] U,a] W ;

(2) U W Vv
5. U W V

(1) U \Y ;

(2) Un U ={0};
B)(U+wW) =U n W ;
(4) dmU+dimU =dimV .

26 .
Wi = {( X1, X2, %, %) RIX= %,% = x},
Wo = {( X1, X2, X, X4) Rlx=-%,%x=- xi}.
R'= WiG W: .
27 .

(1) (1,1,1),(0,1,1),(0,0,1),;

(2) (1,2,2, -1),(1,1, -5,3),(3,2,8, -7);

(3) (1,1, -1,2),(5,8, -2, -3),(3,9,3,8);

4) (2,1,3, -1),(7,4,3, -3),(1,1, -6,0),(5,7,7,8) .
28 . V R , U R
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u Vv ( V
u, U \Y )
29 . R V Vi, V2, , Vn
i {1,2, ,n}
[vil+ [w]+  +[wva]=[wi]+ +[vi-a] +[Viea] +  +[ W],
Vi, V2, ,Vn Vi :
30.vi,V2, ,Wu R Vv vz 0,i=1,
2, ,n.
(1) Vi, V2, ,VWn :
(2) i {1,2, ,n},
[vil + [ve]+  +[wal# [vi]+ +[via] +[vie]+  +[ W],
Vi n-1 [ Vi, v2, , W]
(3) V=[w]G [w]G G [va] . V [wvi],[v2], ,[Vn]
3. a,a, ,a b,bk, ,b \
, &, &, ,a, b,b, b
[ai, &, ,a&]n [b,b, ,k]={0}.
32 . u,Vv, W : :
(Un V)+ (Wn U) Un (V+ W) .
33 .01,02, ,0n n \%
a=a0:+ +ad,,pf=bhar+ + bo,
(0(,B)=Z1 kawbx . (a,B) \Y ?
B
1. a, &, & a, a, a (M) a
&, & 1 (2) au a, &, a
2. &, &, ,an : ; at+t o, xta, ,
ah-1t an,an t+ a, n , n
3.U,W \Y Uz W.
(1) a V\ W H={a+blb W} Vv ,
(2) dm(U)=dim(V) , \Y P V=WG P= UG P.
4 . U, w V : U+ W=U W



52

u w W U.
5. G,H,K :
(1) Gn (Gn H+ K)=Gn H+ Gn K;
(2) (G+ Hn (G+ K)=G+(G+ H)n K.

6. U, W Vv .
dim(U+ W) = dmU + dimW - dm(Un W) .
7. U, W Vv

dm(U+ W) = dm(Un W)+ 1.
U W W UuU.
8. {ea,e, ,&} \  W=[a, &, a],

a-e-6,a-ea-etaa,a=2ate+ .

9. S,S, |, S R n Vv
: a V, i=1,2, ,m,a] S.
10 . P[ x]s( 3 )
f(x),9(x) Pl
(F(x),9(x))  F(0) g(xdx,

(F(x), 9(x)) . PLx]s



R .Descartes(1596—1650) : 1637

G W .Lebniz (1646—1716) 1694 .18 : A .

Clairaut(1713—1765) L .Euler (1707—1783) 3 :
Clairaut ,
1731 .G .Monge

(1746—1818)

{O;1,], K} ), O
1, K ; :
3 R’
2.1 S (X,y, z)
F(X!y1 Z)zo, (X’y! Z) F(X’y’ Z):O ’

1.1



M Mo( Xo, Yo, 2) : M
Mo I )
Mo n . {O;1, ), k},
n (A, B,C), Mo( Xo, Yo, 2o) M , M(X,y, 2)
M , , M( X,Y, 2 M
Mo M MoM=(X- Xo,¥Y- Yo,Z2- Z)

@) y
1
. n Mo M=0,
{O;i,j, Kk} :
A(X- %)+ B(y- o)+ C(z- ) =0. (2 1)
M (2 1); (2 1) M
, : (2 1) M ,
M , ,
1 (5, - 3,0) n=(0, -2,2)
(21) ,
O(x -5)-2(y+3)+2z=0, y-z+3=0.
2 M:(1,2,3) M2(3,4,6) Ms(4,3,3)

M: M2 =(2,2,3) Mi: Ms=(3,1,0)
nN= MiMzx MiMs = - 3i+9j - 4k
(2 1),
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-3(x-1)+9(y-2)-42z-3) =0, -3x+9y-4z= 3.
3 X,V, Z P(a, 0,0), Q(0, b,0), R(0,0, ¢

( 2), ( a, b,c ) .
PQ=(- a, b0), PR=(- a0,c)
?QXW?zbci+acj+abk

, P : (21 ,

bc(x - a) + acy+ abz= 0.

a, b,c :
X, Y, Z_y
a b C
a, b,c X, Y, Z
2
2.
(2 1) ,
Ax+ By+ Cz+ D = 0, (2 2)
Xo, Yo, 2o,
Ao+ Byo+ Cz + D= 0. (2 3)
(22) (23
A(X - %)+ B(y- yw)+ C(z- ) =0. (2 4)
(2 1) , (2 4) Mo ( X, Yo, Zo) n=(A, B, C)

(2 .2)
, A, B, C ., n=(A,B,C)
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4 Mi(2, -1,4),M(-1,3, -2) Mi: -2x+3y- z
=0
n= (A, B, C). M: M, =
(-3,4,-6) : n
E , M, mn=(-2,3,-1) n
nN= MiM.x n, = 141+ 9j - k.
(2.1) 14(x-2)+9(y+1) - (z-
4) =0,
14x+9y - z-15=0.
5 y (8,3, - 2)
M
Ax+ By+ Cz+ D=20. (2 5)
y n=(A,B,C) y
O=n j=(Ai+Bj+ Ck):- j=B
y : D=0. AX +
Cz=0. (8,3,2) : x=8,y=3,z= -2 AX +
Cz=0, 8A-2C=0, C=4A, Ax+4Az=0. Az0 :
Xx+4z=0.
3.
( ) ( 3)
Mi: Atx+ Biy+ Cz+ D; = 0,
M2: Ao x+ Boy+ Gz+ D, = 0,
it,
3
M, n=(A,B, C), M2 n=(A,B,C),
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| AL A, + BiB, + G G|

cos® = S, . . . : (2 6)
AL+ B +C A+B+G
(26) ,M M2 ArAc+ BB+ C: G =0; T
M, N e , (A, B, G) =k(A2, B, &),
A B G
A B G
6 2X-2y+4x-7=0,6x+3y+3z-15=0 0 .
(2 6)
o5 = |l2x 6+ (-2)x 3+4x 3| 1
2+ (-2°+4 6+33+3 2
_IL
: 9—3.
7 Po( Xo, Yo, Z) MN: Ax+ By+ Cz+ D=0 : Po
d.
Ml(xl,yl,zl),n=(A,B,C) M
, 4 ,d=[Pn M Po| . @ n ,
d= |Prjn MiPl = | M Py el
e = Tal = T (A:B.0). nl= A+EeC
MiPo = (Xo - X1, Y - V1,2 - Z),
d=M%W%HThMUWXQ+Mw-m+qh—AH
:ﬁlAXO'F Byo + Czo - (Ax1 + Byr + CZl)l.
Axi+ By1 + Cza+ D=0,
| Ao + Byo + Czo+ DI | Axo + By, + Cz + DI
d= |Prjn|\/|1Po|= : ylol & = : 2)/0 5 202 .
n A"+ B+ C
(2 7)
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: (3,1,0) X+y-2z+1=0 : (2.7),
d:1x3+1x1-2x0+1=i
1+ 1%+ (-2)° 6
1.2
1.
L , Mo (Xo, Yo, %) L , L S
=(m,n,p). M(Xx,vy, 2 L
MoM = (X- Xo,Y- W,Z- %)
L S ( 5. Mo M S
MoM:tS,
A
L
M, M
/s/
@) y
X
5
t ,
(X - Xo,¥Y- Y,2- 2Z) = t(m,n,p) = (tm, tn, tp), (2 8)
X- Xo=1tm, Y- VYo=1tn,z- z = tp,
] mynyp ]
X - X - Z- 2
R . (2 9)
m n p
(2 9) (2 8)
X = Xo+ mt,
y = Yo+ nt, (2 10)
z= 20+ pt,
t : : (2 10)

(2 10) , t=0 |, X=Xo,Y=VYo, Z= 2 :
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Mo ( Xo, Yo, Z0) . t>0 t : M(X,Y, z) S
=(m,n, p) Mo ; t<0 | t] , M( X, Y,
z) s=(m,n,p) Mo ( 6).

o
L
s M
M,
/0 y

6
( )
8 (1, - 2,1) 3X+2y+4z+4=0
H (312’4)
(29
x-1_ Y+2 7.1
3 2 4 -
2.
(2 9) , mzO0 ,(29)
X - Xo Y- ¥
m n '
X - Xo  Z- 2
m P
zZ ) y )
: L
M. I ( 7). M. I
Aix+ Biy+ Ciz+ D: =0 Ao x+ Boy+ C,z+ D, = 0,
A1 Bl Cl
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A. B
Aix+ Biy+ G z+ D, = 0,
(2 11)
Aox+ Boy+ Cz+ D2 = 0.
z
/0 y
X
.
(2 11)
X= Mmz+ Xo,Y= NZ+ Yo,2= Z.
z=t, M M2
X= mt+ X,
y= nt+ yo,
z=1t+0.
My P
(2 11) L : (2 11) :
L , L (2 11)
L .
9 L
Aix+ Biy+ CGz+ D1 = 0, (M)
Ao x+ Bby+ Gz+ D, = 0, (M2)
( )
M
Ax+ By+ Cz+ D= 0.
My, M 1 : L,
(A,B,C),(A,B,C),(A,B, ) : M. >
., (A, B, CG), (A, B, &) : 1.18 (A,B,C) =

Ki(A1,B:1, C) + k(A,B,C), ki, ko : L
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(x,y,2)
Airx+ Biy+ CGz+ D1 = 0, (1)
Ao x+ Bby+ Gz+ D, = 0, (2)
Ax + By+ Cz+ D=20. (3)
(3) - ki(1) - kk(2) O0=D- kiDy - kD2, D=k D:+ kD5 . (A,

B,C)=ki(A,B,C)+k(A,B,C),
Ax+ By+ Cz+ D=ki(Aix+ Biy+ Ciz+ D)
+ k(A2x+ B:y+ C.z+ D2) = 0,

ki, ke
10
X+y+ z+1=0,
X-y+3z+4=0.
Z t , :
X+y=-1t-1, X=-2t-512,
X -y=-23t-4, y=1+37%,
zZ= t z =t
X+52/=t
-2 !
y - Zzt Xx+52_ y-327_ 2z
1 ’ -2 1 1
3.
L L I [0) L M
L 0 ,L 1 , L T “E
M. Ax+ By+ Cz+ D =0, L
X- X _ Y=Y _ Z-2%
m n p
s=(m,n,p) n= (A, B, C) T[E

¢ S+e( 8).

sing = lcos n,s | = | Am+ Bn+ Cpl . (2 12)

2 2 2 2 2 2
A+ B+ C m+ n + p
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8
(2 12) L M , .
1 M X+ y+ z=0, L 2x-1=2y-2
=z- 3, L M ()]
M (1,1,1), L (1,1,2),
: _ 1+ 1+ 2 __4 _ _4 2 2
sn@ = = = ,
"+1°+1° 1°+1°+ 7 36 32 3
—arcsin_2 2
¢ = 3
2.1
: (1)
! ’(2) ’ . '
1 Mo ( Xo, Yo, Zo), R
M(X,Y, 2) | Mo M| = R,
R=IMMI= (x-x)+(y-w +(z- 2),
(x- %)+ (y-w) +(z- 2)=FR. (2 13)
(2 13) Mo ( Xo, Yo, Z0) R

) ( 1)’ X():yo:ZO:O,
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X+ y+7=FR.

2 A(2,1,0) B(3, -1,2), A B
M( X,Y, 2) , | AM| = | BM]|,
(x -2+ (y-1)+2Z = (x-3)+(y+1)°+(z-2".
2X-4y+4z-9=0.
(2 2) : :
3 x2+y2+zz+Dx+Ey+Fz+G:O : D, E, F,

0= x° + y2+ Z + Dx+ Ey+ Fz+ G
= (x+ DA+ (y+ EN°+(z+ F2H°+ G- (D'+ E + F) 4.
(X+ DD°+ (y+ E2B°+(z+ F2h’ = (D'+ E+ F)4- G

(D°+E + F) 4- G>0
, (D’+E'+F) 4-G

2.2

, (-D2 -E2Z -F2)
(D’+ EE+ F)4- G=0

(-DZ2-EZ -F2 . (D°+E+F) #- G<0

f(y,z) =0, C z



C Mi1(0, yi,z2) z M(X,Y, 2) . : M z
zn, M z d | y:1,
2=z |ynl=d= X+y(n=t X+Yy). (2 14)
Ml(O, y1,21) C , f(y1,21)=0. (2 14),
fe X+ y,2)=0. (2 15)
; yOz C vy
f(y, X + zz):O.
.
: a(0<a< 2)
( 3).
Z‘ Z\
/"'—,
~— |/
- /
| AL/
N
Ill// 0 5
— —Iji\ \\
Ao v ? \
\
\L_/——-/
X
2 3
_ T
4 O, z |, a="7
yOz L z=ycot a, z ,
(2 15), z = ycot o y + X+ Y,
z=+% x2+yzcot% Z = X+ y.
2
5 x0Oz L2=—Z Z
a C
(2 15), + v
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F(X,y) =
F(x,y) =0

/] w,yko

z
X+y  z
a2 Cc
2.3
F(x,y,z)=0
? F(x,y)=0.
X,y F(x,y) =0,
6 X¥+y =R
xQy : X + y2 = R
c, C Mo( X, y,0),
x° + yZ: R Z, L
M : z L
, ( 4).
L C
; C : L
0, z xQy
C( 5) G(x,z)=0 H(y, z) =0
X
I )
N x*+y*=R?
18
1|
L~ 0L ~\| M, O
<, i
4//,-}—\\ /x/ !
\4_/
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2.4
y = -1), ( X +y=0) (
( X2:l) ( xz-y:())
1) X2 lz
(1) PERRCRE
2
X
(2) ;-Abéﬂ;
(3) ay= x°
! (
, xQOy
y4
a, b, c
1.
X Y, Z_
2+ 2+ 2_11
a b C
(+ a,0,0), (0, +
+ C) . X, Y, Z
,a, b, c : (2 .16)
X,Y, Z (2 16), + X,t y,x 2z
(2 16),
Z
X Vv
22+ 22=11
Zo Zo
a 1-— b 1-—
C C

(2 16)

b,0), (0,0,

X, Y, Z
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, |z|>c
1 |ZO|=C ]
O< || <c :
) a b.
a=b :
6
3
2.
(1)
2 2
<. Y Z_
a2+ bz- Cz—l (2 17)
Z= 2 ,
2 2
X 2+ y 2:1’
% z
a 1+ — L
2 b 1+C2
Z= 2.
| | O : a, b
X= Xo , | X]|<a ,
y2 7 3
22_ 22_11
Xo Xo
b 1-— c 1-—
a a
X = X .
|Xo| 0 a, b C
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Yy Z_
bz-CZ_Ov
| x|]= a.
, | X]|>a |,
X X
c L -1 b — -1
a a
|Xo| a )
y=Yo 7
a=b , :
(2)
Z2 L2 X2
-5 - -5 =1 2 18
C2 b2 a2 ( )
ZJ z
el
1
|/
/
O y
X
7 8
zZ= 2 , lz|l<c , lol=c
(0,0,c¢ (0,0,-0¢; |z]|>c Z= 2
, | z] ¢ , X = Xo
, | o O : c b
Y= Yo ; 8 a=b
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2

§+é-§=o (2 19)

, Z= 2

, lz| O , 0 . X =

Xo , | x|=0 ;| X|# 0
, | X]| O , 0 . Y= Yo X = Xo
. a=b : 3
(2 19) (2.17) (2 .18) . z=»
, : 2= o
, D ,
(2 19) (2 17) (2 18)
4.
(1)
2
§+é=z (2 20)
, YOz zOx , Z ,
2= 2 , <0 ,z2=12 ; z
=0 , : >0 :
y4 , 20 0 , 0
X=Xo Y=Y ’ 1 z
. 9 a=b
(2)
2
§- é = 2, (2 21)
, yOz , zOXx z ; Z= 7

, 2 0, y
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X= Xo( Y= Yo) : : yOz( zOx)
() : 10

9 10
3.1
C
Fi(x,y,z) =0 Fo(x,y,z) =0
( D), M(X,VY, 2) C M
Fi(Xx,y,2) =0,
(2 22)
F.(x,y,2z) =0.
(2 22) C
1
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Z)

@) y
1
O, a
: z (a2,0)
az : (a,0,0) (0,0, a)
( 2).
3.2
t
x = x(t),
y = y(t), (2 23)
z= 2z(1).
t [a,Db, C
t a b, Me(x(t), y(t), z(t))
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2 M Mo(a,0,0) ’ w z
, \ z M
t t=0 Mo( a,0,0) . t
Mo M(x,y,2)( 3).M xOy Mz, X
OM;, 0 = wt, M: M= vtk, k z ,

OM = OM:1 + M1 M = jacos wt + jasn wt + kvt .

OM = xi+ yj + Z,

X = acos wt,

y = asn wt,

z= vt

: x2+y2=a2 T=2t1d M
M: , M : M z H
=2tvd,
3.3
C
Fi(x,y,2) =0,
(2 24)
F2(x,y,2) =0.
(2 24) z
G(x,y) =0. (2 25)
, (2 25) z ,
A . M(X,Y, 2 (224 , M X,y
(2 25), C A : C
Z C xOy : A
xQOy C xOy
: A xOy :
G(x,y) =0,
7z =

C xOy : : C yOz zOx
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X + 7 =1,
71 (2 26)
xQy :
(2 26) z, A
X2 ) yz =0,
(2.26) A  xOy
X - y2 =0,
zZ =
C xOy
o aso. UxiED
1. (1,1,-1),(-2,-2,2) (1, -1,2 :
2. (1,0, - 1) a=(2,1,1) b=(1,-1,0),
3. :
(1) x0z (2, -5,3);
(2) z (-3,1, -2);
(3) X (4,0, -2) (5,1,7) .
4 . Mo(2,9, - 6) O Mo OMy
5. ;
(1) x=0; (2) 3y-1=0;
(3) 2x-3y-6=0; (4) x- 3y=0;
(5) y+ z=1; (6) x-2z=0;
(7) 6x+5y- z=0.
6 . X+3y+z=1,2x-y- z=0, - x+2y+2z=3
7. :
2 2 2
(1) x_+3./ + 7 =9,
y=X
2 2 2
2) (x-1)"+y +(z+1) =4,

z=0.
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8 . (1,2,1) X+2y+2z-10=0
9. (4, -1,3) X23=y= 251
10 . (3,-2,1) (-1,0,2)
11 .
x+y+3z=0,
X-y-2z2=0,
X-y-2z+1=0
12 .
X =1,
y= -1+t x-ll-lzv-zl-zzzil
z= 2+t
13 . 2x-2y+z+5=0
14 .
2x -4y+ z=0,
3x-y-2z-9=0,
4x-y+z=1 :
15 . z=4- X -y P 2x+2y+ z-1
0, P
16 | x-1:v-2:z-3 x+2:v-1:_z
1 0 -1 2 1 1
17 . Xilzfzz__ll X-y+2z-1=0
18 . (-1,2,0 X+2y-z+1=0
19 . (3, -1,2)
XxX+y-2z+1=0,
2X - y+ z-4=0,
20 . X +y+ 7 -2x+4y+22=0 ?
21 . x0z Z =5x X :

2

22 . xQy 4x2-9y =36 X y :
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23 .

24 .

xOy

2 2
X +y -ax=0



1.1

J J .Sylvester(1814—1897) 1850
1850 A Cayley(1821—1895) : :

1 D E , .
E , 0.25 0.20 :
, 0.15 0.25 . D E
: 0.65 ; :
0.05 : 0.05 0.15 . D E
, 0.55 , 0.10
D E 1 2
1: D 2. E
0 00 0 65 0 55 0 .00 0 65 0 55
0 25 0 05 0 .10 0 .20 0 05 0 .10
0 .15 0 05 0 0 .25 0 .15 0
D ( ) P. P,
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3 4
P, P, P, P,
15 30 G Ca
20 25 G C2
30 20 Cig Cx
1 3 : 4 G 1 3
P
C=025%x 30+ 005%x 25+ 0 10x 20 = 10 .75,
(0 25,0 05,0 10) (30,25,20) 3 R
4 1 3 ,
1 : 3
k (I 3 k (
3.1 mx n a(i=1,2, ,mj=1,2, ,n) m
ay ay n
A =
Am1 Amn
n , A=(a;)) A=(3a;)mxn m=n A
, A R : ,
A F : A.l
R
: 1,2,3,4
0 065 055 0 065 055
A= 025 005 01 ,B= 020 005 0.10 ,
015 005 O 025 0.5 0
15 30
C= 20 25 ,D = (Gj)x2 -
30 20

A:(ajj)mxn B:(bj)IXK



A=B m=1I|,n=k,a =»0(i=1,2, ,m;j=1,2, ,n), A
3.2 A=(a)mxn B=(b)ix«
(1) A : AA= A =(Aaj) mx n, A A
(2) m= 1, n= Kk, A+ B=(a;+byj)m . A
(3) n=1, AB = Zl abg A B
A B 1x 1 : A B
: A B LA+ B
A B , AB
1, D E
( )
0 6 500 5500 0 6 500 5 500
10 000A = 2500 500 1000 ,10000B= 2000 500 1000
1500 500 0 2 500 1 500 0
D E
0 6 500 5 500
%x 10 000(A+ B) = 2250 500 1000
2 000 1 000 0
D ( ) P: P>
0 065 05 15 30 29 5 27 25
D= (Gj)sx2= AC= 02 005 021 20 25 = 775 10.75
015 005 0 30 20 325 5.75
2.
3.1 A=(aj)m n, B=(Bj)mn, C=(Gj)mx n,
(1) A+ B=B+ A;
(2) A+ (B+C)=(A+B) +C;
(3) O+ A=A, O=(0j)mxn,0;=0,1=1,2, , m,j=1,
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(4) A+ (-1)A=0O.
(-HA A : (-1)A - A.
3.2 A U R A:(aij)mx n,B:(hj)mxn,

(1) (A +p) A=AA+PA;

(2) A\(A+ B) =AA +AB;

(3) A(MA) =(Au) A;

(4) 1A=A,(-1)A= - A;

(5) AA=0 A=0 A=0.
3.1,3.2

3.3 A=(aj)m<1,B=(bj)ix«x, C=(Gj)kx n, D=(dij) ix «,

(1) A(B+D)=AB+ AD,(B+ D) C=BC+ DC;
(2) A(BC)=(AB)C.
(1) :
(2). ABC)=T=(tj)mxn,(AB)C=S=(Sj)mxn, BC=V
=(Vij)ix n, AB= U= (Uj) mx «,

| k
Uj = Zl arby, vy = Zl biscy -

k k

k | |
I I

’ ok
tj = Zl Qi Vij = Zl anzl brsCs = Zl Zl airbrsCy
Si=1i,S=T. (2) : :
C ABC O
(" A,B,C n , 3.3 (1) (2)
M(R)mwn={A= (a&)wn| & R}

A 1)
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3
>
I

B, AB BA

B
Az O

BA

B.
Bz O, AB
1
-1

0
= , Oij
0 0 0 1
| In, E.
Z dikdqj ., = (aj)mn
=1
Z ailékj ™ o (aij)mxn
=1
3.1,3.3
) A, B AB
1 2
A = , B =
1 3
= BA =
4
V4 - 12 3
= , B =
-4 7 0
7 -12 3 O 3 21
-4 7 0O 3 - 12
3 0 V4 - 12 3 21
0O 3 -4 7 - 12
1 -1 1 3 0O O
-1 1 -1 0

, BA

21

21
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o

i

0
Ds4

&, O

a1

bs,

bs,

P

!
: AB= AC,

O

A%

0

AAA .

01 0 010 01O
0 01 001 0 01
O 00 00O O OO

= 0.

AAA =

0

2

1
3

-1 1
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1 3
A= 2 -1
0 1
A=AT, A
1 5 6 k 0 0
52 7, 0 k 0,
6 7 3 0 0 kK
3.4 ,
(1) (A) = A;
(2) (A+B)'=A"+B";
(3) (AA) =AAT;
(4) (AB)' =B" A" .
(1) (3 : (4) . A=(a)m«s B=
(b)) n, AB=C=(C)mxn,B"'A"=D=(dj)nx m, G = Z akba .
B' i (b, by, b)), A i (e, .8,

d; = Z biak = Z kb .
di=gi(i=1,2, ,n j=1,2, ,m), D=C',
(AB)' = B'A" O

4
1 -1
2 0 -1
= , B= 4 2 ,
1 3 2
2 0 1
(AB)' .
1
1 7 -1
2 0 -1 0 14 -3
AB = 4 2 3 = ,
1 3 2 17 13 10
2 0 1
0 17

(AB)' = 14 13
-3 10



1 4 2 2 1 0 17
(ABY) =B'A'= 7 2 0 0 3= 14 13
-1 31 -1 2 -3 10
2.1
1.
d;; S A1z g
A= 1 Sy Az s
Az; g dzz s
A
d;; Qo | A1z g
A A
(1) A= @ @ | 3 & = ,
Az Az
A1 dg2 | A3 Ogy
ai1 ai2 ais Ais
Al = , Az = ,
az1 2 23 g

Acx= (881 @s2), Acx=(ass @&a) .
adi1 12 dis g
(2) A= @ | @2 | a3 | & =(A1 A2 A As),
Az | @2 ! A ! &

ai
Ai @i , 1=1,2,3,4.
a3



ain &z Az A A
(3) A= axn @& as as = A,
Q1 Bs2 A3 Baa As
A=(a: a as a4),]=1,2,3.
2.
(1)
A=(aj)men, B=(b)mn A B
A A Ais
po Am Az Ass B
Ar A Ars
Aij Bij,(i=1,2, ,r,j=1,2,
B
A1 + Bix Az + B2
A+ B = Aci + Bar Az + Ba
A1+ Bin A+ B
(2)
k A, k A
kKA1 kA
A = kA2 kAo,
kA1 KkAr
(3)
AL Ay
AT - AL, A
Ais A
(4)
A B

A:(aij)mx ny B:(hj)nx P

Bll
B2:

Brl

kAl S
kAZ s

KA:s

B2
BZZ

Br2
Als + Bls
AZS + BZs

Ais + Brs

Bls
BZs

BI'S
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Ny Ny Ns pl pZ pt

Az A Ais M Bz Bua Bit m

Ao Az Azs My B.: B B
A = , B = ,

Arl Ar2 Ars my le Bsz Bst Ns

m + e + + m = m,
N+ nk+ + Ns = N,

pr + P2 + + pc=p.

, , A B
mi, e, , Mr, N1, N2, ,Ns A B
n11n21 1n51p11p21 1pt A B
, A rx s , B
S . , A B C
P1 P2 P
Cua Ci2 Cit m
Ca  Ca2 Ct me
C =
Cn Cr Ct m
Chwk = At Bik + An2 Bok + +AhsBsk(h:1,2, ,rk=1,2, ,t) .
, A B :
, Ani Bik )
MhX Pk (i=1,2, ,9, , Chk MhX Pk
, , AB
, A B
3.
1
1 010
1 2
0O 1|0 | O B.
A = = , B= 3 4 =
1 2|1 A Axn - B:
5 6
0O 1°0

AB .
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| O B: IB, + OB; B:
AB= A Ax B - A B + Ax B - Az B + A B
o Bt fos B = +1(5 6)=7 1o+5 6 12 16
0 3 4 0 0 3 4
1 2
B: 3 4
AB = A1 B+ A B - 12 16
3 4
2 A=(a;)m<n,B=(bj)nx1, C=(G)ix m . AB, CA .
A,B
a1 | aw & n El Bi1
Q1 | 2 &n _ (An A An). 021 _ B21
ami | amz Amn bh1 B
a1 Qs & n
AB= AuBu+ AuBa+  +AmBu= D bt 2 b+ o+ o
am1 Ama Qmn
B , A n n m :
A, ,A.. R", AB n m
AB = Db A + by Az + + bni Ain .
A C
&1 & & n A1
1 &n Az1
amn1  Am amn Am1
(cul |l lam)=(Ci Cun Cim) .
CA = Cuii Aur + Ci2 Aa + + CimAm
=ci (@, &2, , &, t + Cm(@n, @n2,  , @) -
B , A m m n )

All ’
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CA = c;Air + G, Ar + + C nAm .

2 1
(aij)mxn,Bz(hj)nxl. A B . A
, AB :
b oP: by
By | b2z b,
AB = A = A(Bux B
(YR I o o
= (ABu1 ABw AB.) .
, AB i AB.i, 1=1,2, ,I. 2
n m a.,02, ,0,, AB i
Yi = bhai+ bo+  + ban,
AB , A 1,02,
, AB , B
2 2
) ,
1.
3.3 , (
(1) k ();
(2) () k )iz,
(3) i, (
I O . ,
(1) — k

Bii)

,an

( Gauss
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1 0
W
E(kr) = E(kg) = K oo
W
0 1
G
(2) — i K iz,
j k iz,
1 0
W
1 o
E(c + kg) = E(r; + kri) = e W ;
k 1 < 0
W
0 1
G G
(3) — i) ] ()
1
W
0 1 o
E(r\ ) = E(g\ ) = LW
1 0 < T
W
1
G G
3 A= (&) 4, A
1 0 0 & & a3 s Ay, a2 Qs A4
E(kr2) A= 0 k 0 @y & & & = ka, ka, ka; Kka,
O 0 1

dz; dgp A3z 4 as1 A3 a3 Az,
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€m

d;; S Az i k 000 Ky, @&, &3 @
O 1 0 O
AE(kc) = Qa1 S Qs Sy = k& @ & A
O 01 O
d3; T3 Qg3 gy 0 0 0 1 Kag, @, @ ag
1 0 O
E(rs+ krn) A= 0 1 0 A
k 0 1
a1 ;o a3 A4
= A1 oo A3 A4
ag + ka,;, @&, + ka, a;+ ka; a, + ka,
1 0 0 O
apn + Koy, @&, a3 aw
0O 1 0 O
AE(ca + ka) = A = @t Ky & A @y
O 0 1 O
K 0 0 1 ag + kagy 83, Az am
1000 ;. Sy X3z Ao
0O 0 0 1
AE(c\ ¢) = A = Q1 Sy Gz S
0O 0 1 0
a: a: a: a:
010 0 31 34 53 32
3.1 A mx n A ,
A, A;
A , A,
A .
* ’ Im
y In L]
€1
€2
Im = y In - (fl f2 fn) .
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€
e
E(I‘j+ kri)= ,E(q+ kQ)z (f]_ f| fj+ kf, fn)
g + le
€m
e A
e A
E(I‘j+kl’i)A: ,
gA+ ke A
emA
AE(G + ko) = (Af Af Af, + KAT, Af,) .
: g A A k ,Af A i ,k=1,2, ,m, j=1,2,
n. , ECryp+ kri) A A [ Kk J
AE(c + kc) A i k ] O
2.
4
1 1 0 1
A= 1 2 1 2
2 3 1 3
P, P2, , P, Ql, Qz, , Qs P1 P PIAQl Qz Qs:
u, U
1 1 0 1 1 1 0 1 1 1 0 1
rp,+(-1)n rs+ (- 2)rn
A= 1 2 1 2 0O 1 1 1 0O 1 1 1
3 1 3 2 3 1 3 01 1 1
1 0 O 1 0 0 O
G+ (-1)g Gg+(-1)c
0O 1 1 01 1 1
0O 1 1 01 1 1
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1 0 0 O 1 0 0 O

rs+ (- 1)r, G+ (-1)g
0O 1 1 1 0O 1 0 O

G+ (-1)o
O 0 0O O 0 0 O

E(r-1rn)E(rs-2rn)E(r-1n)AE(c-1a)E(a -1a)E(e-1¢)E(a - 16)

1 0 0 O L O
= 0 1 0 0 =
O 0 0O © 0
A=(aj)mx n,
3.2 A mx n : m P, P2, , P
n Qi, @, ,Q«
Il O
PPr-1 P1AQi Q. Qk = 00 ..

r< mn{ m, n} .
) A=0, r=0, . A=(a;))z O. a,20. 1

u 1 v » Quy ,

Pr = E(ri\ r), Q@ = E(ca\ ¢)

a'UV
P1AQ: = E(r\ ry) AE(c\ ¢)= A1 = w
As
Auv
duv A1z
A = =
W : Acs Az
awvz 0,
A0 O aw Az 1 -ajA: 1 0
- a_;J\llA21 ln.: A Az O .4 0 Asw - alj\:tA21 Aiz
-1 o1
Auy O 1 - ay A2

-1
- Ay Ao lm-1 O In-1
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Im, In :

Pl, PZ; 1PW;Q11 Q21 1Qq

1 @)
P. P,P.A = _
= Ql Q2 Qq O Axn - au\l,Azl A1
Av - a1 Az O 1, . As - ay, Az A =
B,Bz O 1, B , m
P, P, ,P n Qi, @, ,0On
Il O
P PoPLAQi1 Q. Qn = O
O O mx n
’ ’ 3-2 ’ ’
n
? . N n
: n
3.1
1.
a-ll X1 + a-lZ X2 = bls (3 1)
A X+ 3, Xe = b (3 2)
, a7 0, (3.2) (3.1) Ay #y
B _ Q21
&2 - a a, X = b allbl ,
o1
&y -~ anp* 0, X2, X2 (3.1) X1,
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by o - b, a2
X1 = ’
A dy - dyp Ap2
a, b - ayb
Xo = .
Ay &y - Ay Ay
A= (aj)2x 2
A 2% 2 : )
dp Ao
D = = Qg Ay A oy
D1
D# 0
bl a12 all bl
b, & &1 b
X1 = ) X2 =
di; Qoo di1 Ayo
dy1 o 1 o
A= ( a;j )3x 3,
A1 A A3
D=|a & o
g1 gy g3
= Apdgyt Ap Bz t A3 Ay &y - A3 gy - Qyp g gz - A oz Ao
&2 3 &1 s &1 &2
1+1 1+2 1+3
=(-1) ay +(-1) a + (- 1)  ags
&> b3 31 3 g1 k3
(3 3)
Q1 X1+ A Xe + a3 Xs = by,
Q1 X1+ Ay X+ B3 Xz = by,
Gg1 X1 + 8z Xo + 8g3 X3 = b,
b &, s a;, b as &, &y b
Xlzlbz A azs,Xzzlau bzazs,)QZLazl By b
D D D
by @&, as; a; by ass 1 &y b

w

~
N

(n-1)
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n , n n
? , n
3.4 n A=(a&j)mn, A n
&1 A ay n
5= Q1 & Q& n |
dm  Gn2 Ann
A(ay),det(A) | A], . n=1 lal = a(
| al a : ); , n -
1 : n (n=2)

A(alj) = an Mll - a2 M12 + + (_ 1)1+ nalann - z ali(_ 1)1+iM1i’

=1

(3 4)
My n A(a;) 1 J n-1
! n-1 n-1 1M1j alj
, A:(aij)nx n D , aj, D
| J n-1 a; , Mij,
(-1)"" ™y a;
(3.4) Y
Aij, (3.4)
A(aj) = a1 A+ ax A+ + arnAin = Z aiAi . (3 5)
-1
; 3.4 : A
1 3.4, 3
1 0 -1
A(a;)) =10 2 1
1 1
3.4,

A(a;) = &g M1 - a2 M1z + &3 Mas

2 1 0 0O 2

=1x - 0Ox + (- 1) x
1 1 1 1 1
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1 11" 1 1" |1 1’
3.4,
0 1
=2x |1] -1|1| =1, =0x |1]|-1x |1|= -1,
1 1 1 1
0O 2
=0x |1]-2%x |1]= -2.
1 1
A 1 2 l‘ 0 01 1 0 2‘ 1x 1 1 2 3
) = 1% - Ox + ( - X =1x 1+ ( - x ( - =3.
(&) 11 11 (-1) (-1)x (-2)
(3.4) , 3.4 n ,
1 ] ] 3-4
( 1.3 ) . ,
”?
2 ( )
&y, 0 0 0
d1 2 0 0
A(aij): A By g3 0
anl anz an3 ann

alj:olj:2731 , N,
A(alj) = a1 Mll - 2 M12 + + (' 1)1+nalnM1n = an; Mll . (3 6)

Mi1 = @2( Miz)i1 - @s( Mu)iz+  + (- 1) "an( Min)in- 1= a( M11)1,
(Mi11)4; Mus 1 | n-2 :
Mu1 1 j . Mu  (3.6)
A(aj) = a1 M1 = &g 8, (M) .

: A(aj) = a1 @& & -

, , (1.3) (1.4)
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2.
(Mi1i)1k
k n-2
3 X
s i | g,
[Gaedl =5 5 1
34
a1 & & au
Q1 A Az Oy
A(a;) = = &
81 Q2 Qs das
1 Az a3z Qg
Q1 By By
a;, | Be1 dAzs 34|+ a;
Q1 Az g
3.4,
31 as 81 @3
= (Mu4)13,
1 A 1 Qs
3, ass 8, s
e as| (M)u, &2
A(a))
(Mu)is (3.7)
y ( M1a) 13 &3
Az g - Qg Sz =
Q14 Bop - Bup Bps =

A 19, 20 .
A(a) Mzii 1
& i i+ kb1+2
(-1) (Mii)ik .
A
Sy oz g
B, Az Q| -
Ayp 3z
- Ay
(3.7)
dg;  QAag
= ( Mua)12, = ( Mi3)i2,
Aq1  Qug
dgz  QAay
= (M13)111 = (M12)11 .
Ay3  Aug
A (&)
( )
Ay - Ay Q3
A3 S 1+3+4
(- 1) ,
Qo3 oy
a12 al4 1+2+4
(- 1) :
Qo Oy
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Q2 Q3 1+2+2
A1z doz - Q4o Aoz = (-1) ,
o o3
Q1 g s
Aig Aoy - Ay By = ('1)114,
D1 oy
A1 i3 s
A1z - A B3z = ('1)113,
S s
Q1 Qo s
Ay G - Qo Dy = (- 1)1 a
1 S
N B« i i+ k+1
A(a;) = -1 My )
(&) ZZ Zl a @ (-1) ( M1i)1x
3 , )
) .n
n i-1
i+ k
A(a) = a, . - a (-1 M i
(au) Zz Zl( 1 D 1ka2|)( ) ( 1 )1k
A A « A i i+ k+1
22 Z (- 1) (Mli)lk;
= =1 | ok
(3_8) ,(-1)i+k+1(M1i)1k:(-1)i+ k+1+2(M1i)1k;
(Mui)ik A( &)
A A
Dk X
n-2 , (M)
CC-1 T ML) 1
3.3 n A(a;) ,  A(a)
3.3 , (3.8) B.1.
3.2
y A(aij) Mli,(Mli)lk

3.3.

(3 8)

k< i,

A(by)

Mii, ( M1i)ax, AMii, ( AM:1i)ix  BMii, (BM1i)1k .
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3.4 , _
A(a) n (n=22). A(a) i i+1 (i=
1,2, ,n-1) A(bj) . n . nh=2
(3.4)
A(aj) = a1 @ - anndr; A(b)) = bbb - bhy .
A(a) i i+1 ( 1 2 ) A (b)),

Py = &1, by = &, by = &, Dy = ap

A(hj) = buby - b2 = Az, - a2 = - A(aj) .
n< m-1 ; n=m .
=1 , A(a) 1 2 A(a) A(by),

b = ay, by = a,, , i = ay,
bbm= &, b, = a,, b,=a, ,bn=a,.
b= a;(i=3,4, ,m). 3.4, (AMii)ik= (BMii)ik
(1r=1,2, ,m k=12, ,m-1). 3.3,
"t b b i+ k+1

Alby) =3 3 (-1 (BMui)u

m i-1 .
a2k aZI i+ k+ 1

R A N

i+ k+2

i>2 |, A(a) i i+1 , A(b)) A(by) 1
A(a)) . BMy, AM; | i-1 i
BMy = - AMy;,i=1,2, , m-1. 3.4,

m

A(hy) = z bii(- 1) BMy = - z (- 1) AML; = - A(a;) O
3.1 ( ), :
A(a) n (n>2). A(ay) i i (i, =
1,2, ,n,i# j) A(b) . j>i,A(a) 2(j-1)+1
A(hy) . 3.4
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2(j-i)+1

A(a;) = (-1) A(by) = - A(h) .
i ] , N . n=2
n< k , n=k+1 :
I<h. A(a;) | h A(by) .
iZh | ,BMij=- AMy; j=h [ BMin=(-1)""""AMy; j=|I
JBMy=(-1""""t AMyy . 3.4,

A(by) =Y (- 1) 'bBM:
= (- 17 by BMu+ (- )" buBMin+ Y (- 1) b BMy

= (- 1) & AMin + (- 1) 'a; AMy - > (- 1) 'a  AMy,
i=1, h,iz |

= - A(ay) O
3.2 ( ;
A(a;)) n (nz2) . A(ay) i ]
(i,j=1,2, ,n,iz j). A( &) i i (i,j=1,2, ,n,i
) A(ay) - 3.1 A(a)=-A(a), A(a;)=00
3.3 ( ) K,
k :
A(a;) n (n=22). A(a) i Kk
(i=1,2, ,n) A(by). i1=1, 3.4, A(b)=KA(a;) .
22, A(b) 1 (i=1,2, ,n) A(c),
A(bj) =-A(g) =- k(-A(a))) = Ku(g) O
3.4 A(a;) n (nz2). n A(b;) A(g)
iz 1,j=1,2, ,n ,b=¢=a;,A(a) I ( | ) ay
= b+ c(k=1,2, ,n), A(a)=A(h)+A(c).
=1, 3.4 A(a;)=A(h) +A(g) . 1= 2,
3.3 ; A(a) I 1 O

3.5 ( )
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C ) : :
A(a) n (n=2). A(a) i Kk ]
(i,j=21,2, ,n,i# j) A(by) . 3.4, A(h) j
, A(by)=A4A(a;) +A(qg) . A(c) ] 3.3,
k i j : 3.2 A(g))=00O0
4 A(a;) n (nz 2), j<i ,a=0.
a,, aw a ,
0 & &
A(a) = = a5 8y Ay -
0 0 hnn
n . n=2 | ) n< k
n=k+1 . 1=2,3, ,n , My
3.3 i=2,3, ,n ,M;;=0. , M1 = &

a.nn .

+1
A(a;) = ag Mz - & Mz + + (- 1)n Min = @ M = &y &, ann O

3.4 3.3 ,
n\ o i
. kr, [ k; ri + kr; ] k P,
, r C.
5
1 -1 2
- 1 3 -4
D =
1 -1
- 3 -3
1 3 -1 2 -1 2
cl\ c2 0 _ 8 4 _ 6 r2\ r3 2 1 - 1
D - - = 40
r2—r ,r4+5r1 0 2 1 _ 1 r3+4r2 0 8 10
r -8r
0 16 -2 7/°s°lo 0o 0O 2
4 4 3 2
5 , , 3.1— 3.5,
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6
c a d b
a c d b
D =
a c b d
c a b d
c-a a-c¢c 0 O
- rp a C d b
D = 0.
4 - I3 a C b d
c-a a-c¢ 0 O
.
1 1 1
A= 2 0 3,
3 6
|Al AT
1 1 1 1 1 -2 1
rp - 2ry C - 3¢
2 0 3 -2 0 -5 1|=-5.
ry - 2ry
3 6 4 3 1 0 0 1
1 2 3 0 1 0 O
G -2¢g r, - 3rj
1 0 6 -2 3 -2 -5 0|=-5.
G -2¢
1 3 4 1 1 1 1 1
3.5  A=(a)m o Al . A= AT
3.1— 3.5, | Al
( 2) . |AT], 3.1— 3.5, | Al
( ), AT ( ) (
A i . IAT] i, AL
k i, . LA i k i)
| Al AT ( 6,
| Al | AT
. A=A O
| A" | Al
8 (1) |(aj)sxs| = @1 As1 + 8 Az + 853 Az .(2) &y A + ayp Az

+813A33=O.
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(1) 3.4 3.4,
an &, an & A B
|[(a)ss|= | @ as|=(-1)%|as a as
B & A B B
=1 Ay T a | P a |
0 B YRS & A
= an(- 1) e +oan(- 17" o + ag(- 1) o
) o3 1 o3 a1 o))
= ag; As1 + 85, Asx + Sg3 Az .
(2) , 1 3
(1)
adqq e A3
0=|& & &
A1 Ao A3
= a, (- 1) R an (- 1) A as(- 1) o
Ao o3 A A3 A Ao
= a; A1 + a, Az + a5 Ass .
3.6 A(a) n(nx2) ,
a1 At + ap A+ + a,Ain =0 ;A (a;), (3 9)
a,; Ay + a,, Ayj + + a,; Ay =0,A(4q), (3 10)
i=j S.=1; izj 2,=0,A=(-1""'My a,
) i=j. i=j=1 |, 3.4,

A(a;) =an(-1)"" "M+ az(-1)"*Miz+ + an(-1)" "Min
= a1 Air + ap A + + a;,Ain .
i=j22 , A(a) i-1 A(by) . A(by)
A(ay) i . AM; = BMyy, by =
ax(k=1,2, ,n)

(- 1) "a(a) =a(h)
=(- 1) by BMu + (- 1) bBMi +  + (- 1) "biaBMi,
=(- 1" "a  AMi + (- D) a2 AMiz + + (- 1) "anAMin .
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a1 AL+ a2 Azt + a,An=A(aj) .

iz ). A(a) j
) n A(hbj),

i
A (by)

, b= ax(k=1,2, ,n).

. 3.2 A(Db;)=0. A(hj)
0= A(by) = bi(- 1) BMu+ bo(- 1) BMp +  + ba(- 1) "BM,
= ai(- 1) AMu + ax(- 1)'P AMp +

= a1 A1+ a2 A2+ + anAjn .

Kronecker dij,

: (
| A(a;)
A (by) j i
j

+ an(- 1) "AM;,

aiAj + aiAz + + aniAnj =05 (&) .

) []
9
-1 1 1
0 1
D =
1 O
0 1 2
1
36
-1 1 1 1
0 1 ct+ (- 2)cs
1 0 -1
1 2 1
-3 1 1
_ 2+3 fa+ T2
= (-0 11 -
-4 1 1
_( 1)2+3-2 2‘ M 2
B -3 2
10
1 1 1
X1 X X2
D =
X2 X2 X
X3 X3 X3

- X1, - X2, - X3

1
1
23 11 1
0 0 1
1 10 -1
401 2 1
2 2 0
R |
3 2 0
1 0
‘_32‘:-2_
1
X3
X3
X
2,3,4

j
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X - Xu X2 - X1 X3 - Xu
= (X - X)X - X2)(X - X3) .
NN ERC O[S

o O O Bk

0 X - Xz

3 3 Cramer

a1 X1+ A X + + & nXn = b,

1 X1+ a2 X + + &nXn = by,
(3 11)
am X1 + aw X2 + + amnXn = by .

i1 2 a1 n

azi a2 an

a1 anz ann
(3 11) . Di(i=1,2, ,n) D i

ai, &i, , an b, b2, ,bn . (3 .11)

, X, X2, , Xn (3 11), ,

a1 X1 a2 ain

Dx: =

a1 X1 an2 Ann

a1l X1 + + QunXn Q12 a1 n

dn1 X1 + + Ann Xn cn2 aAnn

b an a1 n

D: .

b dn2 aAnn

, Dxi=Di,i=1,2, ,n. D#£ 0 ,
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T
D’ D' ' D'’
Dz 0 (3 .11) . (3 12)
Dz 0 ,(3.12) (311) n+1
i+1 :
b an Qin
0= b au an
b, an: Ann
) b an k-1 A1, kel
- bD + Zl ai( - 1)1+ k+1
by am An k-1 @n, kel
= bD - a1 D: - - anDn,1=1,2, ,n.
, D0 ,(3.12) (3 .11) : :
3.7 | (G .Cramer, 1704—1752) ]
D# 0,
X1=&X2=& xn:D".
D’ D' D
1
Xx+3y+ 2z =0,
2X - y+3x =0,
3x+2y-z=0.
D=42# 0,
=0.
12
2X1  + X2 -5Xs + X4 = 8,
X1 - 3X2 -6x4s =9,
2 X2 - X3 +2X4 =-05,
X1 +4X2 -7%X3 +6xs =0.
2 1 -5 1 1 -5
D:1-3 0 _6:27,D1: -3 0
o 2 -1 2 -5 2 -1
1 4 -7 6 0 4 -7

(3 12)

aln

Ann

(3 .11)

81,
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2 -5
1 0 -6
D, =
O -5 -1
1 O -7
Ds =
_ 81 _ _
X1—27—3,X2—
4 1
A=(a&j)n n,
| A| detA.
A=(aj)mxn A
j2 ) ) js
1< Ix < <, 1< ]2<

= - 108, D; =
2 1 -5
1 -3 O
0O 2 -1
1 4 -7
108 _ _
v = 4, X3 =
i1 a2
a1 a2
dn1 cn2
i, I2
r x
< Js,
aljl
,ir B aizjl
1jS
airjl
i
Ma .=
J
| A

= O L N

aAin

azn

ann

27 .

1
-6
= - 27,
-5 2
0
_ 270 _
- l, Xs = 27 =1.
|r A jl y
A ,
ajljs
aj2js
airjs
, AB
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[ [ 12 n
Mag = = Ma Ms _
| 12 n |
A r
i1i2  ir
Ma
Ji)z2  r
) A r )
i1 iz Iy i1 iz ir
Ma detMa =
Jr)z Ji)2  r
) A ) A i11i21 ,ir j11j21 1jr
A n-r (_ 1)il+i2+ +ir+j1+j2+ +jr
i1i2  ir
Ma .
Ji)2 )
A ,
i1i2 i i1i2  r
A . A .
Ja)z2 e Ji2
, : A
n n-r
' 3.8 [Laplace(1749—1827)] n | al | r(ls re
n-1) (), r () r
| Al ( )
ki ko ki kike ki
|A|: Z det Ma A _
k& ok Ji)2 v Ji)2 v
( ,1966) .
33
: Laplace :
3.9 n A, B, | aBl =1 Al BI .
) B , . B
I n
In O
O In
2
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A
(3 13)
Laplace
lallBl= [ ABl(- 1)
, n
| kalz kl Al |
42 n
1 n a'l’
a'b
BA = AB= 1, ?
A 0,
n )
a-l |n
1.
3.5 A
A
A )
B = BI
A

In B In B
O I ’ O I
O Ih B A AB
_ , (3 13)
B O I, - O
. (3 13)
‘ A O] ‘ A AB
-1, Bl |-1I. O
n :
2
1+ 2+ +2n| _ |n|: |AB|(' 1)2(n+n) = |AB| [
A k [kal = K1 Al; k# 1,
? a, 0,
aa ‘=1 b+ a ba**
A, , B,
. A ’ -
’ B’ BA: AB: In .
O, AB¢ In . ]
o, a0 ah
n n B, BA=AB=I,
1 B A A
B, C A ,
= B(AC) = (BA)C= IC= C,
A A
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E(ri+ kr,-)E(ri+(- k)l’j) = E(ri+(- k)r,-)E(ri+ kr,-) = 1,

j,i=1,2, ,n,iz j. E(ri+kr)) "= E(ri+(-Kr).

E(ri o 1) " = E(r <= 1),
E(kr) " = E(k'r) .
A=(a) , n
A Az An
A Ax Anz
Acn Acn Ann
A , A, A; & (i,j=1,2, ,n).
3 6,
AA" = ATA= @il ADwa= [ AlL.
3.10 n A Alzo, lalzo |,
A'lz]%[A .
A, AtA=1,, latllal=lnl=1, lalzo.
| alz o,
AA" = A" A= |All
AﬁA* :ﬁ(AA*):ﬁéij|A| :%lIAlln: o .
ﬁA* A= |—'1A\|(A*A): |'1A| 5l Al = ﬁIAIIn: ln .
AlzﬁA* O
3 10, .
3.6 AB=I( BA=1), B=A"'.
AB=1, lallsl=11l, lalzo0, A |
B=IB= A'AB=A'(AB)= A'la= A’ O
A,B, ,C , c' B'A'AB C=1,
(AB C)'=cCc' B'A".
2 3.10

cosO - sinB
A =

sin® cos 6
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A'lziA* _ 1 cos® sinb _ cos® sinB
Al cos’6 + sin°® - snd  cosH - sin® cosO
, 2
A
3.1
32 n A, Pi, P2, , P,
Qu, Q2, , Qs
Lk O
Pi,P2. PPAQ1Q: Q= 5 0.
A P, Q . lalzo,|Plzo,lQl#0,
. O
det z 0,
O O mn
k= n,
k. O
0 O wa ™
P.,P. PAQLQ. Q = I,
A= Pl P'PITQY QTQ.
, A O
2.
3 11, .
A . AT . Al 311 J,
K, ,L A'=JK L. (A1),
JK LA D =A (A D)= (A'AA D)= (I|A).
(3 14)
(3 14) . nx2n (All) , (A1)
(1] B) , B=A". n A,
A I nx 2n (A1) . | (A

' A In.

In A
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- >

(A[T)

o+ (-3)r;

r,+(-5)r;

o+ (-2)r3

o+ (-4)r;
n+(-1)rg

rh+r;

o O
o + O

o O Fr O O F, N EFE DN

[EEY
H 1
[HEN

O O

-2

11

11

17
11

ga w F»r NN FP DN
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A C
O B
A Cllm O n+c-cBYHYr, A O |[In -
O B|O I, O B|O
Alr,Btr, In O|AY - A'cB?
O Ih| O B*
A CTT AT -A'cB’
OB 0 B’
A C A" -A'cB'  In O
O B 0O B 0 1,
4.3
A ( ), A
: , A
: , A 2
; , : A r
r r A
3.6 A , A
, A r, A
R(A) .
3.7 n n,
3.1 n A R(A)=n,
A
5 A B ,
5 4 0 1 3
12 10
A:ozol,B:O1121
s 4 9 0 0001 1
00 0O0 O

-1

CB
In
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A
1 2
=2% 0
0 2
A , A
R(A)=2 .B , ,
5 4 1
0 1 2|=5#% 0,
0O 0 1
R(B) = 3
p 00 ....... .
e lL
0 0 adaj,
A=
0 O arir
0
\ O
A
r, A r 0,
r
12 r
det Ma . . = Qi i ai # 0.
11 12 Iy 1 r
3.12 A
() ()
, : : ()
() R(A) =T, r
iliz Iy
Ma .
Ji)2  r
A Kk a h (kz h) B,

)




114

detMs = detMa % 0.
jijz  jr jijz  jr
h,k {ii, i, I},
112 iy
Ma . .
Jila
k a h
i1l2 1y
Ms = =
Jr)z2
112 Iy 112 iy
det Ms _ = det Ma 72 0.
Jil2 Jr Jil2 I
h {i, 2, 0}, Kl {i1,i2, i}, h= i, :
hiz iy hi I Ki. It
detMs = detMa  + adetMa _
Jr)z2 Jr)z2 Jr)z2
hiz i 102 Iy Ki. 1y
det Mg L . =0, det Ma L % 0, det Ma oo 72 0.
JiJ2 I Jilz Jil2 Jr
hl {k,i2, i},
Ki Ir Ki Ir
det Mg . . = detMa | . # 0.
Jilz2 ) JiJz2 I
, A r : r
R(A) R(B). B k - a h B A,
R(B)< R(A), R(B) = R(A). , R(B) =
R(A) O
3 .12 , )
6 A
1 -1 -1 -2
-1 2 3 6
A =
1 2 4
0 -1 -1 2
A , .
1 -1 O -1 -2 1 -1 O -1 -2
-1 1 6 r,+r,. 0 1 4
0 1 1 2 4 0 1 1 2 4
0 -1 -1 1 2 O -1 -1 1 2
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1 -1 0 -1 -2 ) 1 -1 0
s+ (- 0 1 1 2 4 3 0o 1 1
fat T2 0O 0 O 0O f-—-T 0 0 O
0 0 0 0
B 3 , R(B)=3. 312
R(A) = R(B) = 3.
3.13 mx n A
R(A)=r A
, r : r
r-1 ; : B
. , B r, A
: , A r
R(A") = R(A) = r,
A’ r, A
3.7 n A ( )
3 .13 :
3.8 A B mx p px n :
R(AB) < min{ R(A), R(B)} .
2 , AB A
: 3 .13 : : AB
, , RCAB)< R(A); AB

S R(AB)< R(B) .
R(AB) £ min{ R(A), R(B)} .

r

[

|Al# 0.
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3
2) 1 2 3 2,
1
cos® -sinf "
3) .
sin 0 cos©
A
oY)
(4) b b bn
an
o]
a
(5) b b br :
an
i1 A2 aus
(6) X1 X2 X3 1 2 azs
a1 A2  dss
i 0 0 0O 1 O
(7) O 0 00 1
0 0 a 1 0 O
1 2 1 0
2. A= , B= :
1 3 1 2

X1
X2

X3

(1) AB=BA ?
(2) (A+B)’=A’+2AB+B° ?
(3) (A+B)(B-A)=A"-B 2
3.

(1) A’ =0, A=O0;

(2) A=A, A=0 A=I;
(3) AX=AY Az O, X=Y.
4 . : A, B n

Gi= aibi,1=1,2, ,n.

5. A,B n , ;
(1) A+B,A-2B ;
(2) AB A B
6. A n , :
(1) A+ A’ JA- A
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);
(2) A .
7. A=(aj)n n A ,
'[I‘(A)=Zl ai .
(1) tr( Anx mBmx n) =tr (Bmx nAnx m) .
(2) n A, B, AB - BAZ | .
A . AT ., (AT) = (AHT.
. A, AA'
10 . A, AAT=0, A=0.
11 . © N A A=0, I-A ,
( 1- x* )
12 .
A1 0
A= 0 A 1,
0 0 A
A“, k
13 .
1 2 4
1 2 0 2
(1) ;
10 5 2 0
0 1 1 7
0100
1 01 0
(2) ;
0 1 0 1
0010
X Yy X+y
)|y x+ty x |[;
X+y X y
1 w o _
4) o 1 w], —'123'
w w 1

14 .
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X a a
(1) Ds= a X a ,
a a X
a b C d
2) a a+b a+ b+ c a+b+c+d ;
a 2a+b 3a+2b+c 4a+3b+2c+d
a 3a+b 6a+3b+c 10a+6b+3c+ d
an bn
w Y
(3) Dzn= » b , 0;
G o
Y w
Cn dn
(4) Dn=A(a;), aj=[1-]l;
1+ & 1 1
) D,=| © " laa azo.
1 1 1+ a,
15 .
1 1 1
X1 X2 Xn
2 2 2
(1) D= | X % = T e %),
i 'ooxe ! Xn
V andermonde ;
(2) po(x)=ax"+a. X '+ +a n X, Xe, , Xn
n y Y1, Y2, 4 Yn n . Vandermonde
Cramer : n pr(X) = axX + a1 X T+ + a,

Vvi=pn(Xx),i=1,2, ,n;
X -1 0 0

0 X -1 -
(3) Dn= —ar X T+ @1 X+ an;

a.n an- 1 a.n- 2 a.l
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a -1 0 0
(4) Dy = 2ot ’ - nlakx”'k;
a O 0 X
2 -1 0 0 0
-1 2 -1 0 0
(5) | ... o | = n+1;
2 -1
0 0 0 -1 2
16 .
X1+ X2+ Xa+ Xa = 5,
X1+ 2% - Xs+ 4% = - 2,
2% - 3X2 - X3 - 5Xs = - 2,
3Xt+ X +2x+11x = 0.
7. A p ,
AXxi+ X + xs =0,
X1+ UX2 + Xz = 0,
Xt +2UX + X = 0.
18 . A( X1,Y2), B( X2, ¥») : . A B
Xy
1 X1 y|=0
1 X2 VYo
19. 3 = a= ai+ aj+ ak, b= bi+ bj+
bk .
N T
ax b=|ax & a
b« by b
20. 3 R® ,a=ad+aj+ ak, b=bi+bj+bk,c

=cit+ g)+ ck.

Ax o a
[alc] = (ax b)- ¢c= (b« b Db
& G G
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21 . L, ax+By+y =0, L, yx+ay+B =0, Ls Bx+yy+a =0

, L., L2, L3 , :G+B+y=0.
22 . n A B,
A B
‘ ‘:|A+B||A-B|.
A
23 . A B n , R(AB) = R(B)
=0,Bx=0
24 . X1, X, , Xn n n . P
Px:, PX., , PX, P
25 .
, AA" = |
) .
26 .
cos® -snb
(1)
sin 6 cos O
@ . 2
2 5°
el 0
0 &
(3) , A1 e aZz 0.
O O an
27 . AB= A+ 2B,
3 0 1
(1) A= 1 1 0, B:
0O 1 4
2 3
(2) A= 1 1 0, B
-1 2 3
28 . :
A O O A Ilm X In O
(1) 1 1 ) ]
O B B O O In Y In
1 0 0 O 5 2 0 O 0O 0 5 2
(2)1200 2 1 0 0 0O 0 2 1
2 130 0083 8300
1 2 1 4 0O 0 5 2 5 2 0 O

ABX
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(1) - = 4 -6
2 1
2 1 -1
1 -1 3
(2) X2 1 0 = ,
4 3 2
1 -1 1
1 0
1 4 0
(3) X0 2 0 = ;
-1 2 3
0 -1 1
0 1 0 1 0 O 1 -4 3
(4) 1. 0 0 X0 01 =2 0 -1
0 1 0 10 1 -2 0
30 . ;
X1 +2% +3Xs=1, X1 - Xo - X3 =2,
(1) 2X1+2X2+5X3=2, (2) 2X1- % -3X%=1,
3X1+5X2 + X3 =3; 3X1+2X2-5%3=0.
31 .
) -1 -4 -1 0
P AP = A,P = N\ = ,
1 1 0 2
All
32. m f(X)=30+31X+32X2+ + amX', f(A)= al+
aA+ a2aA + +anA", f(A) A m
(1)
A1 O
N = :
0 A
f(A1) 0
f(A) = :
0 f(A2)
(2) A=PBP ‘', f(A)= Pf(B)P "
33. A n A ,
(1) [Al=0, |A |=0;
(2) [AT|=|A]" ",
34 . n A AT A=A, | A]Z 0.

35 .
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1
A B | Al | B
‘c D‘i lcl Ioll
36 .
1 2 3 1 0 2 05
4 5 6 3 4 2 00
78 9007 09
321 1 01 01
37 .A mx n ,B nx m , m>n, .| AB| =0.
38.A n (n= 2),
n, R(A) = n;
R(A')= 0, R(A)< n-2;
1, R(A)=n-1
39 . R(A)=r, R(B) = s,
A O
o B = r+s.
40 . A  mx n : - R(A)S mx r
n C A=BC.
41 . - R(A+B)< R(A) + R(B) .
42 . ' R(A, B)< R(A)+ R(B) .
B
1. A n : n B AB = BA
A= al( a

) .
2. x=(x, %) ,y=(y, ,w)', xy=2
(1) (xy') =2"""xy", k= 2;

(2) A= 1+xy, A ,

3.
a - b a - b a - by
& -hbh a-b & - by

an - b a - b an - b
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cos O 1
1 2cos 0 1
1 2cos6 1

= cosO .
W W W
1 2c0s6 1
1 2c0s 6
5. 32, 3 3, 3 4, 35.
6. A+ aB= ° 3,A+B:I,AB:O a A
2 4
B. A+ aB=(A+aB)" .
7. A , B AB = BA
, : B .
8. A n . AAT=1 A A B
: | Al=-|B]. :|A+B|=0.
9. A B n , AB= A+ B, : AB= BA .
0. aA"+a-1A" '+ +al=0, A n Can, an-1,
a (1) az0 A :(2) A A*- A-21= 0,
k2 -1 ,A+kl A , At (A+ KD,
11. a n A=1-a, :
(1) A= A a a=1;
(2) a'a=1 ,A
2. A B n
(1) A , RCAB) = R(BA) = R(B);
(2) R(AB)= R(A)+ R(B) - n.
B | | O B |
R(A) + R(B) < R = R
O A -A 1l O A
) B 1 B | e
- AB O N _AB O -B I
13. n A A’=1. R(I-A+R(I+A)=n(
(1- A)(I1+A)=0 (1-A+(1+A)=21, B12 ) .
14 . n A A’=A. R(I-A)+R(A)=n.
15 . A=(a) ap t , A dA  da

dt dt
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da_ da,
dt dt
d _dA _dB.
() Gt (A+ B =gt *ar
d _ dA dB
(2) dt(AB)_ a4t B+ A dt
16 .
£ £
A = . ’B:
t Sin t
d( AB
dt
17 . A = (aj) aij t

I a; dt J Adt:I aidt
(1_{ (A + B)dt:J- Adt{ Bdt .

(2j IZ(A+ B)dt:f IZAdt:f zzBdt.
18 .

t e
A = ;B =

dnt cost
[ Adf Bt .

1

{
e

sin 2t

cos t



, Gauss

Gauss ;
Gauss
1820 C.F.Gauss(1777—1855)
, Gauss
: , (
206 — 25 ) : ,
, : Gauss
( . . : ,1980) .
1.1 Gauss
Gauss ,
, Gauss
n n
1 X1+ a2 Xo + + anXn = bu,
1 X1+ &2 X + + @nXn = b,
(4.1)
ani1 X1 + an2 X2 + + amXn = bn .
] (4' 1)
AX = Db, (4.2)
A=(a)mn, X= (X, X2, , %) b= (b, b, )’

(4.2) . b (4.1) : L (4.1)
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A (A]Db)
: Xo (4.2),
(4.2) : ,
Gauss
1
2X1 + X + x5 = 3,
4. + X% + X =05,
-2X1 +t X +3x =-3.
r X1 ,
X1 ra r 4 rs r
5
2X1 + X + Xs = 3,
- X2 - Xs = -1,
2X2 +4x3 =0.
2 3 r rs
r2 s X2 rs 2 ra
, , , (-1) "™
2X1 + X2 + Xz = 3,
- X2 - Xz =-1,
2Xs = - 2.
(4.3)
rs X3 rs :
2Xx1 + X2 + X3 = 3,
- X2 - X3 =-1,
Xz =-1.
ra Xz, I -'—1r3,
1
2Xx1 + X2 + X3 = 3,
X2 = 2,
Xz =-1.

(r)
(rz)

(rz2)

(rs)
(rz2)
(rs)

(r1)
(r2)
(r3)

(r1)
(rz2)
(r3)

I

s

(4.3)

2 -
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Gauss

X1

X2 X3, Mh-1r2-1"TI3.

M

(4.3)

(4.3)

(r:)

X1 =1,

(r2)

Xo = 2,

(rs)

X3 = - 1.

(1)
(2)
(3)

3.3) .

0
1
~
N o N
N—r
__321 . -
1
— - — N -
' - O - .
A 4 O 4 4 o © o -
1
N O O O <« O
N O O R - o o
o —
F/__n/_ ' | -
N—r r2
™ A N MmN g
| I | | I | _m
— -
2101001G
1
< < o 4 4 o
- +d O ' -
' N O O
N O O
N O O o
r3 N M»
o~ N
C H,l_w_l = w
271 _1 PU.,
~— ' = ~
_ o —
. ) — m
O -
~
—
* N

{(Alb) = (A™ b))
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(1)
al a aw oY Y S o)
A1 (1), _
1 1 1 1 n o=V (i=2,3, ,n)
T
(1) (1) (1) (1) (1)
anl anZ ann bn rn
(A? [p?) =
1 1 1 1 1 2)
A S
(2) . 82" (2=
2 2 2 2) 7 - r?(i=3, ,n)
0o A A |p @ T
2 2 2 2
0 a(nz) a(n ) b(n ) r(n )
k k
k (A" b=
1 1 1 1 1 1 1
I CHECIS
(2) (2) (2) (2) (2) (2)
0 2 P & k+1 an | k7 n ( a®#0)
ap
r(lk)-—'skt)r&k)(i:k+1, , n)
a
( k) (k) (k) (k) (K
0] 0 akk ak, k+1 Akn bk Ik
k k K k k
0 0 a(k+)1,k a(k+)1,|<+1 a(k+)1,n b(k+)1 r(k+)1
k K k k K
0 0 a(nk) a(n,)k+ 1 a(nn) b(n ) r(n )
(4.4)
(k+1) (K aiy’ (K
+1 1 . .
aij = aj - (wag (i,]=k+1, ,n),
Akk
a-( K) (4.5)
ik )
bl = p{¥ - S 5Bl (i= k+1, ,n).
(k) ’ ] )
Akk
k+ 1 k+1
k+1 (A" PR )=
1 1 1 1 1 1 1
air’  al? aity  altkea aih o rit
2 2 2 2 2 2
0 a asd A% as?) > rs?
k k k k k
0 0 a(kk) a(k, )k+ 1 a(kn) b(k ) I‘(k )
0 0 0 a(kl-(++1?)k+1 aﬂkfl,l)n b(kk++11) I'&k++11)
k+ 1 K+ 1 k+1 K+ 1
0 0 0 a(n,Jlr<+)l a(nn+ ) b(n +1) (n +1)
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A Al e
PR RS
n (A(n)lb(n)):
0 0 an | By Y
(2)
) an Xn'la 1X1
n j= T+ .
Xn = ~, Xi = i = n-1,n-2, ,1), 4.6
e o ( ) (4.6)
(4.5) (4.6) ali’
4.1 n AX = b, A= (a)mwn b=
oS o S o aw# 0(k=1,2, ,n), Gauss
, (4.5) (4.6)
1.2
1.1 Gauss ,
ala’ = 0, k : al) # 0,
aly
’ |= k+ 11 1 n 1
20 ( )
0.0001x1 + x = 1,
X1+ % = 2,
. 10000 ~_ 9998 3 (
7 9999 ' ? 7 9999
3 , 3 ), :
x1 = 0.100x 10, xo = 0.100x 10.
1.
0.100x 10

0.100x 10°° 0.100x 10|/0.100x 10 " 0.100x 103"
0.100x 10  0.100x 10|/0.200x 10
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P

0.100x 10 - 10°
- 0.100% 10

0.100x 10°°  0.100x 10

0 - 0.100x 10°

0.100x 10°° 0.100x 10/0.100% 10 ri- 1.
0 0.100x 10]/0.100x 10

0.100x 10°° 0 ‘ 0

0 0.100x 10/0.100x 10

xt = 0.000x 10 = 0, x2 = 0.100x 10 .
X1

2. 1 2

0.100x 10°°
0.100x 10 0.100x 10(0.200x 10 "~ "0.100x 10 "

0.100x 10°° 0.100x 10/0.100x 10
0.100x 10 0.100x 1o‘o-200>< 10 -1

0 0.100x 10/0.100x 10
0.100x 10 0 ‘0.100>< 10
0 0.100x 10| 0.100x 10

X1 = 0.100x 10, x2 = 0.100x 10 .

’ (4- 4) a(kll(() ’
. (k) (k)
(1) : (4.4) (A b 7)
a(k'k( ) a(k l,<)k+ 1 a(kr'f )
AR = a(kl:)l, k a(kI:)l L k+1 af('i)l N
ank  ahike ann
(2) . AW

aikk = max | a(kt) | , | a(kli)l,kl , , | a(nlﬁ) | = lLETllc”;anl a(ikk) |
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(A(k)lb(k))

k I :

0.001000 x; + 2.000 x. + 3.000xs = 1.000,
- 2.346x + 3.141 x> + 8.647 xs = 2.000,
-4.000x +1.432x, + 7.643xs = 3.000 .

(  ,1=3.14159 ,
Xg - 4.000,

4.000 1.432 7.643|3.000

= 3.142) .

(

r,+ 0.0014.000r;
0.001000 2.000 3.000[{1.000 . . 5.3464.000r

2.346 3.141 8.64712.000
- 4.000 1.432 7.643| 3.000
2.000 3.002( 1.001
2.301] 4.164|0.2405

- 4.000 1.432 7.643 | 3.000
rg\ Mo
_2.000 2.301 4.164 |0.2405
3 - 2
2301 - 0.617310.7920

X1 = - 2.333, X2 = 2.426, xs = - 1.283.

“1.3 Gauss Cramer
Gauss Cramer
,  Gauss n ,
, fl(ﬂ),
n® Cramer
? , . (1) 3.4,

fo(n)y>n! (>2", n=4) (2)
(

Gauss

5) .
Cramer

fl(n)

(2)
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(1)
Gauss 20
Cramer
: )
n
M . Hellman
R. Rivest 1978

, Cramer
2.43x 10"
100 (=10°) 3.2x 10"
! ) ]
Cramer
, , n
f(n) n ,
f(n) n
, P
P
, P
” 1976 W
(100 200 ) :

RSA :

7

.Diffie
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, Cramer :

1.4
1.
3
X1+ Xo+3X3+ Xa+ Xs= 2,
X3-X5:1, (4.7)
X1+ Xo+5X3+ X4 - Xs= 4.
Gauss
1 1 3 1 1(2 1 1 3 1 1(2
r3 - rqg rs - 215
O 01 0O -1f1 O 01 0 -1f1
1 1 5 1 -114 0O 0 2 0 -2I2
1 1 3 1 1|12 1 1 0 1 41 -1
r{ - 3r,
O 01 0 -1|1 O 01 0 -1 1
O 0 0 O oflo0 O 0 O O 0 0
) 1
, 113 OH 1] Ul
(4.7)
X1+ X2+ Xa +4X%Xs = -1, X1 = - X2 - X4 -4%x -1,
(4.8)
Xs - Xs = 1. X3 = Xs + 1.

Xe= ki, Xa=k, =k, X1=-k-k-4k-1,x3=k +1,
Xt = - k- k -4k - 1,

= ki,

= ks + 1,

= ko,

= ks .

X X X K
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X1 -1 -1 - 4 -1
X2

X3

ke (4.9)

Xa

o o o r
+
&
O r O O
+
&
) O B O
+
o O r O

Xs

H (4'7)
X1+ Xo+ 3Xs+ Xa+ Xs= 0,

X1+ X2+ 5Xs+ X4 - Xs= 0,

X1 = - X2 - Xa - 4%,
(4.10)
X3 = Xs ,

X1 -1 -1 -4
X2

X4

o o ok
+
&

O r O O
+
&

) O Bk O

Xs

(4.10) . (4.9) (-1,0,1,0,0)" (4.7)
, (4.9) (4.7) , (4.7)

Xt + X2+ 3Xs+ Xa + Xs= 2,
X3 - X5 = 1,

X1+ X2+ 5X3+ X4 - Xs= 6.

1
o -1/ 1 . (4.11)
5 1 -1l6 0
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( )
?
4
2
2 0=2 (4.11)
2 3;
3
H(A)
3 : :(B)
3
5
2 2
X1, X3 ) X2, X4, Xs
X2, X4, Xs ,  (4.10) , (X, Xa,
xs)' =(1,0,0)",(0,1,0)',(0,0,1)" ,(4.10)
(-1,1,0,0,0)",(-1,0,0,1,0)",(-4,0,1,0,1)" (C)
n r , - n
r n-r
(A) (B) (C)
L. Euler(1707—1783) ¢
" (G. Polya . |
,1984) .
2.1

Gauss
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Ax = 0, (4.12)

A=(a;)mn, A roX=( Xy, Xoo  , Xa) ', (4.12) n ,
,x=(0,0, ,0)" (4.12)

4.2 Xi, X Ax=0 , ke ke :

ki xi + ko %

Alkixa + kx) = kA + kA = kO+ k0 = 0,

ki X1 + ko X% Ax=0 [
4.1 X1, X2, ,% Ax=0 : X, X2, 5, Xs ,
Ax=0 , X1, %, ,% Ax=0
Ax=0 X1, X2, , Xs,

X= kXt + kX + + KeXs,

ki, ke, ks ,
4.3 Ax=0, Az(aij)mx n, A r(< n),
(4.12) n-r . A r=n, (4.12)
Gauss : ,  Gauss
, AX=0 n-r . A
r, : A r X , A
1 0 0 C,r+1 C, or+2 Cn
0 1 0 Q, r+1 C, r+2 Cn
U= 0 0 1 G, r+1 G, r+2 CGn
O O 0 0 0 0
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Ax=0 Ux=0
X1+ C,r+1 Xr+1 + C r+2 Xp+2 + + GnXn =0

Xo+ G r+1 Xr+1 + G r+2 Xr+2 + + GnXn = 0

Xr + Cr,r+1Xr+1+ Cr,r+2Xr+2+ + GnXn = 0 .

X|'+11X|'+21 ,Xn y ’
Xr+1 1 0 0
Xr+2 0 1 0
Xn 0 0 1
n-r . (4.14) (4.13),
X1 - C1,r+1 - C,r+2 - CGn
xXo - C2,r+1 - @, r+2 - Cn
Xr - G, r+1 - G, r+2 - GCn
- C.,r+1 - C1,r+2 - Cin
- G r+1 - C2,r+2 - Cn
- Cr,r+1 - Gore2 - Gn
Xl = 1X2 = 1)<n ro=
1 0
0
0 0 1
Ax=0 ,
’AX:O X Xl! XZ! ’)<n- r

X = (kl,kz, ,kr,kr+1,kr+2, ,kn)T

(4.13) ,
Xo = Kr1Xt + Ke2Xe + + KXo o,
X - Xo Ax=0 , Ux=0 , (4.13) .
X-%=(a,&, ,G,0, ,0".
(4.13), X- X r a=ce= =¢¢=0

(4.14)
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0,
X = ke1Xe + Ke2X + + KnXn-r .
Ax=0 X1, X2, 5, Xn-r . X, X2,
Xn- , 4.1 |, Xi1,%, ,X-r Ax=0
A
A= A
Anm
A, A2, ,An A m n A , Al X
n R" AX=0
Ax= (A',x) =0,i=1,2, ,m
, Ax=0 X m AT AT, AR
S ATLAT, AR R" ., Ax=0
S S A r S r,
dm(S)=r. 1.23 ,dm(S )=n-r S Ax =0
A n , dm(S )=n-n=0,S ={0}, AX
=0 [
, 4.3
4.2 4.3, .
4.1 Ax =0, A= (aj)mx n . A r, Ax=
0 n R" n-r : Ax=0
Ax=0
1 Ax=0,
1 1 -4
A= 1 2 -7
1 3 -10
A X
11 -4 nn-n 1 1 -4 1 0 -1
f3- 1y 3 - 21,
1 2 -7 0 1 -3 01 -3
1 3 -10 0 2 -6 00 O
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X3

2

X1 = X3,
X1 = Xs,
% = 3% X2 = 3 Xs,
X3 = X
X3 = K,
X1
X2 = k 3
X3 1
, 3 R ,S
R’ Ax=0
a=(1,3,1)" S
ax, + X2+ xs = 0,
xt + bxa + xs = 0,
X1+ 2bx; + X3 = 0,
1 1
D = b 1|=-b(a-1).
2b 1
a=1,
1 a 1 1 0
fs - Iy ry - arp
1 1 0 1 1
1 0O 0 O 0
Xt =- X
X2 = (a-1)xs,
X3 = X3,
X1 -1
X2 = k a-1
X3 1

(1,1, -4)7
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1 1 1 1 1

fp - Iy, 3 - Iy
D= 1 b 1 O b-1 0
1 2b 1 O 2b-1 O

X1+ % + X3 = 0,

(b-1)x =0,
(2b-1)x = 0.
b-1 2b-1 : X =0.
X1 -1
X2 = Kk
X3 1
2.2
Ax = b, (4.15)
A= (aj)m<n, X= (X, X2, , %) ,b=(b,b, ,bu)'20, A n
m &, &, ,an, A=(a,a, ,a), Ax=Db
Xtat &+ + Xan=b. (4.16)
(4.15) (4.16) : b A
b A , A (A]b)
; A (A]|Db) : : A
(Alb) : : b
; b A ,
4.4 Ax= b,
(1) Ax= b
(2) b A ;
(3) A ( A|b)
Ax=Db :
4.5 (1) X1, %X AX=Db , X - X
Ax=0
(2) X Ax=b . X
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A(Xl-Xz)zAX;L'AX2= b-b=0,
X1 - X2 Ax=0

(2) A(X +Xi) = A+ Ay =b+0=Db, XxXo+XxX4« AX=D O
4.6 Ax= b : A=(a&)mxn, R(A)
=r,Xo ( , ), AX=0 X1, Xz,
, Xn- 1, AX=b ( )
X=X + kixi + + Kn-rXn-r,
Ki, , Kn-+
X Ax=b . 4.5(1) x-% Ax=0
4.1 ,X- X X, X2,  ,Xn-r ,
X-% = kixi+ kX +  + ki X,
ki, ke, koo
X=X+ kxa+ keXe +  + Koot Xn-r .
4.5(2) , ki, ke, ,kn-r, Ax=Db :
Ax=Db O
4.2 , r A= (aj)mxn
Ax=0, n R" n-r
Ax=Db n R" , X1, X
Ax=Db , X=X+ X Ax=Db
3 Ax=Db
1 1 0 Of1
1 2 -1 1 2|2
(A1D) = 2 3 1 2(3°
3 5 2 415
Ax=Db
(Alb)
1 1 2 0 0|1 - 1 1 2 0 01 o
1 2 -1 1 2(2 r-2r; 0 1 -3 1 2|1 r,-21
2 3 1 1 2|3 f+-3n 0 1 -3 1 2
3 5 0 2 4|5 0 2 -6 2 4
1 1 0 0|1 1 0 -1 -2]|0
O 1 - 1 211 n-r»n 0 1 - 1 1
00 0O 0 0|0 00 0 0 0of0
00 0O 0 0I0 00 0 0 0ol0
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R(A) = R((A[Db)) =2,

X1+ 5Xs - X4 - 2%Xs = 0,
X2 - 3Xzs+ Xa+2X%Xs = 1.
R(A) =2, X1, X2, X3, Xa, Xs :

, X1, Xz,

-5X3+ X4 + 2Xs,

X1

X2 = 3X3 - Xq4 -2X%X + 1.

X1 = -5X+ X +2Xs + 0,

X2 = 3Xs - Xa -2X% + 1,

X3 = Xs + 0,

Xs = Xs + 0,

Xs = Xs + 0 .
X1 -5 1 2 0
X 3 -1 -2 1
X3 = x5 1 +x2 0 +x5 0 + O
X4 0 1 0 0
Xs 0 0 1 0

Xs= ki, s = ke, X5 = ks : : Ax=b X0 =(0,1,0,

0,0)' Ax=0 :
x = (-5,3,1,0,0) ,% = (1, - 1,0,1,0)", % = (2, - 2,0,0,1)" .

, AX=Db
X=X+ kixi + kex + ks X,
ki, ke, ks R.
4 Xo AX=Db , X, Xo, X
Ax=0
X, Xo + X1, X + X2, ,X t Xs
,  Ax=Db

X= kKXo + Ki(X + X1) + k(X + %) + + ks( X + Xs),
ko + ki + + ks=1.
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a),al, 1a8
X0+ a(X + X))+ a&(X+ x)+ + &(X + %) = 0,

(n+ ar+ + &)X+ aXs+ @& + + ax =0,
Cza+ar+ + a# 0,

Xo= - Clarxa+ ax + + ax),

Ao = - ¢ (A + @Ak + + ashAx) = 0.

Xo Ax=Db : c=0. axXit+t X+ +axX=0. x,
Xa, 4 Xs a=a= =a&=0, c=0, at+tat +a&=
0, a =0. o-—a=-a= =a=0, Xo, X0 + X1, Xo+ X,

, Xo + Xs . 4.6 , AX=Db

X= X+ kixa + kexe v+ + kX,
= (1- (ko + + k))X + k(X + X1) + k(X + x)+ + k(X0 + Xs) .
kk=(1-(k+ +k)), k+ ki + + k=1 0O
5 : A(2,8), B(7,3)
C(5,7),

2 2
X+y+ax+ ey+c=0.

A,B, C , C,CG,C
2+ 8.+ & = - 68,
7 +3c+ @ = - 58,
5c+70+ ¢ =- 74 .

a=-4,0=-6,c= -12,
X +y -4x-6y-12=0 (x-2)°+ (y-3)?=5.
6 X,y (x,yi)(i=1,2, ,8).
[ 1 2 3 4 5 6 7 8
Xi 1.2 1.8 3.1 4.9 5.7 7.1 8.6 9.8

Yi 4.5 5.9 7.0 7.8 7.2 6.8 4.5 2.7

y = a+ bx+ cx .
a, b, c, y ?
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xi(i=1,2, ,8) y Yi

N 2
yi = a+ bxi + cXi

yi - (a+ bx + CXZi).

8 :
8
S:Z(yi-(a+ bx, + ¢xi))” .
, S ,a, b, c
_S_ _S_ _S_
a- b ¢ 9
S 8
==2) [yi-(a+bx+ xi)],
—E:-zzl[yi-(a+bxi+ cxi)] xi,
S 8
> _ . _ 2 2
C_-zzl[y. (a+ bxi+ cxi)] Xi .
a, b, c

8 8
2
a8 + bz X + CZ Xi,
=1 =1
8 8 8
2 3
iyYi = az Xi + bz Xi+CZ Xi,
=1 =1 =1 =1
8 8 8
2 2 3 4
xiyi:az Xi + bZ xi+cZ Xi .
- =1 =1 =1

(xi,y)(i=1,2, ,8),
8.00a+ 42.20b+ 291 20c = 46 40,
42.20a + 291.20b+ 2275.35c = 230.42,
291.20a + 2275.35b+ 18971.92c = 1449.00 .

™
<
I

X
<
|

a=2.58,b=2.06,c=-0.21,

y=2.58+2.06x - 0.21x .
, A.2
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A
1. Gauss :
(1) ( ) : : , ( :
, 13 1000) ; , , : (
); : : : ( 600) ,
) ?
5X; +3X; +2X%x3 =4, X +y +z =5,
(2) 3X1 +3X2 +2X%X3 =2, (3) X +y -4z =10,
Xo + Xz =5; -4x +y +z =0;
2X1 + X + X3 =7, X +y +2z =3,
(4) - X +3% -2%x3 =-5, () x +y -z =-1,

X

X1 +2X% +3x3 =14; +3y -8z =0.

X1 =2% - X -2X =0,
X1 +X -3% - X =0,

(1) 3x - X -3xw +4x =0, (2

4%, + X +2X% + x =0,

2% +5% +4x - x4 =0,
Xt +5% -9% -8xs =0;
X1 + X% +X + X =0;

Xt +% + X3 +x +Xx =0, Xt -2% +Xs - x4 + X% =0,
3X +2% + X3 + X -3% =0, 2X1 +tX - X3 +2X% -3% =0,
3 X +2Xs +2% +6x =0, ) 3X1t -2% - X3 + X -2% =0,
5X +4% +3x +3x - X =0; 2X1 -9%X + X -2X +2% =0.

2% +7X +3X%X+ X4 =6,
X1+ X +2X%X =5,

(1) X1 + X3 = -2, (2)
2% + X +3X% =3;

3X +5% +2X +2 x4 =4,
- X +3X% - X3+2xa =3,
4% - 7% -5X4 = -5;
X1 +3 X2 +5x% -4x4 =1,
X1 +3X2 +2Xs - 2X4 + X5 = -1, X1+ X2 -3Xs - X4 =1,
(3) X -2X2 + X - X4-Xs=3,(4) 3X1- X2 -3Xs+4x =4,
X1 -4X2 + X + X4 - Xs =3, X1+5X2 -9%3 -8x =0.

X1t +2X2 + X3 - Xa + Xs = -1;
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4. A ,
2X1 - X +t X o+ X =1, AXi + X% +x =1,
() X+2% - X +4Xx =2, (2) X +Axe +x =A,

Xt + 7% - 4% +11 X =A; Xi + X +AX =A° .

5. :
ax + by+ ¢=0,bx+ cy+ a=0,cx+ ay+ b= 0,
a, b, c : ; a+ b+c=0.
6. A B n , AB=0, R(A)+ R(B)< n.
7. R VW a:=(1,2,1,0)" 0, =(-1,1,1,1)" ,
Va B1=(2,-1,0,1)" B.=(1, -1,3,7)" ., Vi Vs
8. n R" , Vi
X1+ X + + X, =0 X1 = X = = Xn
, R"= ViG Vs
9.
X1 - X2 = a,
X2 - X3 = o,
X3 - X4 = a3,
X4 - Xs = oy,
Xs - X1 = o5
at+t &t aat aut & =0,
10. A B n R( AB) = R(B) (AB) x=0
Bx=0
11. Ax=0, X1, X2 ,
x = (1,2, - 1,4)", % = (1,0, - 4,0)" .
12. A, AA'x=0 A'x=0
R(A) = R(AA') .
13. a, b ,

X1+ X2+ Xs+ X4 = 0,
X2+ 2% +2X4 = 1,
- Xo+t (a-3)Xs - 2xs = b,

3X1+2Xo+ X3+ axy = -1
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14. n A R(A)=n-1,

15.
il X1 + a2 X2 + + a2nXen = 0,

Az X1 + Q2 Xo t + &,2nXn = 0,

am X1 + an2 X2 + + an2nXen = 0
a=(hi, b2, ,bi2n) ,@=(ba, b2, ,b20)", |, an
= (b, b2, bnzn)’,
b1 X2 + b2 X2 + + Di2nXen = 0,
P21 X1 + D2 X2 + + >z 2nXen = 0,

Pn1 X1 + bn2 X2 + + bhonXoen =0

16. A, B, C ,

) X,Y , A(120°20 10",
45°30 11") B(120°25 59, 45°31 10') AC BC
a=6F =50, C
B
1.  Gauss ( 4 ):

4.462 1 +1.620 x; + 0.8764 x; = 2.031,
(1) 3.421x1 +4.620 x2 +3.201 xs = 2.708,

0.3764 x +0.8654 x> + 0.2146 x3 = 0. 3604;
0.3846 x1 +0.02160 x> + 0.3620 xs =0.4341,

(2) 0.1940x; +0.1230 X2 +0.1941 x5 = 0.2477,
0.1997 xa +0.2000 x2 +0.2010xs = 0.2729 .
2. Az(aij)mxn1b:(bli 1bm)T1y:(y11 1yn)T1X:(X11 ]

(1) Ay=b ., A'x=0 b' x=0;
(2) Ay=Db
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3 A n , k , A'x=0 a A’
z 0, : a,Aa, ,A"“‘a
4. ( A.2) D1, D2, Ds,
D, D, Ds
D, 0.25 0.10 0.10 2.35
D, 0.20 0.20 0.10 1.25
D, 0.10 0.10 0.20 2.10
5. ( A.2)
D, D, Ds
D, 1 000 250 300 Y1 4 000
D, 800 500 300 Y2 2 500
Ds 400 250 600 Ya 3000
100 50 100
u u, Uy
( ) 4 000 2500 3000
Vi, Y2,Vs Ui, Uz, U3 .
6. y=a+ bx:
(1) (0,0),(1,2),(2,7); (2) (0,1),(2,0),(3,1),(3,2) .
7. y=atax+ax, (2,0),(3, - 10), (5, - 48), (6, - 76)



1.1
y= f(x) = ax.
R R
k R,
f(xe+ xX2) = f(x1) + f(x),
f(kx) = kf( x) .
(5.1) (5.2),
Vo,
51 o n Vi
o(a) V.. o
(1) 01,02 Vn,0(a:+02)=0(a:)+o(az),
(2) a Vn k Ro(kn)=k(a),
o Vn , 0 (a) a o
o(a) o :
52 o T n Vi
Vn, o(a)=1(a), : o=T1 .

X1,

X2, X R'

(5.1)
(5.2)
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(1) I a V., lI(a)=qa;
(2) A A R, a Vo, A(a) =Aa;
(3) 0: a Vn0(a)=0, O V.
Vh :
2 2 R’ o)
0 R R .
(1) , a,p R k R, a,B,
a+p3 , a a
| k| . a,B,a+p lot 0
( 1), R(a), R(B),R(a+p), R(k) .
R(a+B) = R(a)+ R(B),
R(lk) = kR (a) .
R
(2) 2 R |
a = (xi, %), R(a) = (yi, ),
Y1 cos@ -sinB ,Xu
(yz): sin®  cos6 (xz)’ (5-3)
R(a)= Ax,

cos® - snb
A = _
sinf cos 0

R(a +B) = A(a +B) = A(a) + AB) = R(a) + R(B),
R(k)= A(ki) = kA(a) = kR (a) .

R KR .
3 3 R’

R’ .

R’ R 1 Vi=[1] 2
Vo =[i]G []]

T . .
a = (X1, Xz, X3) = Xi+ Xoj+ Xsk

Pl(C() = P1(X1i+ X2j+ X3k) = X I,
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Ry(a+)y

1

P(a) = Po(xui+ Xej+ xsk) = xa1+ xj.
3

, P1 P R
1.2
1 Vh
g n Vn o, a2, ,an}(
; : ) Va , O Vi a
Vi o(a)( ou ), {a.,a2, ,an} {oa.,002,
,00 n} . , Vi Vi {a.,a2, ,0n}
{oa.,,00,, ,o0n}
5.1 {a.,a2, ,an} n Vn ,0 T Vi
, ooi=tai(i=1,2, ,n), O=T1.

O = X101 + X202+ + X0On Vi,
o0 =0( X101 + X0z + + Xln) = X001 + X002 + + XO0n

= XTO01 + XTOz +  + Xd0n, = T( X101 + %02+  + X0,) = T4 .

5.2 o=t O
(6) n Vn {ul,GZ, ,Gn}

o V. , oa; V.(i=1,2, ,n), oa i
Vn {ai,02, ,0n.} ,
o1 = annldi + ad. + + aniln,
O0. = a0 + @202 + + an2ln,
(5.4)

O0nh = aaldy + 02 + + anln .
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(oo;,002, ,000) o(a;,002, ,0n),
o(a.,d0,, ,0,) =(oc0.,00,, ,00.)
a1 a2 ain
= (01,05, .an) de1 A2 & n
a1 ano Ann
=(a:,02, ,0m)A, (5.5)
A= (aj)nxn o n Vn {a.,d2, ,an}
A o© {a.,a2, ,0n}
4 R 2 R’
L ( 2. R i=(1,0)",j=(0,1)7
0 I L , L w=cosOi +
sinBj, o = Ra,
a = a+2[(a,w)w -a] =-a +2(a,w)w,
(a,w) a W , Re
Re {1,]} A. a=i,j,
Rei=-1+2(1,w)w = iIcos26 + jsin 20,
Rj=-jJ+2(j,0)w = isin20 - jcos 20 .
) _ ___ cos20 sn 20 o
(RIRJ) = (L)) 5 on  pepg ~ (BDA
cos 20 sn 26
- sin20 - cos 20
{1, ]} A.
, 2 4 , A
., ATA=1, (
, N Vi : Vi
: ,  (5.5) . Vn ;
A= (a&j)nx n o (5.5) ?

(5.5)
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o(ai,02, ,0n) = (1,02, ,0n)A = (Y1,Y2, ,Yn). (5.6)

Vi , A n Yi,Y2, yYn . )
Vn {01,02, ,an} Vn n
Yi,Y2, ,Y¥Yn, Vn o o(ai)=yi(i=1,2, ,n).
5.2 {ai,a2, ,an} n Vn : Vn
n y11y21 ,yn, 0-1
o(ai) =vyi(i=121,2, ,n).
Vn o, (5.6) : o
o = X101 + X202+ + X0n Vn, x R(i=1,2, ,n).
o:

oa = Xiy1 + Xeya2 + + X¥n .

;o Qi
o(ai) =vyi,(i=1,2, ,n).
Vn
A = X101 + X202+  + Xfn,
a' = X0+ X0+ + X,
k R,

o(a+a) =o((x1+ X1)a1+ (X + X2)a2+ + (Xn+ Xn)0On)
=(X+ Xi)yr+t (X+ X2)yz+  + (Xo+ Xn)Yn
=(Xay1 + Xey2+  + Xya) + (Xay1 + Xoy2 + + Xiya)
=oa + ou' .
o(k) = lou . ,0 Vi : 5.1 ,O
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[
{a.,a2, ,0.} n Va , 0
A,Vn a X:(lele 1Xn)T10-a
y:(y11y2, ,Yn)T, y X ’)
a = X101 + X0, + + X0n,
(al,azl ,Gn)y

= Y101 + Y02 + + yln = 0d
= 0( X101+ %02+ 4+ Xf,) = X001 + X002 +  + XO0q
= (o0.,002, ,00,)X

= (01,02, ,0n)AX.

y AX a {ai,02, ,0n} ,
y = AX.
53 {a.,a2, ,a.} n Vi , A
, o X= (%, X%, ,X) o0 y=(y, Vs,
,yn)T,
y = AX. (5.7)
5 o n Vn , 0) Vn
A 0) , Vn
a,b Vn y Vn
X1, X . 5.3 ,0(xx) 0(x2) Axi, Ax .
A . ATA= 1,
(A, A:) = (A) Ak = X ATA% = X X = (X, %)
0 ,Vn )
5 3 R° , ,
6 i=(1,0)",j=(0,1)" R , o i
o . . o " .
6 i, ] 6 i, o {i j}
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1) =1 -cos]l'+s'nl'-—3'+l'
o(i) = = 6| I6j—2I 2],

M — M — li+ nl-_li+_3-
o(j) = = cos SNyl =7, 51

3
3 1
] ) .. 2 2 .
(a(i),0())) = (i,])) = (1,))A,
1 _3
2 2
3 1
2 2
A =
1l _3
2 2
: o {i,]} A
2.
n Vn {a11a21 ;an} {allyu,21 ,u’n},
Ci1 Ci2 Cin
C1 G2 Con
(a'1,a'2, ,d'n) = (ap,02, ,0n) ,
Cn1 Cn2 Chn
C=(Cj)nxn {a.,a., ,dn.} {a's,a2, ,a'n}
(a's,a’2, ,d'n) = (01,02, ,0.)C. (5.8)
a'y,a's, o Vh , n Q!
(1,02, ,0,) = (a'1,a'2, ,a'm)Q. (5.9)
(5.9) (5.8)
(all,aIZ, ,G’n) = (ullia,21 1a,”)QC’
QC=1, C
Vn o A B,
A B ?

(5.8)
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(a'y,a'2, ,a'n) = (a;,02, ,an)C,

0(a1,a2, ,an) = (a].’az’ ,an)A,

o(a'z,a’2, ,a'n) = (a'1,a2, ,a'n)B.
(a'r,a2, ,a'w)B=0c(a'y,a2, ,a%) =o((ai,az, ,an)C)

= (01,02, ,0n)AC= (a'z,02, ,a'n)C " AC

54 n Vi o V. {a.,az, ,da.}
{a'1,a"2, ,ad'n} A B,
C,
(C('l,G'z, ,G'n) = (Gl,az, 1an) C,
B=C 'AC.
7 3 R® o
o, = (1,0,1)" 02 = (0,1,0) ,05 = (0,0,1)"
B.= (1,0,2)",B2 = (- 1,2, - 1)",B: = (1,0,0)",
a, = (1,0,0)",a> = (0,1,0)",a's = (0,0,1)7
0'01:[31: (1,0,2)T: o+ 0o, + as,
0'(12:[32:(-1,2,-1)T:-C(1+20(2+0(13,
oos =Bz = (1,0,0)" = o, + 002 - a3 .
(o(ai),0(az),0(03)) = 0(01,02,03) = (001,02,03) A
{a.,02,03}
1 -1 1
A= 0 2
1 -1

(a1,02,03) = (a'1,a2,a'3) D
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1 0 0
D= 0 1 O
1 0 1
{a'y,a'z,0d's} {a.,a2,03} C,

(a'1,a2,0'3) = (a1,02,0a3) C,

C=D 5.4 o {a'y,a'z,a's}
B=C 'AC= DAD’
10 0 1 -1 0 0 0O -1 1
=010 0 2 1 0= 0 2 O
1 01 1 O -1 1 0 1 2 -1 0
n Vn ) Vn
, O ,
5.3 o n Vi
R(o) = {o(a) |a  Va},
N(o) = {a |o(a) = 0,a Vn},
R(o) Vs o , N(o) V.
R(c) N(o) Im(o) Ker(o) .
R(oc) N(o) Vi
55 o n Vi : R(o) N(o)
Vi
10(0) =0, 0 R(o), R(o) Vn . B1,Be
R(c) k R, 01,02 V., o(ai1) =B1,0(az2) =B,
Br+ B2 =0(a1) +0(az) = o(as + az),
B. = lo(a:) = o(kiy) .
B1+PB2 R(o), B: R(o), 1.1 R(o) Vn
2 o(0) =0, O N(o), N(o) Vn . 01,02
N(o), o(ai1)=0c(az) =0, k R,

o(a, +az) =o(a.)+o(az) =0+ 0,
o(ki:) = lo(a:) = KO=0.
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a,+a, N(o), ki, N(o), 1.1 N(o) Vi
O
54 g n Vi VA R(o)
N(o) o ( ),
o o : rank(o) null(o) .
5.6 o n Vn : rank (o) +
null(c) = n .
o N (o) e,e, ,6&, Vh
e,e, ,er,e+1, ,€En. a Vn, « :
a = X1e + Xe& + + X€e + X+1€41+ + Xe€n .
oe =0,i1=1,2, ,r,
a0 = X;0€ + X086 +  + X068 + X+106:1 +  + X06€,
= X+10€+1 +  + X0€, .
R(o) o€ +1, ,06€n : oe +1, ,
gen
ki+10€r+1 + + koen = 0.
o(k+ie+1+ + kien)=0. ki+ie+1+ + keen N(0O),
N(o) e,e, ,6& ,
Kiv1€@+1 + + kien = he + Le + + le .
e+ e+ + Le - k+1€41 - - ken = 0.
€,€, ,6,&+1, ,€& N Vhn : li=0,i=1,
2, ,r,k=0,j=r+1,r+2, ,n. oe+1, ,0€n
: R(o) : dm( N(o)) =r,dm(R(g)) =n-r,
dm( N(o)) + dm(R(c)) = n O
rank(c) =n , © . O , R(o) =
Vo, O , N(o)={0}, o : o
1 R’ o {a, &, &)
1 2 3
A= 1 :
2 7
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R(o), N(o),rank(c) null(o) .
o {e1, &, &) x= (%, X2, X3) ,0(a)
Y= (Y, Y2, %) 5.3  ,y= AX. N(o)
Ax =0,
1 2 3 X 0
1 3 4 X = 0,
2 5 7 xs 0
x =(1,1, - 1)7, null(c) =1  N(o) X1
ate-e R®
A G,e,a, A
1 2 3 1 20
1 3 4 (o 1 30
2 5 7 2 50
C,C A y= AX
Y= X1C + X2C+ X3C = (X1t )G+ (X + X)C .
R(o) y Ci, G , G C2
rank (o) =2, R(o) C (o3 : e+ e
+2e 2e +3e + 563,
n Vi
Vh : : Vi
R
3.1
Vi n ,0 Vi
a V,,oo , o
55 o T R n Vn A
o 1 o+T1,A O AC o Va,
(0 +1)a =o0a + 10, (A0)a = Aoa .
,0 +T ,A0 Vi
Vi 0: a V6o =0.
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o) Vi : -0 a V,(-0)a=-00 . o+
(-0)=86( ) -

R Vhn Hom( Vn, Vi),

5.1 Hom( V., V.) R

o T Vh {a.,02, ,dan}
A=(aj)mn B=(bj)nx n, o+1 lo

oo = an ajoi , Ta; = an boi,j = 1,2, ,n.

(0 +1)a; =oa; + 10, = Z ai + Z bo
-1 -1

:Z(aij"' bjai,j =1,2, ,n.

0O +T (aij+bj)nx n=A+B. AO ANA .
3.2
5.6 o,T R n Vi
o Vi, (ot )a =o(ta), o 0 T
ot Vn , a,B Vi, k R,

(a)(a+B) =o(t(a+B)) =o(ta +1B) = o +af = (or)a + (o )B,
() (k) = o(t (k1)) = o(ka) = kora = k(ot)a,

ot Vi
I VA : a Vi, o =a . Vi
o,b=0 : :
R {1]} .
i=(1,0",j=(0,1)".
o R? HE , P

opi = o(pi) = oi = j,poi = p(ai) = pj = (0,0)",
opZ po .
o 1 Vi o | Vi , o =10 =
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I, © T o , g .
5.7 0,1 R Vi , Vi
0 T A B, (03 AB .
o T Vi {a.,a2, ,dn} A =

(aij)nx n,B:(bj)nx n,

(or )a; = o(taj) :0(21 biai) = Zl bio(ai)

=Z bij(Z a0 k) =Zn Zﬂ aib; ax .

n

=y aby C=(G)mn, AB=C. Ot {aw,az,
o} C= AB O
{a.,az, ,dan} n ,
o A, 5.7 ,
g’ Al
o , O oo =0, o(a-B)
=0, o’
o -B=o0'c(ad -B)=0"0=0,
a=pB; e O Va, g’ ., B=0 'a
Vo, of =00 ‘a=aqa; o O
o
5.8 o n Vn , (1) o
(2) o (3) o
5.7 Vi
: n
1 R’ R z 6 ( z
o ), Ro y
¢ ¢ ), RR R i=(1,0,0)",j=(0,1,
0)', k=(0,0,1)"
R
R (1) = icosB + jsin®,

R(j) =- isin® + jcosB,
R(k) = k.
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cos@ -snB O
R(1,j,k) = (i,j,k) sin6 cos8 0
0 0 1
Ro
R (1) = 1cos - ksing,
R (i) = .
R (k) = isin@ + kcos@ .
coseg O gngo
R(i,j,k) = (i,j,k 0 1 0
-9n@ 0O cos@
R R {11, K , R R
cosg O sing <cos6 -sinB O
0 1 0 ssin cos6 0 =
-sing O coso 0 0 1
Ccos ¢ cos 6 - cos@sSnB sing
sno cos 0 0
- sin ¢ cos 6 sn @sno cos @
2 n Vi S S ,  Vn= S6
S, a V., a=da:+d2, a1 S,0: S, P.a =ai, P.a =a;
Vi ., Pi=P,,Po=P,,P.P,= P, P =6 ) .

a=0:+dz,p =PB:1+P2, a1, S,02,B2 S,k R,

Pr(a+B) = Pu((as+B1) + (az2+B2)) = ar+B1= Pua + P,
P.(la) = Pi(ko: + kaz) = la: = kPia .
P1 Vi : , P2 Vh
Poa = P, P.(a. +a2) = Pia: = a1 = P,
P.Pa = PiP; (a1 +0a2) = Pia, = 0= 6a .
Pi=P,P. P, =0 . ,P2= P, PP, =0.0
2 Vi : Vi= S6 &,
S 1, : . P
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P.a = P1((11+ (12) = 0a; = P1(C(1+ lﬂz),

k . k,a:+ ka:

: P.
3 g 3 R’ , 0 R
R’ a, X= (X1, X, Xs)' , O = Xii+ Xj
+xk. o R ,0 H, X y.
y = HXx, H . R m
Ax; + Bxx + Cxs+ D = 0,
(A, B, C)x+ D=0, x=Hy,
(A,B,C)H'y+ D = 0,
(A,B,C)H ' = (A, B, G),
T
Yy=(Y1, Y2, ¥s)
Acyr + Biyo+ Gys+ D=0.
3 , 3 R°
n )
N
, “ K n
) n ;
A, B ( C A=C 'BQ).
n
n

n “ ” :
J Dieudonne(1906—1992, ) ¢
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" (J Dieudonne .

,1999) .
A
1. 3 R’ , GZ(Xl,Xz,Xs)T R3,
(1) oot =a +ao, a0 R’ ;

(2) 00 = (X, X+ Xo, Xo + Xo + Xa) '

(B) o0 = (X + Xot Xa, X1 - Yo+ X3, Xa + Xs)';
(4) oa = (0, X, %)

(5)aa =( %, %, %)" .

2. M(R)um n R n , C
M(R)nx n, X  M(R)mn, T(X) = CX - XC. : T
M( R) nx n , A, B M(R)nn, T(AB)=(TA)B+ AT
(B) .

3. A,B,C,D M(R)u n, X M(R)nxn,

(1) T(X) = AXB+ CX + XD, ‘T M(R)n » ;

(2) T(X) = AXB, T A, B

4.

(1) o: R > R, g(( X, X)) = (83X - X2,2% +4%);

(2)0:R3_>R3, O(( X1, X2, X3)) =(2%X1 +3X%X2 - 8X3, X1 + X + Xs,
4% -5x) .

5. o 3 R’ , e=(-1,0,2",e=(0,1,

1)",e&=(3,-1,0)", o(e)=(-5,0,3)",0(e)=(0,-1,6)" ,0(&) =
(-5,-1,9)" .

(1) o {a,e,es}

(2) o e:=(1,0,0)",e,=(0,1,0)",e5=(0,0,1)"

6. 3 R’
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£, = (1,0,1) ,e, =
n: = (1,2, -1)",n2 = (2,2, -1)" ,ns = (2,

3

(2,1,0)",e5 = (1,1,1)";
-1, - 1)

T

o R o(ei)=ni(1=1,2,3),
(1) {€1.€2,83} {ni1,n2,Nns} ;
(2) o {e1,€2,63}
B
1. T Vv T°=T,Im T=U,Ker T= W.
(1) v U, T(Vv) =vV;
(2) , T :
(3) V=UG W, V U W ;
(4) Ker T={v- Tvlv V}.
2. Vn R n {az,az2, ,an}  Vn
Ti; Vi Ty =aj, Tigxk=0(kz i1,1,]=1,2, ,n).
Ti;  Hom( V., Vi)
3. T n Vi : Vn
ab ( Ta, Tb) = (a, b), T
T
(1) T , a V., |Tal=a;
(2) {ai,d2, ,an.} Vi : { Ta., Ta., , Tan}
Vi ;
3) A T . A
4. o n Vn , W V, , W
o w W o o
Vn , O o
5. O R’ X= (X1, X2, X3) "
R, T(x) = AX,
1 -1 3 2 0 -1 1 0
(1) A= 5 6 -4 ;(2) A= 4 0 -2:(3) A= 0 1
7 4 2 6 0 -3 0
Im( T),Ker(T)
6. T 3 R’ X = (X1, Xz,
x;3)! R, T(x) = AX,
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3 4
A= 3 4 7
-2 20
Im(T),Ker( T) :
7. T 4 R’ X= (X1, X, X,
xa)! R, T(x) = AX,
11 1 1 1
1 2 3 4 5
A = b=
1 3 6 10 15
1 4 10 19 31
Im( T),Ker(T) : b

8. 'n Vhn



1.1

Vn

A.3) .

B=C " AC,
A= (aj)nx n,
X, AX =A X,
A= (aj)nxn
R
, R

A

( Jordan

C(

A.1)
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C
6.1 A C n : A C n
X,
Ax =Ax (Al - A)x=0, (6.1)
A A , X A A
6.1 : X A A :
k, kx A A
(6.1)
det(Al - A) = 0,
det(Al- A) A n : AT - A .
6.2 A=(aj)nn C
f(A) = det(Al - A) (6.2)
A Al- A A , f(A\)=0 A
; A A : k A k
A n : A A n
n C n :
n a, a
n n ; n
) a , a :
A . A=(aj)sxs
, A f(A)=0 A5 E .Galois(1811—1832)
, QR , Jacobi : ,
1
A= > 73 (6.3)
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A
B A|—‘)\_5 3 ‘-()\ 5)2-9= (A - 2)(\ - 8)
3 A-5 ’
A A1=2A2=8. A1=2,
-3 3 Xy O
3 -3(x2)_ 0’
x =(1,1)", Ap=2 ke (ke 0) .
)\228,
3 3,y 0
3 3(x2)_ 0’
x=(-1,1)", A.=8 ke % (ko2 0) .
1, A ( )

f( X1, X) = 5% - 6Xi % + 5%,

f( X, %)

5 -3 /X
f( X1, X2) = 5X; - 6X X2 + 5% = ( X1, X2) 3 ( ): x' AX,

X:(Xl,Xz)T, A 1 A
5xi-6x1x2+5x§=1, :

( 1). a=
A1
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, b=——=—1 A Ao
Ao 2 2
e o X L1
2 2 2
) €1,€2 .
2
4 6 0
A= -3 -5
-3 -6 1
A
AN-4 -6 0
INl- Al=| 3 A+5 0 |= A -1 +2),
3 6 A -1
A A= -2 A2=As=1. Ai= -2,
-6 -6 0 X 0
3 3 0 X = 0,
3 6 -3 xs 0
x;=(-1,1,1)" . A= -2 k % ( kez 0) .
Aa=As=1,
-3 -6 0 X 0
3 6 0 X = 0,
3 6 0 x 0
x=(-2,1,00",% =(0,0,1)" . ,
A2=As=1 koo + ks X3 ( ke, ks 0) .
A=1 A ,

-1 1
-9 5
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0) .

A
|}\I-A|:‘)\+1 '1‘:@-2)2,
9 A -5
A1=A2=2, Ai=A2=2,
3 -1 /%y O
9 -3\x) o
xi=(1,3)" . Ai=A2=2 ki X ( ke
: A 2,
f(N) = A1 - A A
A- a1 0- a 0- an
0- azz A - & 0- a&n
fAAN) =| Al - A= ;
0- a1 0- an A - am
2" n ., n=3 fQ) 2=8 3
A - a1 0-a> 0- as
fON) =| A1 - A= ]0- @ A - a2 0- &s
O0- a O0-asx A - as
A 0 O -ax 0 O A - a2 O
=10 AN O|+ |- @& A O+ ([0 - & O+
0O 0 A - a1 0 A 0O - a2 A
A0 - as - a1 - a2 O -an 0 - aus
O A - &s|+ |- &1 - & O+ |- a1 A - as|+
0 0 - &s - @1 - &2 A - a1 0 - ass
A - an - as - &1 - &2 - Qs
O - a» - &3|+ |- &1 - & - as
0 - a2 - &3 - @1 - G2 - A3
:)\3-(a11+ Qo + a33))\2+ e a12+ e al3+
Q1 A2 1 Q3
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i1 di2 i3
2 s
)\— @1 @2 as| = A+ al + a\ + a
32 A3
a1 32  dAss
A Cf(N) A°
1,A"(0< r< 2) a- r A 3-r (-1)°""
) , n .
6.1 A=(aj)m n, A fA)=|A1- A] A"
1. A (0< rs n-1) A n- (-1)" "
A=(aj)nxn, N A, A2,  LAn,
fA) = AL - A= (A -A)(A -A2) (A -An)
=A" - A+ A+ FADAT (- )N A, A
6.1 (1) A1+A2+ +An=aut+ a2+ +anm, A
A , A , trA; (2) Aah2 An =
| A .
6.2 A A XA A ,
(1) R kA , k :
2) A" A" , m :
3) A AT AT
X kA, A" A? RA™ A
(3). A | A|Z 0 . A n Y
An=| A, A , A% 0. AX=AX,
Alx = A'l)%(Ax) = =A '(Ax) = )%x
% Al Y % O
6.3 X X A ke, ke :
ki X + ke %% O, A A
X1 X A A : Al - A)x =0,(AIl -
A) x> =0, Al- A)(kx + kx)=0. (kixe+ kexe)# O, ki X, +
k2 X2 A A O

Ai,Az,

-1

l)\nl A
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A= Al= (0 -AD)( -A2) (A - )

A 6.1 Aih2 An=|A|z O, Nz 0(i=1,2, |,
n) .

A - A =l -AAa 0 - A= T-Aa At - Al
=(-)NTAl N - Al
SCOVEERTL M A A 3o
:)\-)% )\-t A-)\—ln

Al AP, NGt O

(Al - A)x=0 , A

A . (Al - A)x=0 A

A

A n A , (Al - A)x=0
) ) X1, X2, , Xs,
S ={x= kx+ kx + + kx| ki, k, ,k C},
S ={x=kx+ kx + + kxs | ki, ke, ,k R},
S A A C" , S A
A R’ : :
S .
1.2
6.3 n A B, P P 'AP=B,
A B, A B
, n Vn o Vn {a.,
Oz, ,0n} {a".,a" 2, ,a'n} A B,
C, B=C'AC, A B.
6.4 ,
A B, P, P 'AP=B.
N - B|=|Al- PYAP|=| P'(AIl - A)P |

=PIl AL-A) | P|=] P || P|IAl-A|=|N - A],
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A B , O
5 X1, Xo A A, A2 DYDYy
X1+ Xz A
X1+ X A A ., AKX+ X)) =A (X
+ %), X1, X A A1,A2 : AXi =A1 X, AXe =
A2Xo .
AXetA2xX= Aa+ A = A(X + X2) = A (X + %) .
A -AM)X+A2-A)%x=0.  (A1-A)Z (A2 -A), X X
1=k . ArXi= A= ARG = KA = A ke =Ax, (A1 -A2) X
=0, A=Az, AZ Ao . X1+ Xz A
6 f(xX)= anX"+ a1 X"""+ + ax+ a X n
f(A) = aA"+ a1 A"+ + @A+ al,
A=(aj)mn, | n . A B, f(A) {(B).
A B, P, P'AP=B. k
m:
(1) kB= kP "AP=P "(KA)P . kA kB;
(2) B"=BB B=(P 'AP)(P 'AP) (P 'AP)=P 'A"P, A"
B";

(3) f(B)yz=a,B"+a,.:B" '+ +aB+al=P '(aA"+ + aA+
al)P=P "f(A)P .
f(A) f(B).

2.1

6.5 n A A n

P, P 'AP=A, A ,
A1
A = W = diag(A1, A2,  ,An)
An
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P=(X1,X2, 1Xn)1 Xi(i=1,2, 1n) n . P ’
X1, X2, , Xn : xz0(i=1,2, ,n). P 'AP=A
AP = PA,

A( X, X, ,X)=(X,X, ,X)dagAi,A1, ,An) .

(Ax, A, ,Ax)=(A1X1,A1X, ,AnX) .

i (A2 - A1) X1 + + b2|2()\2 - )\1))(2|2 + + bai(Ar - A1) X1

Ax =Aixi(i=1,2, ,n). , X (i=1,2, ,n) A Ai
, X, %, Xa
, In
6.5 A n , A
N\ , A n
6.6 A, A2, Am A :
B: xu, Xz, ,Xu X1, Xez, Xl Xm,Xm2, , Xm
Ai,A2, Am m , B
m . m=1 | B: X1, X2,
, X1, . m<r m=r
bii, bz, b b, b, b b be, b
b X+ b X+ baaxer + b X+ bBaxae+ 4 by X =0,
(6 4)
A (6.4) : Axi =Aixi(1< j< i, i=1,2, ,r),
budiXi+ 4 b AuXar + bahoder + + by Ao X
+  +tbuAXat 4 b =0 (6 5)
Ar=0
bodoXor + + piAaXer + + baAiXa+ + b =0,
Xei, Xez, Xl ) X1, Xz, o, X : , biAi =0
(1< j< ki, i=2, ,r) A A2, LA A :
A2, LA , bj=0(1< j< i,i=2, ,r); A#0 ,(6.5)
(6.4) A
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+ + brlr()\r ')\1)Xr|r:O,

A1=0 , bi(Ai-A1)=0,(1< j< i, i=2, ,r), bj =0(1< j
< L,i=2, ,r) : bj=0(1< j< Ii,i=2, ,r), (6.4) b X
+ +b1|1X1|1=0, X, o, X , by =0(1< j< I1), b
=0(1< j< I;,i=1,2, ,r), B I

6.5 6.6
n A n , A
, A k(<n) , A :
6.5 ,n A A n
; A , n ?
6.7 n A , A ki
Ai, Ail - A n- ki, Ao Ak
6.8 Ao n A k : Ao
I k.
B 2
6.7
A s Ai,A2,  ,As, ki, ka,
, ks ki, k2, , k A, A2, ,As n
: : ki+k+ +k=n. 6.6
: A ki+ ke + +k=n
6.5 A
Ai(i=1,2, ,59)
i A ki, 6.8, I|i<ki, A
n 6.5 A I
1
3 -1 -2
A = -4
-1 4



177

A-3 1 2

AN-Al=] -2 A 4 =\ -3)(\ -2)°,
1 -1 A-4
A= 2( ), A2 =3
A1 =2,
-1 01 2 X 0
-2 2 4 X2 = 0,
1 -1 -2 X3 0
p= (1,100, p. = (2,0,1)" .
A2 =3,
0 2 X 0
-2 X2 = 0 ,
1 -1 -1 x5 0
p=(1,2, -1)" . 6.7 ,A
2 1
P=(p,p, )= 10 2 ,
0 -1
P ' AP=diag(2,2,3) .
2
-1 1 0
A= -4 3
1 0 2

A+1 -1 0
IAl-Al=| 4 AX-3 0 |=(\-2)(-1)%,
-1 0 A-2
A=1( ), A2 =2
A=1, (1- A)x=0,
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R(I- A) =2, A1 1
6.7 A .
3 n R" n A ,
A=A, ).
R" n A , R
e = (0, ,0,1,0, 0)(i=1,2, ,n),
“ 1 i , A . P=(g1,e2, ,

€n)= 1., P TAP=diag(A\:1, 2, ,An), P=1l,,
A=1""Al=P "AP=diag(A1, 2, ,An),

Ai,A2, ,An A €1,€2, ,En ) , N A
=\ . , MEA (L 0§ n) . ALA, X, X
, X+ xz0, x+% R , Xi + X
A . 5 A A
, . A=A2=  =A,. A=Al,, A
2.2
6.9 :
A A , X ,
AX=AX, Xz 0, A A , X X
A , A=A,
AX = AX = AX= AX = AX
X Ax = X' (AX) = X'AX = AX' X (6 6)
X AX = (X A)x = (AX)' x = (AX)'xX = AX X (6 7)
(6.6) (6.7),
(A -A) X x =0,
xt 0,x x>0, A-A=0, A=A, A 0
A= a+ bi A =a- b . A=(a)

y dlij aij , A=(ai,-)mxn A A B



6.10 n R" A
A1 Ao ,Rn X1 X2
A1, A2 , AXt =A1 X1, AXXe = A2 X . A ,
A=A,

)\1X2TX1 = X-Zr)\lxl = XzTAX1= X;ATX1

(A%) X =A%) Xt =A2% X

A1-A2) % x =0,  Ai# Az, X % =0, (X,%)=0, X1
X2 Il
6.11 n A, n P, P AP
n n=1 |, ns k
X n=k+1 |,
6.9 A o A A
., Ap=Ap. P k+ 1 R*(k+1
) P, P2, 4 Peet Po= (P, P2, ,Pcs1), ,
PoPo=1, P
T T
Py Py
T T
. P
Po APo = A(p p2 Pc+1) = (Apr Ape Apk-+ 1)
. -
Px+1 Pk+1
T
P
P
= (Apr Ape Apk+1)
~
Pk+1
A pI(Apz Apk+1)
_ 0 P2 A piAB
A(p: pe1) O BTAB
0 le

AP, , P, AB= O,



180

Ps AP, = TO
0O B'AB
B'"AB k . k Q, Q' (B AB)Q
=A, A Po Q ,
P= P Lo :
Q
) 1 0o . 1 0 A O
P' AP = . Po APo = O
0 Q 0 Q 0 A
6.11 , PTAP=diag(A1,A2, ,An), A, A2, A
A ,P=(p,p2, .pn), P A A . ,
6.12 n A, n P,
P" AP =diag(A1,A2, ,An), A, A2, LAn A
6.12 P, P AP
(1) A , A A, A2, Am,
Ai ri
(2) 6.7 1 A r ., Schmidt
, ri
6.10 , , Zl r=n
( ) X, X2, X .
(3) X Ni(i=1,2, ,n),A {At,Ahz, L Am} ‘A1,
Aoy A ) . P=(X1, %, ,X),
PTAP = diag(\'1 , A2, L Ah) .
4
01 1
A= 1 0 1,
1 1 0
P, P'AP
(1)
Ao-1 -1
IA1-Al=|-1 A -1]= -2) + 1),
-1 -1 A
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A A =20 = - 1( ) .

x =(1,1,1)" . p="7(1,1,1)" .
Ae= -1,
-1 -1 -1 X 0
-1 -1 -1 x = 0,
-1 -1 -1 x5 0
x=(-1,1,0)",xs=(-1,0,1)" . Schmidt
Ez=>@=(-1,1,0)T,53->@-(2:2)x2= %%1T
1 T 1 -
P = 2(-1,1,0) Ps = 6(-1,-1,2) .
(3)
1 1 4
3 2 6
P= (PP p) = & = -
3 2 6
Lo 2
P ' AP=diag(A:,A2,A3) =diag(2, - 1, - 1) .
Xo , ng(l,l,a)T, :
a= -2, x=(1,1,-2)", X2 X , X2, Xa ,
P P2, P
5 n A B , P P'AP
=B.
A B , A, Az, LA, A
B , P., P{AP:i=diagA1, A2, ,An),

P,, P;BP,=diag(A1,A2, L,An) . . P{ AP, = P, BP,,
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P=P. P,

P =(PP) =P P,

P,P.  AP.P, =B .

P'AP=B.

0
-2 1 0 ;

(1)

-2 0 1

(3)

0

P 'AP=A:

-2

-1 4

19

(1) 25

- 11

17

-2 00

0

-5

3 0

(4)

3

100
A

(2)

15
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P, P" AP = diag(1,

tr( AB)

4 0 0 2 -1 -1
(3) 0 3 1 ; (4 -1 2 -1
0 1 3 -1 -1 2
-7 24 0 O 1 -1
24 7 0 O o -1 1
(5) 0 0 -7 24 (6) -1 0 1
0O 0 24 7 -1 1
8. A , A"=0, A
9. n A n , B A
Q R, A= QR,B=RQ.
10. A , Al
1. A , A
2. A A = A,
,1,0, ,0) .
13. A n LA =, P,
; I, o)
P'AP = ,
O - Il
In, Ir, In- n,r,n-r
14 . As n, Box s,
(1) tr( AB) = tr( BA);
(2) n=-s, a,b R, tr(aA+bB)=atrA+ btrB.
5. 1-A 1, 0<|detA|<2".
16 . A trA A
17 . n A=0 n B,
0.
18 . = , A B=PAP ‘- P 'AP,
19. A,B n ,
o _ A B
B A
A+B A-B
20. 3 A A =1,A2=2,A5=3,
a=(1,1,1)" ,a=(1,2,4)",a=(1,3,9)', b=(1,1,3)".

A'b
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(n )
21. 3 A Ar= -1, A2=A3=1
a=(0,1,1)", A
22 .
2 -1 2
A= 5 3
-1 b -2
a=(1,1,-1)7,
(1) a, b a A :
(2) A ?
23 n A A" | Alz 0,
An (A7) + 1
24
-1 ¢
A= 5 b ,
1-oc - a
|Al=-1,A A Ao, Ao
=(-1,-1,1)", a,b,c o
B
1 A, B n , : AB  BA
2. A B n
Q' BQ ,  AB .
3. A B n , AB = BA, n
P, P'AP P 'BP
4 Anx 1. A
5. b=(b,b, ,b),c=(a, 6, ,&),
aij = bib + cg .
(1) R(A)< 2, R(A)=2 b, ¢

2) A

A1

Ai,A2,

Q' AQ

A=(aj)nxn



— ( ) - 1 :
: , N
1.1
: n
7.1 n X1, X2, y Xn
f(X1, X2, , %) = aj XX, (7-1)
=1
aij ,aj=ai(i,]=1,2, , n), f R n
X:(Xl,XZ, ,Xn)T,A:(aij)nxn, aij:aji(iyj:]-,zy ;n)s
(7.1)
f( X, X2, , X)) = X AX, (7.2)
A f . ,
x= Cy, y=

(Y1, Y2, .¥)', n
f= x Ax = yTCTACy

f=Aiyi+Aayo+  + Anyan . (7.3)
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1 (7'3)
(7-2)
, : 1.2
: n A, n
C, c' AC A =diag\\1,A2, An) .
7.2 n A B, C C'AC= B,
A B, AD B
; n A
1.2
1.
, .3
{O,1,],k},
f= Xi -2% -2X3 -4XXe+4XiXs+8xexs = 1. (7.4)
?
’ (7'4)
3 {0/ e, &, &}, ()
e,e, 6, : ( ) €1,£2,€3,
P,
(€1,£2,83) = (&1, &,&)P, (7.5)
P=(pij)sxs, €i = Z Pki€k , M a, M
X:(X11X21X3)Tl y:(y11y2’y3)T1
Xie1 + X2€2 + Xz€3 = 0 = Vi€1 + Y2862 + Vy3€3,
(&,&,8)X =0 = (£1,£2,83)Y = (&1, &, &) Py,
X = Py. (7.6)
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P
€1+ €1
| = €2 €1
€3 €1
Z Pi1 Pi1 €
1<bm=i< 3
= Z Piz Pi1 &+
1<b=ij< 3
i3 Pi1 €+
1sts3p3le
Pi1 Pi1 Pi1 Piz
15 T< 3 1£5T< 3
= 1Z 3piz Pi1 1Z sz Piz
lzgspmpil 1_2-mp3 Pi2
P
) (7'6)
(7.6)
; (5.8)
, 3
o c=(a,c,a),
e,es} . M
=(y1, y2,¥3)
(7.7)
1 3 R’

F=2xXi+3X+23X5+72X1% + 6%, - 147 =0

(1) , F

f=2x+3% +23X5+ 72X X .

{0, e,e,68}
{0 e,
y

(7.7)

(7.8)
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2 0 36
A= 0 3 0 ,
36 0 23
A -2 0 - 36
IANl- Al=| 0 A-3 0 |[= (N -3)(\ -50)(A + 25) .
- 36 0 A -23
A A1=50,A»=3,A5 = - 25,
3y 0 -4y
p. = O , =1 ,p = 0
4 Y 0 3y
X = Py, P=(p, P, Ps), (7-9)

(7.9) (7.8)
F= 50Vyi + 3y; - 25y5 + 6V, - 147
= 50yi + 3(yo + 2y, + 1) - 25y5 - 150
= 50yi + 3(y: + 1)° - 25y5 - 150
(2)

4 Y1 0
=y o+ 1 (7.10)
z Y3 0
F=50Z +32% - 25% - 150 .
Z % z
>+ > - - =1 (7.11)
(3) (52 (6)

(7.5) (7.7) : : (0,0,0), e = (1,0,
0)',e=(0,1,0)', e =(0,0,1)" . , , DL, P2,
0 _ (0,1,0)

: , (7.11) .

2.
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7'1( ) n f=XTAXl X:(X11X21
Xn)T,A n , X = Py, P n
Y= (Y, Y2, L Yn), f=y P APy= Z MY A, A2, L An
A n P n A Ai,A2,  LAn
2

2 2 2
f= X1 -2Xo -2X3 -4Xi X2+ 4X1 X3+ 8X2 Xz .

f
1 -2 2
A= -2 -2 4
2 4 -2
A INT- Al = (N -2)°(\ +7), A =A2=2,As=
-7. A1=A2=2

2 -2 X 0
4 -4 X2 = 0,
-2 -4 4 X3 0

X1+ 2% - 2X%X3 = 0.

x=(-2,1,00",%=(2,0,1)" .

T

T

_ .21, 2 4 5
P = 55" 'PT 353535
)\3:-7,
-8 2 -2 X 0
2 -5 -4 X = 0,
-2 -4 -5 x 0
x=(1,2, -2)" . ., p=(17273 -23)".
X = Py,
2 2 1
5 35 3
P = ( ) = 1 4 2
CAPeRR)E s g5 3
o -5 .2

w
ol
w
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f=2yi+2y -7V .

1.3

1.2 : ,

3
f( X1, X2, Xs) = Xi +2X5+ 5%+ 2X1 X + 2X1 X3 + 4 X2 X

X2 ) X2

f= XA +2( X+ X)X +2X +5X5 + 4X X

= X +H2( %t X)Xt (Xet Xs) - (Xo+ Xs)°+ 2% + 53 + 4% X
= (X4 Xo+ X3)P+ Xa+ 4X5+ 2% X

= (Xt X+ X3)+ (X5 + 2% Xs + X53) + 3%

= (X1 + X2+ X3)2+(X2+ X3)2+3X§.

yi = X1+ X2+ Xz, X1 = VY1 - Y2,
Vo = X2 + Xs, X2 = Y2 - V3, (7.12)
Y3 = X3, X3 = V3,
f(x, X, X) = Vi+ s+ 3V5.
X=(X11X21X3)le=(y11y21y3)Tl f:XTAX1
1 1 1
A= 1 2 2
1 2 5
(7.3) x=Cy ,
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C' AC = diag(1,1,3) .

4
f( X1, X2, X3) = Xp X+ 2X1 X3 - 2X2 X3
: f( X1, X2, Xs) :
, , 1
Xt = Y1+ Ve,
X2 = Vi - Ve, (7.13)
X3 = Vs .
f= (yr+ y2)(yr - y2) +2(yr + y2) ¥5 - 2(y2 - Y2) ¥s
= Vi- e tAyys
= Vi- B HAyys - Ays + 4y
= Vi- (Yo -2ys) + 4y,
z =y, Y = 7,
Z = Yo - 23, ¥ = Z+ 223, (7.14)
Z3 = Y3, s = 3,
f( X, X2, X3) = 4 - B+ 4% .
X= (X, X2, X3)' Y= (Vi, Yo, Y3) ' 2= (2, 2, )7, f
0 17 1
A= 12 0 -1,
1 -1 0
(7.13) (7.14) X=Dy,y=Fz, x=DFz=Cz
1 0 1 0 0 1 1 2
D= -1 0 ,F= 1 2,C=DF= 1 -1 -2
0 1 0 0 1 0o 0 1

C' AC = diag(1, - 1,4) .
N (1)
(7.13)
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; (2) : :
1 2 1
n
7.2 ,
1 A
, 2
Vi = X1t X2+ Xz, Vi = X1+ X2 + Xz,
Y2 = X + X, y2 = X2 + Xs,
Y3 = X3 . Yz = 3 X3 .
f
f(xl,X2,X3)=y§+ y§+3y§ f(xl,Xz,X3)=y§+y§+y§.
: , f . ,
?
1.4
1.3 .
7.3( ) n f( X1, X2, , Xn) =X AX A
r, X= Qy,
f=y (QAQY= by+ +byp- buiyps- - by,
p r-p
B.3.
7.3 f=x AX ,
7.3 ,
f=x Ax x= CQy f=y (C"AC)y,
C'AC = diag(di, ,do, - o+, , - dr,0, ,0).

D= diag &, , dy, dpez, , dr,1, ,1
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T 1 1
= ’ ’ ’ = d ! ’1 ’

,0

F=CD
F' AF = (CD)' A(CD) = diag(1, 1, -1, - 1,0, ,0).
x= CDz, z=(z, 2, ,z),
f= 2+ + zzp- 22p+1 - - 7
f , +1, -1
5
6 X1 Xs + 8 X2 X3
1° f=6 X1 X + 8% Xs, f
0 0 3
A= 0 0 4
3 40
A
0 -3
INl-Al=|0 A -4|=A(\-25).
-3 -4 A
A1=5A2=-5A3=0.
> A =5A,=-5A3=0,
5 0 -3 X 0 -5 0 -3 X 0
0 5 -4 % = 0, 0 -5 -4 % =0
-3 -4 5 x 0 -3 -4 -5 x 0
0 0 -3 X 0
0 0 -4 X = 0
-3 -4 0 X 0
, A1 A2, A3
x1 = (3,4,5)7, %= (3,4, -5",xs=(-4,3,0" .
3 4 1" 3 4 -1' 4 3
T 5052 2 PT 5052 2 'PT T5s
¥ X = Py, P=(p,p,p:), f=5V -5y,
Qz,

T

y:
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X= PQz,
f= 42 -2
, 1, 1, 0,
2.
6 A n , A r n-r
B, AB=0O
A rn : P,

P'"AP = D = diag(d, d, ,d,0, ,0),
dz 0(i=1,2, ,r).
C = diag(0, ,0,C+1,G+2, ,G),
Gz O(i=r+1,r+2, ,n). DC= O, P" APC= O, P

APCP' = (P) *P"APCP' = (P")"'OP' = O .
PCP' = B, P , B C n-r, B
AB= O .

2.1

f:2xf+2x§+3X§-2x1x2+4x1X3,

f f , f=x AX. X=( X1, Xz,

X3)T,

2 -1 2

A= -1 2 :
2 0
xt 0 f=x Ax>0, f x=0
7.4 X=(X, X, ,Xn)T, f=x AX
>0, A , f , A
: ( )
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(1) A ,
(2) A n AD I
(3) A n
(1) (2) f= x Ax , 7.1,
x= Cy
f=hyi+ + by,
y=(yi, ,¥) . k< 0(1< k< n), W k
0 : Xk = Cyk )
f = xXkAxx = k< 0,
f : , A n. A
AD In .
(2) (3 A n, X= Py,
f=y PPAPYy = A1Vi+  + AnVh,
A2, An A . , A1, Az,
(3) (1) A n : X= Py,
f=Ayi+  +AaYa,
Ai>0(i=1, ,n). x£ 0, y=P' xzO0,
f= X AX= A1y +  +Aaya > 0.
A O
, (
7.5 n f=x Ax A
( ) ,
A1 a2 a1 k
A= | S o(k=1,2 .n).
aki a2 aAkk
B.4

An
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2 2 2
f= txi +2Xa+3X5 - 2X1 X2+ 4 X1 X3

A =

A= t, ] A | =
A=t ] Al ‘_1
11

S ==
t6 , A : f
0. ,

2 A

A

P( P '=P"),
P" AP = diag(A1, )2,

t -1 2
-1 2 0,
2 0 3
] ‘:2t-1,|A3|=|A|:6t-1l.
, f x=(0,0,0)"
t=2

B A=B.
A, A2, An>0,

An),

A= Pdiag(A1,A2, ,An)P’

= Pdlag( )\1, )\2,

o, f , A

. An) P Pdiag( A1, A2, , An)PT.

X= (X1, , X)), f=x Ax<

) Az(aij)nxn ) 'Az('aij)nxn )

7.4 7.5,
7.6 A n
(1) f= x Ax ;
(2) A n,
(3) A n
(4) A
3
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-5 2
A= 2 -6
2 O -4
A
- 2
|A1:-5<0,|Az|=‘2 6‘:26>0,|A3|:|A|:-8O<O.
7.6 A

*

2.3

f(x+ h,y+ k) = f(x,y)+ fx(x,y)h+ fy(x,y)k+
(X, Y)W+ 2% (X, y) hk+ fiy(x,y) K + o(h° + K),
o( W + K) h + K , (x,y)
fx(x,y)="Ffy(x,y)=0. fy(x,y)="Ffx(x,y)=0
Af=f(x+ hy+ Kk - f(x,y)
P (X, y) P (X,y)

h 2 2
I " + O(h + k)
(X, y) fw(x,y)

=(h, K

h 2 2
=(h WA +o(h+K),

(X,y) : A ( ), Af
( ), f (X, y) ( ) -
4 f=x - xy+y -2x+y
L 2x-y-2=0,
X
-t X+2y+1=0,
y
(x,y) =(1,0) f ,
Al (X, y) (X, Y) _ 2 -1
(X, y)  Fuw(XY) (x=1.y=0) -1 2
A : f (1,0) , f f(1,0)= -1.
n f( X1, X2, , Xn)

5 A , T X AX=Db X
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X AxX=Db AX =D
f(x*):%(Ax x) - (b, X" )
_ 41 . _ 1
—2(Ax X )-(Ax ,x ) = 2(Ax X )
_ _ 1 1
= f(x) - (X' )= Z(AXX) - (b,x) + 2 (A", x")
= 21AX) - (B,X) = (B,X) + (AX,x")]
= ZIAX) - (AX %) - (A, )+ (AX,x)]
= SIAM- X ), x) - (A, x - x )]
A L AT = A,
X x)=(Ax*)T(x x*)=x*TAT(x X )
= x "A(X-X )= (X ,A(X-XxX))= (A(x-X),x )
_ 41 * _ 1
F(x)= S5 (A(X- X ), (x-x)) =5(x-x,A(X-x))
=%(x x)TA(x X )
F(x) A f(x)
A X- X # 0, F(x)>0. F(x)
X-x =0 X AXx=Db
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3 R, {O:1,], K,
X= (%1, X2, X3) ' F( X1, X2, X3) =0,
F(X) = anX: + @ Xo' + a3 X5 + 2812 X1 X +
2a3 X1 Xs + 2a3XoXs + b xe + b o + by x3s + C, (7.15)

b= (b, b, b;)T, A = (a&j)sxs,

a=a,i,j=1,2,3, A , (7.15)

F(X) = X AX+ b x+ c. (7 16)

6.12 , P, PTAP=diag(A1,A2,A3), A1,Aa2,

As A , P=(ps, P2, 3), P, P2, P A1, Ao,
As : X = Py,

F(X) = (Py)" A(Py) + b’ Py+ ¢
=y P APy+ b’ Py+ c
:Alyi+)\zy§+)\3y§+2u1y1+2uzyz+2u3ys+ c, (7 17)

b'P = (b, b, bs)P = 2(U1,Hz2,M3)

’ )\1)\2)\3¢O y
2 2 2
F=A + = + A + =2 + A "
1 V1 A 2 ¥ , 3 Y3 A
”2 H2 H2
1 2 3 _
c- oty th =0 (7 18)
(7.18) z=y+ W,
z=(z,2,),y= (Y, V¥, V), Y= (Ut M,uz M ,us M),
F(x)=0
MZ+N,Z2+Ns2+d=0, (7 19)
d=c- (Ui Mi+u, Ms 45 Ms)
F(x)=0 . R(A) A

1 R(A)=3, AiAAsz0.  (7.19)
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1.1 A1, A2, As
(a) A1,A2,As, d
);

(b) A1,A2,As, d
(c) d=0,

12 Ai,A2,As
(a) A1,A2,As
,d>0

(b) A1,Az2 A5

, d<0,

(c) d=0,

2 R(A)=2,

: (

MZ +A22+ d=0,
d=c- (M: Mi+us M) .

2.1.1 A1 \»
(8) A1,A2, d
(b) A1, As
(C) A1, A2
2.1.2 A1\»
(a) A1, Az
(b) A1, As
2.2  (7.17)

)

d
d=0,

, d# 0,
, d=0,
,  Ms% 0,
Alzf+)\zz§+2p323 =0.
(a) A1, Az
(b) A1, A>
3 R(A)=1,

A, A2, A3

Yo= (M1 M, Uz M,0)'

2 2
M1 Mo
Fi B2

VSV =0.

(7 20)

(7 21)

(7.17)
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A#E 0.
31 (7.17) ( )
)\lzi+ rz, + szz = 0, (7 22)
r£ 0,52 0 . z= Qw, z=(z, 2, ) ,w= (W,
Wz,W3)T,
1 0 0
Q= 0 cosB -snb ,
O dn6 cosb6
cosO=r /r’+s,sin6=s /r’+s, (7.17)
Aw + P+ €wp =0,
3.2 (7.17)
MZ+712=0 ANZ+ sz =0),
r£0( s%£0).
3.3 (7.17)
Az +d=0.
() A. d , ;
(b) A d : :
(c) d=0,
1

F=2Xi1 X+ 2X1 X3+ 2XoX3 -6X1 -6X% -4x3+ 9 =0,

F
01 1 Ao-1 -1
A= 10 1, Ia1-Al=]-12 A -1/=0+ 210N -2,
1 1 0 -1 -1 A
, A A= -1 A= -1,A:=2, (7.17) (7.19)
d=25. 1.2(a)
A
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(1) f= xi+ x§+ x§+2x1x2+2x1x3+8x2x3;
(2) f= xi+2x§+5x§+2x1x2+2x1x3+6x2>@;
(3) T=2X1 % +2X X3 - 6 X2 Xs;
(4) T=2X1 % +4 X Xs;
(5) f= XiXon+ X2 Xopn-.1+  + XoXps1 .
2. X= Py, ,
(1) f=2Xi+2X§-2X1X2;
(2) T=5% +2% +4X X;
(3) f:2Xi+5X§+5X§+4X1X2-4X1X3 - 8% X3;
(4) f:'5Xi+X§'X§+4X1X2+6X1X3.
3.
(1) 2x* -4xy- Yy +8=0;
(2)5x2+4xy+5y2-9=0;
(3) 9x" -4xy+6Y -10x - 20y - 5=0;
(4) 21X +6xy+13y - 114x+34y+73=0.
4,
5. A mx n , AA’
6 . ,
1 1 1 99 -6 24
(1) 1 2 3; (2 -6 130 -30;
1 3 6 24 -30 71
-5 2 2 10 4 12
(3) 2 -6 0 ; (4 4 2 - 14
0 -4 12 - 14 1
7. t :
(1) f=2xi+ x§+x§+2x1x2+tx2x3;
(2) F=t(Xi+ %+ X)) +2X1 % +2X1 Xs - 2% Xz + X
8. A=(a;)nxn I o o "SR o'}
: B=(a;bbi)nxn :
9. A : AT AT AT ATA

10. f( X, X, ,xn)=xTAx , A

A,
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A2, A A . A< A2 < An. : R" X,
Arx X< X AXS AoX X .
11. A B : . AB AB = BA .
2. A L m, B, B"=
A .
13. 0o:1,02, ,0n N R"
(1) a,b R".a= a0a:1+ &0+ + adn,b= ho:+ kaz+ +
bt .
o
(a,b)=(a, &, ,an)B . :
o
B n (a,b) R" R"
(2) R’ () , by =(ai,aj), B=
(b;),
14 . f(Xl,X2,XS):5Xi+5X§+CX§,-2X1X2+6X1X3-6X2X3
2.
(1) c :
(2) f( X1, X2, X3) =1
15 . A n : A+ >1.
16 . f(Xe, Xo, Xa) =2 X + 3% + 3% + 2aXe X, a>0,
:f= Yo+ 2y, +5Y;, a
17 . X+ ay + Z+2bxy+2xz+2yz=4
X §
y = Pn
z ¢
n°+4.°=4, a,b P.
18.A n , : x R" X Ax =0
A=0
19 . ) r r 1
20.A n : : Y,

x R | X' AX|< y X X.
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B
1. A n , S U,
2 A B n , B n

T

P P AP P
3.

(1) 5x%° - 3y2 -2Xy+8yz+8zx+2y+4z=0;

BP

(2) 25x2+9y2+522+20xy+10yz+10x+4y+2 6z+12=0;
(3)2x2+3y2+422+4xy+4yz+4x-2y-122+1O=O;
(4) -2X +7Y +4Z7 +4xy+20yz+16zXx +4Xx+2y -4z2+8=0.
4 . A m , B mx n m= n,

B n.

s
2
f= Z (a.il X1+ a.iz X2+ + ainxn)
o}

d;; Ain
dpy1 a2 Azon
ag dy &,
6 .
A B
M = T
B D
(1) D-B'A™'B ;
(2) [M|= |A]]DJ, B=0.
7 . A n ,
An-]_ a.
A: T )
a Gnn

Cam | An-1]>a A,ia.
8. A , A
9. x R',a R,A n



205

(1) 1+ ax x>0, ; | + axx’ ;
(2) 1+ ax' A 'x>0, : A+ axx'



18 30 , 19
E .Galois(1811—1832)
1830 : , 20 80
, : 15 000
1.
( 1):
1 2
+ X 1 1
1 1 1
1 -1 1
{ ! } 1
2 {1, - 1} 1 -1
1 S a, b :
c, c=¢@(a, b, c=ab : [0)
( @:Sx S-9) . : a,b S,p(a,b) S.
2 G, G “
: G
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(2) a,b,c G, a(bc)=(ab)c( );
(3) e G, a G,
ae= ea= a
e
(4) a G, b G, ab=ba=¢e b a ', a
1 G G .
e,é G G : eced=¢€, G
n
2 G a G, a a ’
b, b a ,e G
= be= bal = (ba)d = & = B O
3 G A G A G A G
4 G : a,b G, ab=ba. G Abel
G  Abel + G
a a : - a at(-b)=a-b.
1 1 . e : G={o, ¢
+7 1. G Abe
(1) : :
(2) a,b,c {e, o}, a+(b+c)=(a+h)+c. 2°=8

o+ (o+0)=0=(0+ 0) + O,
e+t (et e =e=(e+e)+e,

o+ (o+e)=e=(0+0)+ e

(3) e :

o+ e= o0,

e+ e= e,

(4)o+ 0=e - 0=0,

ete=e -e=e.

G : a,b G, a+b=Db+ a, G Abel
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2 R Abel ) N
R . (Q",x),(R",x),(Q ,x), (R ,x)  Abd
Q" R*
Q =Q\{0};R" =R\{0} .
3 Z, Z n R ,
Zo= Z R=1{0,1, ,n -1},

a,b 2z, Zn

a=a,b=h, a-a b- b n : a- a+b-bh=a+b
-(ant+t ) n ,
a b=a+b=a+b=a b,
Zn . , )
Z, Abd .Z e=0.
a n-a=n-a a=a+n-a=n=0,
Zn a n- a.(z., ) n
2.
5 S oo a b,ab
a+ b, ab, “ mo (S, +) Abd |, “ +7
(1) a,b,c S,a+(b+c)=(a+Db)+c
(2) a,b S,at+b=Db+ a;
(3) o S, a S,o a+o0=0+a= a;
(4) a S, b S, a+ b=Db+ a=o0;b a ,
- a.
(5) a,b,c S,a(bc)=(ab)c;
(6) a,b,c S,a(b+c)=ab+ ac,(b+ c)a=ba+ ca.
(S +.,)
: (S.-)
3.
6 (S, +,) ,

(1) a,b S, ab= ba;
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(2) e S, a S,e ae= ea= a;
(3) a S\{o}, b S, ab= ba=e.
(S\{o},) Abel  , (S, +,) . (S, +,)
1 +” , 0
C R Q
6 C, R
Q.
7 K
(1) 0,1 K;
(2) a,b K, at b K,ab K, b% 0 f K
4 S S
S S
5 Z( 2)={m+n 2| m,n Z}, Z
Z( 2) , , 5. Z( 2)
m Z( 2) \{0}, m m=2 ,m'| z(2), Z( 2) O
6 Q( 2)={a+b 2|a,b Q}, Q
Q( 2) . 02 a+ b 2 Q( 2)\{0}, & -2b=
0, a=+ b 2, 2=i—§‘, a, b 2
a-20¢#0,
(a+ b 2) " = 1 =a2'b2 Q( 2) .

a+ b2 4a-2b
Q( 2)

(Z,+,x)  (Q+,x) (Q(2),+,x) (R +,x)  (C,
+,%x ).
(Z,+,x) (2(2),+,x) (Q(2),+,x) (R +,x) (C,

+,%x ).
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< r<|bl, a=bhbg+r.
4 a b, r S, ra+ sb=
(a,b)((a,b) a b ).a b
r s ra+ sb=1.
7 n yZn Z n R :
Z,=ZR=1{0,1, ,n -1},
a,b Z., Z, e
a b= a+ b, a b= ab.
3 (Zn, ) : + .
a=a,b=h, a-a b- b n , a=kn+ a, b=
gn+ b .
a b= (kn+ a)(gn+ b) = kqn’ + knb, + gna, + ab = a- by,
Zn : : :
Zo e=1.
a (b+c¢)=a (b+c)= a(b+ c) = ab+ ac
= ab+ ac= a b+ a c,
R (Zn, +,0)
: n : Zn .
8 P » Zp
7 Z, , iz, %0, i Z,
|J:I. p iz 0 (i, p)= u, v, iu+ pv=
1,
1= ju+ py=i- U+ p v=i u+0v= i u,
it=u, zZ O



1
(
)
W W Leontief 1936
, Leontief 1973 Nobel
( )
n , . [
X, bi [ (
) Xij j
i [
( ) ( ) Z Xij
bi Xi,
Z xi+ b= x(i=12, ,n), (1)
( )
|
> X j d, j
( ) I Vi
m; J

X,
n

Z xi+ d+vi+m=x(j=1,2, ,n). (2)
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, (1) (2)
1.
1
( )
1 2 n
1 X11 X2 X1in by Xy
2 X21 X2 X2n b, Xa
n X1 X Xm b, Xn
d d, dn
Vi V2 Vi
m m, my
X1 X Xn
2
(1) aj J I ,
J I ,
aj = _,(i,j=1,2, ,n) (3)
X
A=(aj)n n A )
, A
(3)
Xij = a&jX .
(1),

Zanj"'b: xi(i=1,2, ,n).

A= (@i)mn, X= (X1, X2, , Xn)',

b= (b, b, ,b)',
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AX+ b = X,

(1- A)x=b. (4)
(2) Xij = a&j X (2),

n

Z ajxp+ d+ v+ m= x(j=12, ,n),
-1

D= diag zi au,zi aiz, ,25 an
d= (di, dz, ,dn)’',
v= (w1, V2, ,Vn)T,

.

m= (m11m21 lmn) ’

z=d+ v+ m,

Dx+ z = X,

(I - D)x= z. (5)
aij ;
0< a; < 1,
Zaij<1.
aij , | - A - D
(4) (5),
x= (1- A) 'b, x=(1-D)"'z.
: J
4 vmo L 6
Xj’Xj’Xj (J_ 1 & ’n)' ()
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( ) ,
bs
1
(1) (2) (3)
(1) 0.20 0.20 0.10 0.70 1.20
(2) 0.24 0.60 0.36 0.80 2.00
(3) 0.05 0.25 0.40 0.90 1.60
0.08 0.15 0.10
0.40 0.40 0.32
0.23 0.40 0.32
1.20 2.00 1.60
A :
, 1.00, 1.00,
2.00 , ,
2
a-- ] (3)’
0.166 7 0.1000 0.062 5
A= 0.2000 0.3000 0.2250
0.0417 0.1250 0.250 0
b . (4) b=(1.00,1.00,2.00)"
1.258 8 0.2098 0.1678 1.0000 1.804 3
x=(1-A)'b= 0.4038 1.5767 0.506 7 1.000 0 2.9939 |
0.1373 0.2745 1.4271 2.0000 3.266 0
, X, = 1.8043( ), X2 = 2.9939(

), Xs =3.2660( ) .
C. (3),
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Xij = ajXj,
X111 X2 X3 11 Aiz2 aus x1 O 0
Xo1  Xo2  Xos 1 dz2 3 0O x O
X31  X32 X33 dz1 ds2 A3 0O 0 xs
1.804 3 0 0 0.3008 0.2994 0.204 1
A 0 2.993 9 0 = 0.3609 0.898 2 0.734 8
0 0 3.266 0 0.0752 0.3742 0.816 5
d. (8)
(1) (2) (3)
0.08 0.15 0.10
1.20 2.00 1.60
0.40 0.40 0.32 g
1.20 2.00 1.60 B
1.20 2.00 1.60
1.804 7 2.994 0 3.266 1
B,
d d & 1.804 7 0 0 0.1203 0.224 5 0.204 1
Vi V2 V3 B 0 2.994 0 0 = 0.6014 0.598 8 0.653 2
m: Mz Nk 0 0 3.266 1 0.3459 0.598 8 0.653 2




A 3 Jordan

Jordan
, Jordan
6 7/ , N A A ki
i Ail - A n- ki, ki Aok
A , ,
A Jordan : P,
J A
) N7 Aioow
P AP = : J = : (1)
w w 1
J A
Aiyi=1,2, 1, A : A Jordan :
J Ai  Jordan . Jordan 1 , Jordan
( : : ( 3 ). :
1985) .
, Jordan
: 6 A Jordan : A
, P , (
) .
P=(p, P2, ,Ps), P, P2y s P P : P
A Jordan : A Jordan (2)
, (1)
Ar 1 0 00O
0 A: 0O
O 0O A |0 OfO
A(Pu, Pz, Ps) = (P P2y o %) o 0 0lr. 110 (2)
O 0O 0|0 A:|O
O 0O OO0 O]
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Ai,A2 A A1 A 5 . (2) y P, P2, » Pe

(A-AD)p =0, (A-A1l)pe = Pi,(A-A1l)ps = pr;

(A-AD)p =0, (A-A11)ps = pu; (3)
(A-A2l)ps =0.
pl.,pz, 1p6 P )

(3)
(A-M1D)Vp=0,(A-M1D)'pz O
(A-AMD°p=0,(A-MD)p# 0, p

(A-AD)p=0p

(A-Al)ps,
(A-Al) o,

(A-AD)°ps =0,(A-A1)p £ O, (4)
(A-MDp =0, = (A-A11)ps .
pl’pz’ 7&’ )
(2), P=(p, P2, ,Ps) A Jordan
1 Y, A A k :

(A-AD)v=0 (A-AD"'vz O,

k
, k=1
\Y; A A k : Vi, Vk-1, , M
Vk =V,
Vier = (A -ADv=(A-AI)w,
Ve = (A -AD v = (A=A v, (5)
vi= (A-AD'v= (A-ADw .
Vi, Vo, Wk A A k
{vi, v, ,W}.
: ( )
1 A ki A i \i
( )
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(A-A:1)'v=0 N, d(i=1,2,3), (3)
(1) N3:[p31p21p11p51p4]1d3:6'1:5;
No=[ Pz, s, ], d2=6-2=4

N: = P1, p:],h=6-4=2.
(2) {p, P, p} A A 3 {p, ps}
A 2 .

{p, P2, s} P, P2, Ps :
: A1 Jor-
dan :
() (A-A1 1) R, i=1,2, |,
R« = 6(A ) - 5(A\1 ) = 1.

k=3, ds=5,ck=4,dh =2,

() Ns 1 : N2 ps .

R=(A-MDps,p=(A-A D), . Ny No{p,p,p} A
A1 3 :
( ) ds - d2 =1, N3 Ps N>

: : ds - d2>1, (2)
() N> P2 N, .
=dy - dh - o \? )
4-2-1=1. P, pe=(A-Al)ps, P No, {pa, ps} A
A 2 .
Ny , = di - |1 (
N, ), =2-2=0,
() Py P2, Psy s, Ps P Jordan (2) .
1 A Jordan ;
3 -1 1 1 0 0
1 1 -1 -1 0 O
Az o 0 2 0 1 1
o 0o o0 2 -1 -1
0O 0 0 © 1
0O 0 0 © 1
A

A -Al= @-M)@-A)+1 (-2 L-2A)-1=(@0-2)°.
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A 5 2,1 0. A
m=5
(A-21)",(i=1,2, )
6-5=1
1 -1 1 1
1 -1 -1 -1
(A-21) = O 0 0 O
O 0 0 O
o 0 0 ©
o 0 0 ©
R((A-21)) =4, N, d=6-4=2.
6- R((A-21))=2
2, A (A-21)'(i=1,2,
0022 0
00 22 0
(A-21)? = 0000 O
0000 O
0000 2
0000 -2
R((A-21)%) =2, N, h=6-2=4.
0 0 0O
0 0 0O
; 0 0 0O
(A-21)° =
0 0 0O
00 00 -
0 0 0O
R((A-21°) =1, N; ds=6-1=
6-5=n-m, ) ds - d2 =

u (A-21u=0 (A-21)°uzO0.

w= (A -21)*u= (2,2,0,0,0,0)",

)

N MDD O O O O

A b O O O O

n==6, 2

R((A-AD)Y=n- m=

R((A-21)°)=1=
3

u=(0,0,1,0,0,0)"

k= (A-2Nu= (1, -1,0,0,0,0)",w = u.

3
N> N1 y Lk

d> - ch =2,
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(A-21)°v=0 (A-21)vzO0. v=(0,0,1, -1,1,1)"
vi = (A-21)v= (00,2, -2,0,0",v, = v.
A 2 5 . 5
: A 0 . w= (0,0,0,0,1,
-1 A 0
2 1.0 0 0 O
2 -1 0 0 0 O
o 01 2 1 o0
P= (W, Ww,Us, Vi, V,W) =
0O 00 -2 -1 0
o 00 0 1 1
o 00 0 1 -1
2 10 00 O
021000
piap. 002000
000 210
0 00020
0 00 0O O
2 A Jordan :
1 1 2
A= 0 1 3
0 0 2
A - Al=(0 -2 -2) A1=A2=1,A5=2
0 -1 -2 1 -1 -2
AMml- A= 0 O -3 Asl- A= 0 1 -3
0 0 -2 0O 0 0
2, (A1- A)x=0
A .
P A Jordan . (A-A 1) i=1,2. A

n=3, A=1 m=2.
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01 2
A-Ail= 00 3 ,R(A-Ail)=22 n- m=1.
0 0 2
00 7
(A-A 1= 00 6 ,R(A-A:D)=1=n-m.
0 0 4
v (A-A:1D)°v=0 (A-A1)vz O. v=(0,1,0)"
v A 2 .
0 012 0 1
V.= v= 1 ,wvw=(A-AlD)v= 0 0 3 1= 0
0 00 1 O 0
Az=2 v:=(5,3,1)" .
1 0 5
P=(v,Vv.,vs5) = 0 1 3,
0 0 1
A  Jordan
11 0
P'AP= 0 1 0
0 0 2
A n A A m 1 2
m A : A
(A=A i . (A-
AN (i=1,2, ) RI(A-ADY=n-m. d N .
d=n- R((A-AD"). N, (A-A1)'x=0
iI=1,2, . a N, o Ni+1 . N; Ni+1
No Nz N Nk, 0=do<s ths &b < dk=m.di - di s
Ni Ni-1 .V 1
A A k , v N, Vv] N«.1,

(A-AD'Vi= (A-AD'(A-AD"'v=(A-ADv=0,
(A-AD"'vi= (A-AD""(A-AD"'v=(A-AD"'vz O.
Vi  Ni,vi] Ni.1.

A m A
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(1) Nk \ Nk-1 dv - k-1 k

Vi , VK=V, (5)

(2) Ik -1 Ni- 1

Nk-1 \ Nk-2 dc-1 - dk-2 - lk-1 k-1
: Nk - 1
. Uk - 1 k-1 , W-1=V,
(5)( (5) k k-1) k-1
k-1 : k-1

Ni(i=k-1,k-2, ,1)
, A m A m
, (2) : k (2)
P k , Jordan k  Jordan



B .1 33

3.3 n
A(a)= Z Z (i &k - axaei)( - 1)i+k( Mii)1k
i . alk a1 i i+ k+1
= Z Z (' 1) (Mli)lk,
=1 ®T=1 | Sk Az
(Mi1k); My « 1 j n-2
=1,2, ,n,k=1,2, ,n-1,j=1,2, ,n-1.

n A(a;j)
A(a;) = a1 M - az M+ + (- 1) "aaMin = Z (- 1) &My .
=
(1)
(1) n-l Mlil

1 1

(- 1)1+ kazk( Mii)ik + Z (- 1)1+ k32k+1( Mii)w, i = 1,2, ,n.
1 - |

(1) |
A(ag) = Zl il(- 1) “aider( Mii)ie + Zl Zl( 1) “ai@ee1( Mii) ik .
(2)
Uk, Oluk = 0. (Mu)j ., f< g ,(Mir)ig =

(Mig+1)1t .

Zl Zi (- 1)i+ kali32k+1( Mii)ik = Zl Zi (- 1)i+ kalian+1( Miies)n,

= Z Z ('1)i+k_1a1ia2k( Mik)ii -
=1 k==t+1
i, K : I, k

an Zi (- 1)i+ kalia2k+1( Mii)ik = aniiﬂ( - 1)i+khlalkazi(M1i)lk :
(o) (k. 1),
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(1, n) (2, n) (3, n) (n-1,n) (n,n)
(1,n-1) (2,n-1) (3,n-1) (n-2,n-2)

(1,3) (2,3)

(1,2)

ZliZ+1( - 1)i+k-lalk32i( Mii)ik = Zz Zl(_ 1)i+ k-1a1ka2i( M)k

= Zl Zl(_ 1)i+ k-1 alkazi( Mli)lk |

A(aij) :an il(' 1)i+ kaliazk( Mli)1k+ an ill(_ 1)i+ kaliaZk+1(|\/|1i)1k
= Zl Zl(' 1)i+ kaliazk( Mii)ik + Zl Zl(_ 1)i+ k-1a1ka2i( Mi)s

B arkazi( M1i)ik]

:21 Zl[(' l)i+ka1ia2k(M1i)1k+ (- 1)
:Zl Zl(aliaZk - arkaei) (- 1)i+k(M1i)1k

3%

i

& i+ k+1
(- 1) (Mz1i) O
k i
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6.8 Ao n A k : Ao
I K.
, >k, A Ao I X1, %,
R n Vi X, X2, 5 X, X+1, ,Xn.
P=(x,>, ,X,X+1, ,Xn),
P AP =A(X, X, ,X,X+1, , %) . Axi=AoXx (1=1,2,
1),
0
AXi=AoX = (X, X, ,Xn) Ao i (i=1,2, ..
0
A Va(j=1+1, ,n), AX X1, X2, , Xn ,
b1
b |
AX ;= bijxa + b+ 4 DyXn = (X1, X2, , Xn)
by,
A(X, Xe, X, X+1, ,Xn)
Ao by i+ by
W
Ao | bijsq b
S 066 ) D1 ies b v1n
O
by, i+a Ban
Ao
w B.
= (X, X, ,X,X+1, ,Xn) A
@ B-
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B]_, BZ ’
Aol B
AP=P
O B
P :
» Aol B:
P~ AP = ) (1)
0O B

Al - Aol - B
0 Ao - B
=l -A) WAL - Bl= (0 - 20)' (M),
fiAN)=Aln-1-B| A n- | . Ao Aln- Al=0
A 1>k, Ao A k

INIe - Al =1, - P API =

< k O



B 3 7 3( )

7.3( ) n f( X1, Xz, ,Xn):XTAX A
r, X = Qy,
f=y QAQy= byi+ + byys + + bpYp - bpe1Yper - - by,
P r-p
Q , A
Q' AQ = diag(b, , by, by, - b1, , - b,0, ,0)
: r, A p A
, f=x' AX X=Qy, X=
Sz,
f= biyi+  + byg+ BeaYert By - BaYe: - - byr, (1)
f= QZd+ + QZy- CriZiwr - - GZpl- Ge1Zpe1 - - GZ . (2)
b,a>0(i=1,2, ,r), p> (. X=Qy X= Sz, z=
S"'Qy, D=S'Q, z=Dy, D . D=(dij)nxn.
y z ; (1) >0, (2) f< O, , P=
q. z=2= =2z=0,¥+1= =¥=0,
2 = duw + + thpYo + i pr1Vper + + thoya = 0
q
Zg = Ooyr+  + Copyp + CgpraYper +  + Canyn =
Yp+1 =0 - 3)
n-np
Yo = 0
(3) n Yi, Y2, .Y ! n-p
tq=n-(p-q<n, y=(yr, ¥, ¥o+1, ,Y¥n). Yo+ 1
= =yn=0, y=(y, ,¥.,0,0, ,0), i, LY .
z=Dy D : z : Z=2= =12=0,
z=(0, ,0,z+1, ,Z,Z+1, ,zn)T, Zg+1,  Zn Y/
z (1) (2),
f=byi+ +hya+ +BY,>0, f=-cuiZu- -G6zZ<0,

»P=0q 0



B 4 75

7.5 n f=x" Ax A n
( ) v A =1(a)) e« «| >0(k=1,2, ,n).
) , I f:xTBx>0,
|B| >0. f=x Bx | , (1 )
x=Cy C'BC=1IL. |Bl=[(C) 'nc*|=|Cc')’>0.
f n , n x, f=x"Ax>0. n
X= (X1, X2, , X,0, ,O)T, k Xk =( X1, X, ,Xk)T,
1< k< n, f=x Ax= XLAka>O, Ac=(aj)ix k A=(aj)nxn Kk
. f k : ,
| Ac| >0(k=1,2, ,n).
n . n=1,f=a11xf, a1 >0, fn
k< n-1 : , n
fn = aij Xi Xj
=1
_ 1 2 n
fn = (&1 X1 + a2 X + + ainXn) + b Xi X , (1)
dii i“=2
Aridy
by = a; - Sichj
ail
aj = aji, by = bi(i,j=2, ,n).fa1= b Xi X n-1
=2
y fn 1 ,fn fn 1
i1 2 a1k Al A2 ik
1 Q2 Ak 0 b 2 «
|Ak| = = = a11|Bk.1|, (2)
aa  ae ik 0 b b«
- b «
IB..l = | ... L l(k=2,3, ,n).

be D



B4

75
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a11>0,|Ak| >0( k=2,3,

-1 fn-l

, n),

(2)

| Bc-1| >0(k=2,3,
,fn-l . ,fn



A
3.A: ,B ,C: ,D:
4. x0y (%, »,0),y0z :(0,w,%),x0z :(%,0,%); X :(X%,0,0),y
(0,¥%,0),z :(0,0, ) .

5.x = 3#,y . 4,z 5.
8.5a-11b+7c.
10 .13,7]j .
1 .{614,714,-61} {-61,-7 1,611} .
12 .(1)3 51+ |+ 7k (2) - 18,101 + 2] + 14k; (3)cos(a, b) = 321.
13.-37.
14 A =2
15 .4
16 .(1) ;(2) :(3) (4 (5
17 .(1) ;(2) ;(3) ;(4)
18.(Da,a&, ,an-1 :(2) a, &, ,a ; (3)
a,ax, ,a-1 (d)a, &, ,an
1 1 1 2 1 1 1 1
27.(1) ’ ’ y - ’ 1 10’- 1 1
3°'3° 3 6 6 6 2 2
(2)——(1,2,2, -1),——(2,3, -3,2),——(2, - 1, -1, - 2);
100 o2 0 7 100 0 T T ’
1 1 1 _
(3)—(1,1, - 1,2), (26,47, - 5, - 39), (-4,9,17,6);
7 4431 422

1 1 1
4 2,1,3, - 1), 3,2, -3,-1), 1,5,1,10) .
(4 ( )Tt )T o7 )

B

1 1 1
8.7 (ate),— (ea-26+2e-6), s (ate+aeg-6).
! ) ), )

1.x-3y-2z=0.
2.Xx+y-3z=4.
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3.(1) y+5=0;(2) x+3y=0;(3) 9y- z=2.
4.2x+9y-62z-121=0.

5.(1) yOz ;(2) x0z 1 (3)
(5) X ; (6) y (7)
6.(1,-1,3).
_3
X="_00S t,
2
7.(1) 3

y= 2oost, (0= t= 21)

z=3sint.
x=1+ 3cost,

(2) y= 3dnt, (0< t< 2n)
z=0.

5 BB S

w
X w
w

17x+31y-37z=117,
4x -y+z=1.
.(1,1,2) .
. X-3y+ z+2=0.

N

& b

X-y+2z-1=0,
Xx-3y-2z+1=0.
-5%23%23) .

2

~

(o8}
N

(1,-2,-1 , 6
.Y+ Z7Z=5x.

BN E B s

X :3y2-22=16;
X + Yy +(1- x)* =9,
z=0.
25.x2+yzs ax;x2+ 7< az,xz 0,z= 0.

N

X :4x2-9(y2+22):36; y :4(x2+22)-9y2:36.

y

,(4)

:3x2+222:16.
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A
35 . a b a b,
1.(1) 6 (2) 10 .(3) s ®  -€n 1@ (4) (5) - ah
) ) . Sn 1 os 10 ) . 21 .
49 anb an b,
O a O
(6) ajxix (7) 0 0 @&
1< 3 o O 0

2.(1) (2) .3
3.(1) A= 01 (2) A= 01 (3) A= 00 X = ! Y =
0 0 00 1 1
)\k C:lk)\k—l CZIAK—Z
12.A= 0 A cak?

k

0 0 A
13.(1)0.(2)1.(3)-2(X+Vy) (4)0.

14 . (1)[x+(n-1)a]l(x- a)" " .(2)ad .(3) rl(ad - bg) .(4)(-1)"(n-12"".

n

1
Blaa a 1+21;
16, =207 - 114 /8 o 39 0 _22
665 665 ' ° ~ 665 665’ *° ~ 665
17 A=1,u =0 .
a
.1 0 0o v g a
-snB cos6 -2 1 W
an’

5 -2 -2 3 .8 -6
27.(1)B= 4 -3 -2 ,(2)B= 2 -9 -6

-2 2 3 -2 12 99
. A | A

B A' o O I - Y
24 0 0O O 1 -2 0 5 3
(2) 1 -12 12 0O O -2 0 .5
24 12 -4 8 0 0 g P

3 -5 -26 0 -5 8 2 5 0 0

2 -23 -2 2 1 1 1 2 -1 0
2 .(1) X= o 8 (2) X = _% . % ‘X = % ; ’X_i 3 2
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X]_:l, Xl:51
D.(1) %=0, (2) x%x=0,
X =0 . X =3 .

1 1+2°  4+2°

31 .=
S 1.2t g.2
336 .3,4
B
-1 1 T
2. A =1-3 XY
al-h n=1
3. (a-a)(bh-h) n=2.
0 n= 3
3 -3 2 3
6.a=6 A=—- B=-L
S .2 2 S 2 3
1O.A'1:%(A- |),(A+2|)'1:%(3|- A) .
© 2t + 2t +3tcos t- £sint 12t
' g +2té ' +coft- st t Acos t
£ C 1 1
18 3 1-e 1 2-20052
1-cost sin t e-1 snl

1.(1) 1200; 500; 300.2)(1,-11,16) (3) (1,5, -1) .(4) (1,2,3) .(5) ( - 6 5,
75,2) .
2.(1) (3232,1,0)",(-3474,0,1)" (54, -14,0,0)" .
(2 (-1,-2,3,00" .
(3) (1,-2,1,0,0)",(1, - 2,0,1,0)",(5, - 6,0,0,1)" .
(4 (-1,-1,1,2,0)",(1,0,0,5,4)" .
3.(1) k(-1,-1,1)"+(-2,7,0)" .
(2) ke(-9,1,0,11)" + k(1, - 5,11,0)" +(0,0,2,0)" .
(3) k(1,1,0,1, -2)" +(1,0,0,0, - 2)" .
(4) ke (3,3,2,0)" + k(-3,7,0,4)" +(54, -14,0,0) .
4.(1)A=5,k(-1,3,5,0)'+ k(-6,-7,0,5)"+(4%,35,0,0)" .
(2)A=1,k(-1,1,0)"+ k(-1,0,1)" +(1,0,0)";

A+l 1 A+1)* T
ONF2AN+2 N +2
9. (a+a+a+a,a+ata,ata, a0 +k1,1,1,1,1)" .

Azl Az -2
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8X -3% +2x% =0,

+

- -2% +x =0,
13. a=1 bz -1 |, az 1 ;
X 1 1 1
X -2 -2
ng 0 + ki l+kz 0 ki, k R.
s 0 0 1
14 . (%, %, ,x) =k(1,1, ,1)",k R.
5. (%, X2, ,%n) =k (bu, bz, ,bzn)" +k(b, b, ,bb2n)
bh2n)’
16 . C(126°31' 12",45°36 54") .
B
1.(1)(0 3425,0 2312,0 146 1) .(2) (0 999 0,0 243 1,0 123 4) .
4. (4 00,3 00,3 00),
100 030 035
08 060 0235
040 030 0170
5.(y1,y,¥)=(2450,900,1750),(u, w,w)=(1700,1450,1 700) .
6.(1)y=-%+%x. (2) y:%+%x
7.y=2+5x-3%X .
A
1.A: ; B: ; C:
(1) A5(2)C;(3)C;(4)B;(5) A.
2 3 -8
4. (1) '4 L (2) 11 1
4 0 -5
5 2 2
) 5 7 7
5.(1) -10 -1;() -5 -2 %
Lo 21 18
7 7 7
-4 -3 3
6. (1) A:% > 3 L (2) A
2 1 -5

+ ko (b, b,
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B
5.(1) Im(T) :(1,5,7)",(0,1,1)7 ,dm(Im(T)) =2;
Ker( T) (-1411,19 11,1)" ,dm(Ker( T)) =1 .
(2)Im(T) :(1,2,0)" ,dim(Im( T)) =1;
Ker( T) (1 2,0,1)7,(0,1,0)7 . dim(Ker(T))=2.

6.ImM(T):14x-8y-5z=0;Ker(T): x=-t,y=-1t,z=1t.- 0 <t<o .
:(1,1,1,1)",(1,2,3,4)",(1,3,6,10)" ,dm(Im(T)) = 3;
(-1,3, -3,1) ,dm(Ker(T)) =1

7.1m(T)
Ker( T)

b k(-1,3,-3,1)"+(3,-8,6,0)"

A

1.(1)A=1,2,3;(0,1,0)",(-121,1)",(-1,1,1)" .

i T
(2) A =0, 2, - 2 "3

T

w |on

1
T(-1-22),1

(3)\=-2,1,1,-1:(-1,0,1,0)",(0,0,0,1)",(2,3,1,0)" ,(-2,1,1,0)" .

(A A=2,22:(-1%-131) .
5. (1)

1%1 3
(2 P= |, P'= -3

1 1 4 0

10 00 10

o110 _, 01
(3) P= ,P =

0 01 1 0 0

0 00 1 0 0
(4)

6. (1) ol00 4 201 4 g

2.1 2.2 1
11 -1 4
7.(1) P=— A =
21 1
o 1 o0
3) P= 12 0 1R ,A=
1R 0 1R

18 15k 1R
(4 P= 18 -25A 0
18 1A -12R

-1 10 237

(2) 0
0

(2 p=-t
5

1

10 245

1
2

2

- 2047
0
- 2048

N =

T

1 1 1
1, S(15+5 2), (2 2-1),1 , T(15-5 2),

2
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3 40 O 25
) ool 4 -3 0 0 A~ - 25
5 0 03 4° 25
0O 0 4 -3 25
12 12 1k - 36 -3
12 1R -1k 36¢ 1
(6) P= , A=
-1 0 2k 36 1
12 0 0 32
o ontl g
2 .Ab= 2-2"%4+3""!
2_2n+3_'_3n+2
1 0 ©
21.A= 0 0 -1
0 -1 0
2 . (1)\=-1,a=-3,b=0.(2) 3 A 3
, A
.IA'.Z

28. 5 +1,i=1.2, ,n.
24 . a=2,b=-3,c=2Ao=1.

0O 0 O O

n i 2 2 n-1 b G
5. /A1 - A=A +Z(bi+Ci))\ +Z b
= T G

A
1 -2 0
1.(1) f=4+6%-64,x=Cz,C= 0 1 1
0o 1 -1
1 -1 1
(2) f=yi+¥,x=Cy,C= 0 1 2
0 1
1 -1 1

(3) f=2Z-22+64,x=Cz,C= 0 1 2

2
n-2
A .
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1 1 0
(4) f=24Z-24,x=Cz,C= 1 -2 -2
0 0 1

2 2 2 2 2 2
5) =24 -2+23- 2+ + Z%n.1-2.,%X=Cz,C=

2. (1)f=y+3y% . x=cy c=L T 1
' ’ ' 21 -1
1 1 2
2) f= i +6),x=Cy,C=—"
(2) T=n+6¥% Cy E .o 1
1 2 2
(3)f:10;§+y§+y§,,x:Cy,C:% 2 -2 1
-2 1 2
1/14 1k -4/21
(4) f=2y-7¥s,x=Cy,C= .2 /14 2 kK 1 /21
3/14 1Ak 2/21
12 y2 X 1 '2 X’
3.(1) % ->—=1 ~ =%
4 g y 52 1
3
2 y? X 1 -1 ¥
(2 X-+—-—=1, ~ =1L
2 9 y 21 1 y
7 3
2
2y X 1 -2 X
@ % +-=, =L v O
6 3 y 52 1 y 0
2 y? X 1 3 X 9
I SN AP I I .
11 6 y 10 -3 1 y 7
6.(1),(2) (3) (4)
7.(1)- 2<t< 2,f (2) t>2,f
14 (l) C:3,)\1:O,)\2:4,)\3:9;(2)
16 . a=2,
0 1 0

1/2 0 172

172 0 172
17 . a=3,b=1,
1 /2 1/3 1176
0 -1/3 2 /6
-1/2 1/3 11/6

3.(1) 4xX%-3y*+ 32=0.
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(2) 90 X? +27y*+10Z =0.
(3) 6X*+3y*-1=0.
(4) 2X% - y?+1=0.
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